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�� �	� �� ��:��� 	� 	 9��������

BEu = 0, �� Γ.

&�� �����	�8 ����
�
�� 
� �	
� �� �� �C	��� 
� ��� �����
��
�� �� Ω� �� ��� �����
�� u�


� 
����
�	� �� ��� �����
�� �� 	� ��������� ���	
� ������ !
�� �����	�8 ����
�
���

	� 
�:�
�8* �C	�� �����	�8 ����
�
��� 	�� 
� �����	�� 	� !
�� �� ���� ����!� �������	�

���� 
� �9	�� 	�� �
��* &�� �������	�
�8 
� �
�� ����� 
�9�8 ����	�� �� ��� ���9����

���9��	� �
����8 �� ��� �����
�� �� ��� �����	�8* E���	�� ��'�
������� �	� �����

	�� ��
�� 
�� ��� �	N�� ��	!�	�� �� �C	�� (53�* B�!�%��� ����� �C
�� ��%�� �������

!�
�� ������ ����	�� ��'�
�������* �� 	��
�
��� ����� ������� �	� �� ���� ��������

!
�� �	�� 	����
����� �����
�� ��� 	����� �� ���9��	�
��� 9�� �
�����9 ������ ��

�9�	�� ��� �����	�8 ����
�
��* �� ��� �����!
�� !� !
�� 9������ �C	�� 	�� ���	�

�����	�8 ����
�
��� ��� ���� ������ 9�������*

���� ��������� #� ��	�� �8 ����
���
�� ��� ���������
�� �� �C	�� (53�

��� ��� �!� �
����
��	� !	%� �'�	�
�� 
� 3	����
	� �����
�	���* (����� ��	�

∂2u

∂t2
=
∂2u

∂x2
+
∂2u

∂y2
, @/*/A


� �� �� ���%�� �� ��� �	�� 9�	�� x ≥ 0*

�C	�� �����	�8 ����
�
��� ��� ��� !	%� �'�	�
�� !	� ����
����� 
� ��� ��	��
� 9	9��

�8 ���'�
�� 	�� �	N�	 K��L* &�� ���������
�� �� BE 
� K��L ���� ��� �	�� ��	� 	�8

������
�� �����
�� u(x, y, t) �� @/*/A �	� �� ��9�������� �8 	 ��9��9��
�
�� �� 9�	��

!	%�� ��	%��
�� �� ��� ����* E��� 9�	�� !	%�� 	�� �����
��� �8

u = aei(
√

ξ2−ω2x+ξt+ωy). @/*�A

B��� a 
� ��� 	�9�
���� 	�� (ξ, ω) 	�� ��� ��	�� �� (t, y)� �	�
��8
�� ξ2 − ω2 > 0 	��

ξ > 0*

���'�
�� 	�� �	N�	 �������� ��	�� ��� :C�� (ξ, ω)� ��� ����
�
��(
∂

∂x
− i

√
ξ2 − ω2

)
u|x=0 = 0,
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	��
�
�	��� 9�	�� !	%�� �����
��� �8 @/*�A* ��� ���� 9�	�� !	%�� ��
� !
�� �� 	� �C	��

(53* ��� 	 ���� �����	� !	%� 9	����� ��� �C	�� (53 
� ���	
��� �8 ��9��9��
�
��*

��� ��� !	%� �'�	�
�� @/*/A� ��� �C	�� (53 �������

F
(
∂u

∂x

)
− i

√
ξ2 − ω2Fu = 0, �� x = 0, @/*7A

!���� F ������� ��� ����
�� ��	������*

&�� �������	�
�8 �� ��� 	��%� �����	�8 ����
�
�� 
� ���	��8 �	�
������ ������� ���


�����	� ��	�������* ��%���
�� ��� ��	������� �
�����8 
� ��� 9���
���� �
��� ��� �����

�
��
√
ξ2 − ω2 ���� ��� �	%� 	� �C9�
�
� 
�%���� ��	������* B�!�%��� ���'�
�� 	��

�	N�	 9������ 	 ������ �� ���	�
�� ��
� �C	�� �����	�8 ����
�
��* &��8 ��������

��	� 
� ��� �����
�� √
1 − ω2

ξ2
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��	� �����
��� 
� 
� 9���
��� �� ���	�
�� ��� 	99��C
�

�	�
�� �8 �C9�
�
��8 
�%���
�� ��� ����
�� ��	�������* (� 	 ������ 	 �
��	���8 ��

���	� (53� �� 
����	�
�� ����� �� 	99��C
�	�
�� 	�� 9�������* &�� ���� �	���	�

	99��C
�	�
�� 
� 9���	9� �� ��� 	 &	8��� ���
�� �C9	��
��� ��!�%��� ��� ������
��

���	� �����	�8 ����
�
�� ��	�� �� 	� 
���9���� 9������ 	�� �	� ��������� ��� ��

����* ���'�
�� 	�� �	N�	 
�%���
�	�� ��� �����	�8 ����
�
��� ���	
��� 
� 	 )	�O

�C9	��
�� 
� ���� 	�� ���! ��	� ��� ������
�� �����	�8 ����
�
��� 	�� !����9����*

&�� �����	�8 ����
�
��� ���	
��� ���� ��� �!� :��� )	�O �C9	��
��� 	��

B1u ≡
(
∂

∂x
− 1

c

∂

∂t

)
u = 0,

B2u ≡
(

1

c

∂2

∂t∂x
− 1

c2
∂2

∂t2
+

1

2

∂2

∂y2

)
u = 0.

&�� )	�O �C9	��
�� 
� ��� ��� ���8 9���
��� 	99��C
�	�
��* G���� 9���
��� �C9	��

�
��� @3���8���%� ��	����'�	���� ���A �	%� ���� ����
�� �8 &�������� 	�� B	�9���

K**L� !���� �������� ������
�
�� ��� !����9�������� ��� ����� �89�� �� �C9	��
���

	�� 	��� 9��������*

&�� ��� �� ����!	8 �'�	�
��� 	� �����	�8 ����
�
�� !	� 	��� ����
�� �8 B
����

K��L* B� ����������� 	� 	�8�9���
�	��8 @m → ∞A �C	�� (53 �8 �	����
�	�
�� ��

����!	8 �'�	�
���* &�� (53 �� 9��9���� 
� �
%�� �8

Bmu =

(
m∏

j=1

(
(cosαj)

∂

∂x
− c

∂

∂t

))
u = 0. @/*-A
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%�� �� u* (� 	 ������ ���8 �����	�8 ����
�
��� !
�� ��	��

m !���� ���� 
� K��L*

5	8�
�� 	�� &����� K��L !��� !
�� ��'������ �� ���	� (53� ��� ��� !	%� �'�	�
�� 
�

�9���
�	� 	�� �8�
���
�	� �����
�	���* &��
� �����	�8 ����
�
�� 
� �
�
�	� 
� ������

���� �� @/*-A 	�� 
� �
%�� �8

Bmu =

(
m∏

j=1

(
∂

∂t
+

∂

∂r
+

2l − 1

R

))
u = 0. @/*6A
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� �C����
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��������� ��� ���8 ��� ������

����� ������	�
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� 
�9�������� 
� K��L*

(������ ������ ����� !�
�� �	� ���� ���� �� ���
%� �C	�� �����	�8 ����
�
��� ��

@/*/A 
� ��� �
�
����� ��  ���	�� @�� A �	9* &�� �� �	9 
� 	� �9��	��� ���	�
��

��� �
�
����� �	��� �� ���  ���	�� �	��� �� ��� �����	�8 Γ� ������
�� ���
���

	�8�9���
� ���	%
�� �� ��� �����
�� 	� 
�:�
�8*

��� �C	�9��� ����
��� �����
��� �� ��� B�������� �'�	�
�� 9���� �� ��� ���
��	�

���	
� Σ

s2û = ∇2û, x ∈ Σ, @/*,A

!
�� �����	�8 ����
�
��� 	� 
�:�
�8 
����
�	� �� ����� ���� ��� Ξ ≡ Σ ∪ Ω* E
���

�� �����	�8 ����
�
�� �	� ���� 
�9���� �� Γ� ����� 	�� 
�:�
���8 �	�8 �����
���

�	�
��8
�� ��� 	��%� �'�	�
��* B�!�%��� ��� �����
�� �� Ξ ���� �� ��� �� �����* &��

���
��� �����
�� û� ��
��
�
�� !
�� ��� �����
�� �� Σ� �	� �� �
����� ��� �8 	 �9��
:�

���
�� �� ��� �9��	��� D
∂û

∂n
= −D̂û, x ∈ Γ.

B��� ��� ����	� 
� �	��� ���!	�� ���� Ω* &�� �� �	9� D� �	� �� ���� �� ��:��
��� �C	�� �����	�8 ����
�
�� BE

BEu ≡ ∂u

∂n
+ L−1(D̂Lu), @/*
A

!���� L ������� ��� H	9�	�� ��	������*
 �!� @/*
A �	� �� ���� �� ���
%� ��� �C	�� �����	�8 ����
�
�� ��� @/*/A 	� 	 9�	�	�

�����	�8* (� ������ !� 	����� ��	� @/*/A 
� ���%�� ��� Ω ��
�� ��� �	�� 9�	�� x > 0*

B����� �� ���
%� ��� �� �	9 !� ����
��� �����
��� !�
�� 	�� ������� �� Σ* 58
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∂2 ˜̂u

∂x2
= (s2 + |k|2)˜̂u, x ∈ Σ.

��� 
s > 0� �����
��� ��	� 	�� ������� �� Σ �	� �� !�
���� 	�

ae
√

s2+|k|2 ,

	�� ��� �� �	9 
� ��������� ��:��� �8

˜̂D =

√
s2 + |k|2.

B��� ��� ��� ��	��� �� ��� �'�	�� ���� 
� ������ �� ��	�
˜̂D 
� 	�	�8�
�	� 	�� 9��
�
%�

��� 
s > 0* 58 
�����
��
˜̂D 
��� @/*
A !� ��� ��	� ��� �C	�� �����	�8 ����
�
��


� 
����
�	� �� ��� �����	�8 ����
�
�� @/*7A ��� t > 0* �� K .L� B	������ ���
%��

	 ������	�
�� �� @/*7A� !�
�� ���8 
�%��%�� ��� 
�%���� ����
�� ��	������ 
� ��� y

�
����
�� 	�� 	 ���%����
�� 
� �
��* 58 ��!�
�
��
˜̂D 	�

˜̂D = s+ (

√
s2 + |k|2 − s),

��� 
�%���� H	9�	�� ��	������ �� ��� �����
�� K̂(s) =
√
s2 + |k|2 − s

K(t) ≡ J1(t)

t
=

1

π

∫ 1

−1

√
1 − ρ2 cos(ρt) dρ,

�	� �� ���� �� ���
%�

∂u

∂n
+
∂u

∂t
+ F−1(|k|2K(|k|t) ∗ Fu) = 0. @/*.A
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��� �� �9�	�� ��� �����	�8
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 ��� ��	� ����� 
� �� �C9�
�
� ���� ��� 	 �!� �
����
��	� ����
�� 
� ��� 	��%� �C	��

9���* &�� 	�	�8�
� 
� 
����
�	� 
� Γ 
� ������ 	� ��� �89�� 9�	�� x = 0* &�� ����
��

��	������ 
� ���� �� �� 
����9����� 	� ��� ����
�
����
��	� ����
�� ��	������*

����� ����� �������
� �������� B��� !� ����
��� ��� ���������
��

�� �����	�8 ����
�
��� ��� �������8 �89�����
� �8�����* H�� �� :��� �
%� 	 �����

�%��%
�! �� ��� �
����
��	� �89�����
� �8����� �� ��� ����

ut + A(x, t)ux + C(x, t)u = f(x, t), @/*0A
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� ��� ���
9 0 ≤ x ≤ 1, t ≥ 0, !
�� 
�
�
	� �����
��

u(x, 0) = u0(x), 0 ≤ x ≤ 1, @/*/�A

	�� ���� �����	�8 ����
�
���� �� �� :C�� �	���� 	� x = 0, x = 1.

A(x, t), C(x, t) ∈ IRn×n 	�� f(x, t), u0(x) ∈ IRn 	�� 	������ �� �� C∞�������

�����
��� !
�� ���9��� �� 	�� %	�
	����* &�
� �8���� 
� �	���� �89�����
� 
� A(x, t) �	�

��	� �
���%	���� 	� �%��8 :C�� 9�
�� x0 ∈ [0, 1] 	�� t0 ≥ 0. �� 9	��
���	�� !� �	%�

��� �����!
�� ��	��
:�	�
��*

2�������� ���� K $L ��� 
�
��� �� ��
	���� ����� �
 �	���� 
�������� ����������

�� A �
 	 �������	� �	���� 	� � ��� !��� ����� x = x0, t = t0. "� �
 �	���� 
�������

���������� �� ��� ��#�� 	�
�
 	�� ��	� 	�� ��
�����$ �� �
 �	���� 
����#�� ���������� �� ���

��#�� 	�
�
 	�� ��	� 	�� ����� ���
�
 	 �������� 
�
��� �� ��#�� �����
$ 	��$ !�	���$

�� �
 �	���� ��	��� ���������� �� ��� ��#�� 	�
�
 	�� ��	��

E��
���8 	�� �8�����
� �89�����
� �8����� 	�� �����	���� �� �������8 �89�����
�

�8�����* &�� 
�
�
	� %	��� 9������ @/*0A�@/*/�A 
� !����9���� ��� �������8 �89�����
�

�8����� 	�� 
� ��� !����9���� ��� !�	��8 �89�����
� �8�����* #� 	����� ��	� ���

�8���� @/*0A 
� �������8 �89�����
�*

3����4 ���� %����# ������������� �� ��� 
�
��� 	


��
 ��� ���
����� �� 	 
�����

��	�
����	���� H = H(x, t), ��� ���
 �� H 	�� ��� ���� ��#�� �����
 �� A, 

�� ��	�

HAH−1 = Λ = diag(λ1, ..., λn),

����� λj = λj(x, t), j = 1, ..., n, 	�� ��� ��#�� 	�
�
 �� A. "� �� ������
�� ���

 	��	���
$ �	���� ��	�	�����
���  	��	���
$ v = H(x, t)u(x, t), ���� ��� 
�
��� ����� �


��	�
������ �� ��� ��	�	�����
��� ����&

vt + Λ(x, t)vx + C̆(x, t)v = f̆(x, t), @/*//A

����� C̆ = HCH−1 +HH−1
t +HAH−1

x 	�� f̆ = Hf � �� 
������� ��� ���	����$ ��


�	�� 	


�� ��	� ��� #� �� 
�
��� �
 ������� 	���	�� �� ��� ��	�	�����
���  	��	���
$

��

 A = Λ �� ������

"

������� �� � ��� ��#�� 	�
�
 �� A 	� ��� ��
��	��&

λj(0, t) and λj(1, t), j = 1, ..., n, @/*/�A
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	�� 	


��� �� �� ��'����� ���� (���� �����$ ��� ��
��	�� �
 �	���� ��� ��	�	����)

�
���� *�
� ���� 	�� 	


��� �� �	 � 	 ���
�	�� 
�#� 	
 	 �
������ �� ����+ ����$ �	��

�
������ �� ����,� �
 ������ < 0 ��� 	�� t, �� > 0 ��� 	�� t. ���� ��$ �� ��� ��������

0 < x < 1 ��� ��#�� 	�
�
 �	� ��	�#� 
�#��

!������� ���� u+, u− 	�� 

�� �� 	

����� ���  	��	���
 uj ���� λj > 0, λj < 0,

��
����� ���$ 	� �	�� ��
��	�� �����
�

3���
���
�� ��� �8���� @/*0A 
� ��� ��	�	����
��
� ����� !� ���� �����	�8 ����
�
���

�� ������
�� u+(0) 	�� u−(1). (���9�	��� �����	�8 ����
�
��� 	�� �� 9�����
�� ���


���
�� %	�
	���� 	� �	�� �����	�8

u+(0, t) = g0(t), @1.13aA

u−(1, t) = g1(t), @1.13bA

!�
�� �	� �� �����	�
��� ���� ��	� ��� 
���
�� %	�
	���� 	�� �����
��� 
� ����� ��

��� �����
�� ����

u+(0, t) = S0(t)u
−(0, t) + g0(t), @1.14aA

u−(1, t) = S1(t)u
+(1, t) + g1(t), @1.14bA

!���� S0(t), S1(t) 	�� �	��
��� �� ��
�	��� �
����
���*

&�� 
�
�
	� �	�	 ������ �� ���9	�
��� 	� t = 0. G����!
��� ��� �����
�� !���� �	%�

�
�����
��
�
�� 	���� ��� ��	�	����
��
�� !�
�� ��	�� 	� ��� ������� (x, t) = (0, 0) 	��

(x, t) = (1, 0). &���� �� 	%�
� �
I����
�� ��������� !
�� �������������� !� ��	��

	����� ��	�1

"

������� ��+� ��� �����	� �	�	  	��
��
 ��	� ��� ������
�

��� �C	�9��� �� !� ����
��� ��� 
�
�
	� �����	�8 9������ @/*0A�@/*/�A !
�� ���

�����	�8 ����
�
��� @/*/-A� ����� 	�����
�� �� ��� 	��%� 	����9�
��� ��� �����
���

g0, g1, u0, f 	�� 	������ �� %	�
�� ��	� ��� �������*

5
����� ��$� -K$�L$ ���� .�/�01 *


�� ��	� ��� ��
��	�� �
 ��� ��	�	�����
���$

	�� ��	� ��� �	�	 u0, f, g0, g1 	�� ����	����� t = 0. ��� 
�
��� �����$ �� ��	�	�����
���

����$ ��� 0 ≤ x ≤ 1, 0 ≤ t ≤ T ���� �����	� 	�� ��
��	�� ���������
 ����2�$����0�

�	
 	 
���
� 
��
����� ��� 
��
���� �
 	 C∞)�
������$ 	�� ��� � ��� !���� ����

����� 	� 0 ≤ t ≤ T ����� �
 	 ���
�	�� CT ����������� �� u0, f, g0, g1 

�� ��	�

‖u(., t)‖2
2 +

∫ t

0

(|u(0, τ)|2 + |u(1, τ)|2) dτ
≤ CT

[
‖u0‖2

2 +

∫ t

0

(|g0(τ)|2 + |g1(τ)|2 + ‖f(., τ)‖2
2

)
dτ

]
@/*/6A
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 �� 
��
�������� /,

��� 0 ≤ t ≤ T.

&�� C∞����������� 	����9�
��� ��� ��� �	�	 	�� �	�� ��� �
�9�
�
�8* B�!�%���

���� ���
�	��� 	�� ���
%�� ��� ��
� �	��� ���� �����	� ����� ������� �	�	 �	� ��

���	��� 	� ���� 	� ��� ����� ��� ��� �	�	 	�� ��:���� 	�� ��� ���	
�� 	 �����	�
���

�����
�� K$�L*

 �!� !� ����
��� ��� ���������
�� �� �C	�� (53� ��� 	 :��� ������ ����
�
����
��	��

�����	�� ���I�
���� �������8 �89�����
� �8����* &�� �����	�8 ����
�
��� 	�� 
��

9���� 	� 	 9�	�	� �����	�8� x = 0* �� ��� ���	
� Ω� @x > 0A ��� �8���� �	� ��

!�
���� 	�
∂u

∂t
+ A

∂u

∂x
+
∑

j

Bj
∂u

∂yj
= 0, @/*/,A

!���� u ∈ IRn, A,Bj ∈ IRn×n* �� !� ������� 	����� ��	� A 
� 
�%���
��� @�� ��	��

	����
��
� �����	�8A !� �	� ��9��8 ��� ���	� ����
�� 	�� H	9�	�� ��	������ ��

���	
�
∂ ˜̂u

∂x
= M ˜̂u, M = −A−1

(
sI +

∑
j

ikjBj

)
. @/*/
A

E
��� !� ����
��� 	 �������8 �89�����
� 9������� !� �	� �����9��� ��� �����
��


��� ���� 	�� �
������
�� ����� �� !	%��* &�� �
������
�� !	%�� ������9���
�� ��

9��
�
%� �
���%	���� �� M 	�� ��� �������
�� �� ���	�
%� �
���%	����*

&� �����9�� ��� �8���� 
��� �!� ���� �� ��	�	� �'�	�
��� !� ��� ��� �
	���	�
�	�
��

QMQ−1 =

(
λ+ 0

0 λ−

)
= Λ.

B��� Q 
� ���9���� �� ��� ��� �
���%������ �� M 	��	���� 
� �!� �	��
��� Q+, Q−

���� ��	� (
Q+

Q−

)
.

&�� ������
�� ��	�	� 9������� 	��

∂ ˜̂v−

∂x
= λ− ˜̂u−,

∂ ˜̂v+

∂x
= λ+ ˜̂u+ @/*/.A

!���� ˜̂v = Q˜̂u* (� �C	�� (53� !�
�� �	�� ���� ��	� �� !	%�� ����� Ω 	� x = 0 
�

˜̂v+ ≡ B+ ˜̂u = 0. @/*/0A

�� 
� 
�9���	�� �� ��	�
�� ��	� B+ �	� �� ������ 
� �	�8 !	8�* �� 9�
��
9��� ��� ���8

�����
��
�� �� B+ 
� ��	� 
� ������ �� ��������	� �� ��� �	��
C Q−* ( �	���	� ���
��
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� ��������� B+ = Q+* B�!�%��� ����� 	�� �	��� !��� ��
� ���
�� 
� ��� ��
�	���*

G�� ���� �	�� 
� ��� �
��	�
��� ����� �'�	�
���� ��� !�
�� �
��� K��L �
���%���� ��	�

B+ = Q+ ��	�� �� 	� 
���9���� 9������* �� K��L� �
��� 	��� ��������� 	� 	�����	�
%�

���
�� �� B+� ��	� ��	�� �� 	 !����9���� 9������* G���� ���
���� ��	�
�� �� 	 !����

9���� 9������ �	� ���� ��������� �8 B	������ 	�� �����
�� K �L 	�� J�!��8 	��

3����
�� K*�L*

��� �������
� ������� 
�����

(������ 	99��	�� �� ����
�	�� ��� ���9��	�
��	� ���	
� 
� �� �������� ��� ��	��

����� �8 	 :�
�� !
���� 	�����
�� �	8��* �� 	�8 	�����
�� �	8��� ��� ��%���
�� �'�	�

�
��� 	�� ���
:�� �� ��	� ��� �����
��� 
� ��� �	8�� ���	8* ��� ���� 	� 	99��	��

�� �� �<���
%�� 	�� !	%�� ��	%��
�� 
��� ��� �	8��� 
���9������ �� ���'����8 �� 	����

�� 
��
������ ������ �� 	������� !
����� ��;���
���* (�����
�� �	8��� !
�� �����


��	� 9��9���
�� 	�� �������� �� 	� )�������8 �	����� H	8��� @)�H�A* )�H� !���

:��� 
��������� 
� ��� �����C� �� ���9��	�
��	� ��������	����
�� �8 5O������ K� L�

	�� 
� ���	8 ���� !
���8 �8 ���
����� 
� ��	� 	��	*

���� !�� ��"#�

$� ���������� &�� �	N�� ���	��������� ��	� �	��

	�����
�� �	8��� ���9��
�
%�� ���9	��� �� ����	� 	�� ���	� (53�� !	� ��� 
��������

�
�� �� ��� )�������8 �	����� H	8�� �8 5O������ K� L* 5O������ ����
����� �	C!���M�

�'�	�
��� 
� �!� �9	�� �
����
���

ε0
∂Ex

∂t
+ σEx =

∂Hz

∂y
, @/*��A

ε0
∂Ey

∂t
+ σEy = −∂Hz

∂x
, @/*�/A

μ0
∂Hz

∂t
+ σ∗Hz =

∂Ex

∂y
− ∂Ey

∂x
. @/*��A

B��� Ex 	�� Ey 	�� ��� ������
� :����� Hz ��� �	����
� :���� ε0 	�� μ0 	�� ��� ����

�9	�� 9���
��
%
�8 	�� 9����	�
�
�8 	�� σ 	�� σ∗ ��� ������
� 	�� �	����
� ����

����
%
�8* 5O������ ��	�
��� ��	� �8 ��� �
�9�� �9�
��
�� Hz = Hzx +Hzy 	��
�
��	�

������� �� �������� ��	� 
� ���� ����� �� ���� �� ��	�	���� ��� 9������ �	���
���

����� �� 
���������* #
�� ��
� �9�
��
�� �� 
��������� ��� 9�������8 �	����� �	8��
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	� 	 ���
�� ��%����� �8 ��� �'�	�
���

ε0
∂Ex

∂t
+ σxEx =

∂(Hzx +Hzy)

∂y
, @/*�7A

ε0
∂Ey

∂t
+ σyEy = −∂(Hzx +Hzy)

∂x
, @/*�-A

μ0
∂Hzx

∂t
+ σ∗

xHzx = −∂Ey

∂x
, @/*�6A

μ0
∂Hzy

∂t
+ σ∗

yHzy =
∂Ex

∂y
. @/*�,A

��� ����� �'�	�
���� 5O������ ���!�� ��	� 
� σi 	�� σ
∗
i �	�
��8 σ

∗
i ε0 P σiμ0� ����

����� !
�� �� �� ��;���
��� 	� ��� ���
���)�H 
�����	��* (���� !	%�� ��	%��
��

	����� ��� 
�����	�� 
��� ��� )�H ������ ���	8 �C9�����
	��8 
��
�� ��� )�H 	� 	

�	�� ��9���
�� �� ��� �	��
���� �� ��� �������
%
�8 9	�	������ σi 	�� σ
∗
i *

E��� 	���� ��� 
��������
�� �� 5O������� )�H� (�	��	��� 	�� �����
�� K�L ���!��

��	� ��� �'�	�
��� @/*�7A�@/*�,A !��� ���8 !�	��8 !����9����* &���� !��� ��������

��	� 5O������� !�	��8 !����9���� )�H ����� ������ 
���9����� 	�� ��	� 
�� �����
�

�	� �����
�� !���� ���! 	� 	� 	��
��	�8 �	��* B�!�%��� ����� !��� �� ��9���� �� ����

���!�� 
� ���9��	�
���*

&�� ������� ���� K�L ��	� �� ��� ��%���9���� �� ��%��	� �������8 �89�����
� @������

!����9����A )�H�* G�� �� ����� 
� ��� )�H �8 (�	��	��� 	�� �����
�� ���������


� K�L* &��8 	������ ��	� ��� ���	%
�� �� ��� 	�����
�� �	8�� ����� �� �����
��� �8

����8 �	C!���M� �'�	�
���

∂Ex

∂t
=

∂Hz

∂y
+R1, @/*�
A

∂Ey

∂t
= −∂Hz

∂x
+R2, @/*�.A

∂Hz

∂t
=

∂Ex

∂y
− ∂Ey

∂x
+R3. @/*�0A

E����
��� �� @/*�
A�@/*�0A �	� �� !�
���� 	�⎛
⎜⎝ Hz

Ex

Ey

⎞
⎟⎠ =

⎛
⎜⎝ 1

Ω1(x;α, β, ω)

Ω2(x;α, β, ω)

⎞
⎟⎠ eiω(t−αx−βy)e−α

� x
0 σ(η)dη .

��� ���� �����
��� �� �� 9�������8 �	����� 	�� ���	8
��� 
� 
� ��'�
��� ��	� ���

�����!� �����
��� R1, R2, R3,Ω1,Ω2 �	�
��8 ��� ������	
���1

• Ri� (i = 1, 2, 3) ������ �� 
���9������ �� ��� 9	�	������ α� β� ω�



���	��
 �� 
��
�������� /0

• ��� �����
�� ������ �� ����
����� 	����� ��� 
�����	���

• ��� 	�9�
���� �� ��� �����
�� %����� 
� ��� �	8�� ������ �� �������
�	��8
�����	�
��*

&	�
�� ����� ������	
��� 
��� 	������ 	�� ��
�� ��� �
�9���
�� ���	�
��

α2 + β2 = 1, @/*7�A

(�	��	��� 	�� �����
�� ���
%� ��� �����!
�� )�H

∂Ex

∂t
=

∂Hz

∂y
, @/*7/A

∂Ey

∂t
= −∂Hz

∂x
− 2σEy − σP, @/*7�A

∂Hz

∂t
=

∂Ex

∂y
− ∂Ey

∂x
+ σ′Q, @/*77A

∂P

∂t
= σEy, @/*7-A

∂Q

∂t
= −σQ− Ey. @/*76A

��� ����� �'�	�
��� ��� '����
�� �� !����9�������� 
� ��
%
	� �
��� ��� �8���� @/*7/A�

@/*76A 
� ���8 	 ���� ����� 9������	�
�� �� @/*��A�@/*��A !�
�� 
� !����9����* (����

��� 	�C
�
	�8 %	�
	���� P 	�� Q ���8 	99�	� 	� ���
�	�8 �
<�����
	� �'�	�
��� 	��

!
�� ��� 	���� ��� !����9��������*

���� !�� 
������%�� &�
�� ���������� (�����
� 9�������	 	�� ��%�

����� �8 ��� �
��	�
��� ����� �'�	�
���* ��� 	 9������ !
�� ���
'�� ;�! 
� �!�

�
����
��� ����� �	�� ��� ����

rt + Crx +Dry + Er = 0, @/*7,A

!����

q =

⎛
⎜⎜⎜⎝

ρ

u

v

p

⎞
⎟⎟⎟⎠ , A =

⎛
⎜⎜⎜⎝

Mx 1 0 0

0 Mx 0 1

0 0 Mx 0

0 1 0 Mx

⎞
⎟⎟⎟⎠ , B =

⎛
⎜⎜⎜⎝

My 0 1 0

0 My 0 0

0 0 My 1

0 0 1 My

⎞
⎟⎟⎟⎠ .

B��� (ρ, u, v, p) 	�� �����
����
��	�
��� 9������	�
��� �� ��� ����
�8� ��� %����
�8 
�

x 	�� y �
����
�� 	�� ��� 9������� ���9���
%��8* Mx 	�� My 	�� ��� �	�� ������
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� ��� x 	�� y �
����
���* &�� �'�	�
��� @/*7,A ��99��� ����� �89�� �� !	%��Q ������

�����98� 	�� %���
�
�8 !	%��* �����98 	�� %���
�
�8 !	%�� 	�� ���%����� ��!�����	�

!
�� ��� ��	� ;�! !�
�� ��� �!� �����!	%�� ��	%�� �9 �� ��!�����	�*

&�� 9�������8 �	����� �	8�� ������ �	� 	��� ���� 	99�
�� �� ��� �
��	�
��� �����

�'�	�
���* &�� :��� �9�
��:��� )�H ��� ��� �
��	�
��� ����� �'�	�
��� !	� ���������

�8 B� K+�L* B� ��9����� ��	� 	 ��! 9	�� :���� �	� �� �� ���� 
��
�� ��� 	�����
��

�	8�� �� ��99���� �C9�����
	� 
���	�
�
�
��� 	��� �����
�� 	�� B	������ ��9�����

�
�
�	� �����%	�
��� 
� K �L* &	� �� 	�� K*+L ���������� ���� 	 9������	�
�� 	�	�8�
�
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ξ = x, η =
√

1 −M2y = γy, τ = Mx + γ2t. @/*7
A
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�� �	8�� �� !
��� L 	� ��� 9�	�� x = 0
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!
�� ��� ��%���
�� �'�	�
��� @��� x < 0A

∂u

∂t
+ A(y)

∂u

∂x
+
∑

j

Bj(y)
∂u

∂yj
+ C(y)u = 0, −L < x < 0. @/*7.A
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û = eλxφ,

(
sI + λA+

∑
j

Bj(y)
∂

∂yj

+ C(y)

)
φ = 0, @/*70A
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�� ��� )�H ������ �� ���
:�� �� ��	� 
λ

� ������� 	!	8 ���� ���� ��� 
s ≥ 0. &�
� ����
�
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� �'�
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��	������ @/*7
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x = 0, ����� ��� 	�����
�� �	8�� !
�� �� 9�������8 �	�����*
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�� 	 ���	� �����
�� 
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�� ��� )�H

eλx+(λR̂−1−M̂−1N̂)
� x
0

σ(z)dzφ, @/*-�A

	�� �����
���
�� @/*-�A 
��� @/*70A �
%�� ��� ������
�� )�H �'�	�
��� 	�(
sI + λA(I − σ(R̂ + σ)−1)

(
∂

∂x
+ σM̂−1N̂

)
+
∑

j

Bj(y)
∂

∂yj
+ C(y)

)
û = 0.
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	� �9��	��� 
� �
�� 	�� 
� ��� ��	��%���� %	�
	����

R =
∂

∂t
+
∑

j

βj(y)
∂

∂yj

+ α. @/*-/A
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�
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• AT = ��	��9��� �� ��� �	��
C A.

• ��� u, v ∈ IRn, 〈u, v〉 =
∑n

i=1
uivi,

��� u, v ∈ Cn, 〈u, v〉 =
∑n

i=1
ūivi, |u|2 = 〈u, u〉

• �� A 
� ��	� �8�����
� n× n �	��
C� !� !�
��

A ≥ δI


� 〈x,Ax〉 ≥ δ |x|2 ��� 	�� x ∈ IRn

• &�� �9	�� L2((0, 1); IRn), !
�� ��� ���� ������� �8 ‖.‖2 , ����
��� �� �����

�����
��� u : (0, 1) → IRn, u = (u1, ..., um), !
�� ui ∈ L2(0, 1), (i = 1, ..., n).
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&�� ���� �� ��� ��	9��� 
� ���	�
��� 	� �����!�1 �� E���
�� 2, !� ����8 ��
�;8 ���

9�������� �� ���������
�� �53� ��� �
��	� �89�����
� �8������ 	�� 9��9��� 	 �����	�

���� �� ��	�
�� ��� 
������� �	�����* �� E���
�� 3, !����9�������� 	�� �����	�
�8 �� ���

������
�� 
�
�
	� �����	�8 %	��� 9������ 	�� ����
��* �����	� ������ �� ���%�������


� �
�� �� ��� ���	�8 ��	�� 	�� ���	��
���� 
� E���
�� 4.
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#� ����
��� 
� ��
� ����
�� ��� ���
%	�
�� �� �
��	���8 �� �53�� 	� x = 0 	�� x = 1,

��� 	 ���
���8 �89�����
� �8���� �� ��� ����

ut + Λux + Cu = f(x), x ∈ IR, t > 0, @�*/A

!
�� ��� 
�
�
	� �����
��

u(x, 0) = u0(x), x ∈ IR. @�*�A

B��� C 	�� Λ 	�� n × n �����	�� �	��
���� u 
� 	 %����� !
�� n ���9������* f(x)

	�� u0(x) 	�� 	������ �� �� C
∞������� �����
��� 	�� �	%� ��99���� 
� (0, 1). &��

�
���%	���� �� Λ 	�� �
��
��� 	�� �
<����� ���� ����� ��	� 
�

Λ =

(
Λ+ 0

0 Λ−

)
, @�*7A

!
�� Λ+ = �
	�(λ1, ..., λm), λj > 0, Λ− =�
	�(λm+1, ..., λn), λj < 0.

#� 	����� ��	�

C1 =
CT + C

2
≥ δI, δ > 0, @�*-A

!�
�� 
� 	 ������	�8 ����
�
�� �� ������ ��� ���%������� �� ��� !���� �9	�� 9������

�� ��� ���	�8 ��	�� 	� t → ∞. #� !
�� ������� 	����� ��	� Λ−1C �	� �
��
���

�
���%	����*

!������� ���� *�� n× n)�	���� X �
 �	��������� 	


X =

(
X++ X+−

X−+ X−−

)
,

����� X++, X+−, X−+ 	�� m×m,m× (n−m), (n−m)×m)�	�����
$ ��
����� ����

*�
� X+ :=

(
I 0

0 0

)
X 	�� X− :=

(
0 0

0 I

)
X.

E����
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	�� !�
�� 	�� 
����
�� 	� ��� �����	�8*

�� !� �	�� 	 H	9�	�� ��	������ 
� t, !
�� ��� ��	� %	�
	��� s

ũ(x, s) =

∫ ∞

0

e−stu(x, t)dt, s ∈ C, 
s > 0,
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��� �8���� �������

ũx + Λ−1(sI + C)ũ = Λ−1f̃ .

��:�� E(s) := Λ−1 + 1
s
Λ−1C, !� �	8 !�
��

ũx + sE(s)ũ = Λ−1f̃ . @�*6A

#� !
�� �� ��9	�	�� ũ 
��� >�
�����
��? 	�� >������
��? �����* �	�� �� ����� �����

������9���� �� 	� �
���%	��� �� E(s).

2�������� ���� K��L ��� ������	 �� 	 �	���� M �
 ��� ������� ������

i(M) = (i+(M), i−(M), i0(M)), ����� i+(M), i−(M), 	�� i0(M) 	�� ��� �
����
 ��

��#�� 	�
�
 �� M ���� ��
����� ��� ��
��� �$ ��#	�� �$ 	�� (��� ��	� �	��$ 	�� ��
����#

�
�����������

)���� �� � K��L 3�� G,H �� n×n)�	�����
 ���� H �������	� 	�� ��#
�	�$ 

���
�

HG+G∗H �
 	 ��
��� � 
���)��!���� 	�� i0(G) = 0. ���� i(G) = i(H).

)���� ���� 4�� 
s > 0, E(s) �	
 ��	���� m ��#�� 	�
�
 ���� ��
��� � ��	� �	��

	�� (n−m) ���� ��#	�� � ��	� �	��+ ����$ i(Λ) = i(E).

5����� (99�8 H���	 �*7 !
�� H := Λ 	�� G := Λ−1(sI + C) :

Λ(Λ−1(sI + C)) + (Λ−1(sI + C))∗Λ = 2
sI + 2C1 > δI > 0.

(��� i0(Λ
−1(sI + C)) = 0; �����!
�� Λ−1(sI + C) !
�� �	%� 	 9����8 
�	�
�	�8

�
���%	���� �	8 iω, ω ∈ IR. H�� φ ������ 
�� �
���%�����* &���

iωφ = Λ−1(sI + C)φ⇔ (iωΛ − C)φ = sφ,

!�
�� 
� 
�9���
��� �
���

0 < 2
s |φ|2 = 〈sφ, φ〉 + 〈φ, sφ〉 = 〈(iωΛ − C)φ, φ〉 + 〈φ, (iωΛ − C)φ〉
= − 〈

φ, (C + CT )φ
〉 ≤ −2δ |φ|2 < 0.

���� H���	 �*- 	�� K $L� ����� 
� η0 > 0 	�� 	 ����
����	� ��	������	�
�� T (s)

���� ��	� ��� 
s > η0,

XEX−1 = D =

(
D+ 0

0 D−

)
, @�*,A



���	��
 �� ��
 ���� ������
� ���������� ��
 �����
 ��	�
����� ������� �.

!���� D(s) 
� ��� �	��
C �� �
���%	���� �� E(s), 	��	���� �� ��	� D+(s) 
� 	�

m×m 9��
�
%� ��:�
�� �	��
C� ������9���
�� �� �
�����
�� �����
���� 	�� D−(s) 
�

	� (n−m)× (n−m) ���	�
%� ��:�
�� �	��
C� ������9���
�� �� ������
�� �����
���*

B���� !� ���9 ��� �C9�
�
� s���9�������Q ���������� 	�� ��� �	��
��� 	�� �����
���

�� s ������ �����!
�� �����*

#
�� ��� ��	�	����
��
� %	�
	���� ṽ := Xũ ��� �8���� @�*6A �	� �� !�
���� 	�

ṽx + sDṽ = XΛ−1f̃ ,

	�� ���� 9	��
�
���� 
���

d

dx

(
ṽ+

ṽ−

)
− s

(
D+ 0

0 D−

)(
ṽ+

ṽ−

)
= XΛ−1f̃ ,

!���� ṽ+ 	�� ṽ− ��9������ 9����8 >�
�����
��? 	�� >������
��? ����� ���9���
%��8*

 �!� !� �����
�� ��� ���	
� �� x 
� @�*/A �� (0, 1). &�� �C	�� �����;���
�� �����	�8

����
�
��� �����! 
����
	���8* E
��� ����� 	�� �� 
����
�� ����� 	� 	 �����;���
��

�����	�8� 	� ��� ���� �����	�8 x = 0 ����� ������ �� �� �
�����
�� ������ �� 	�

�C	�� 9�������8 (53 
�

ṽ+ = [Xũ]+ = 0, x = 0. @2.7aA

(� �
��� �����	�8� ����� ������ �� �� ������
�� ������ �� 	� �C	�� 9�������8 (53


�

ṽ− = [Xũ]− = 0, x = 1. @2.7bA

&!� �
I����
�� 	�
�� 
� 
�9������
�� ��� 	��%� �����	�8 ����
�
���* �
���� �
��� ���

�����	�8 ����
�
�� 
� �C9������ 
� H	9�	�� ��	������ (x, s)��9	��� 	�� ��� �	��
C

X(s) ����	
�� �����	�
��	� �����
��� �� s @�*�*� �'�	�� �����A� !��� !� ��	������

�	�� �� 9�8�
�	� (x, t)��9	��� ��� �����	�8 ����
�
��� !
�� �� ������	� 
� �
��*

���� 	 ���9��	�
��	� 9���9���
%�� !� !���� 9����� 	 ���	� �����	�8 ����
�
���

!�
�� �	8 �� ���	
��� �8 	99��C
�	�
�� �����	�
��	� �������� �� X �8 �	�
��	�

�����
��� �� s.

&�� ������ �
I����8 	�
��� !��� 	99��C
�	�
��� 	�� 
���������1 ���� ��� ������
��

�5R) �	8 �� 
���9����* &�� �����8 �� !����9�������� !
�� �� �
������� 
� ��� ��C�

����
��*

��� s→ ∞, !� �	%� E(s) → Λ−1 	�� ����� X(s) → I. �����!
�� ��	��	�� 9�	��
��


� K� L !� ��	�� ����� �	�� 	 �
�� ���'����8 �C9	��
�� �� X ��� 
s > η0 :

X(s) = I +
1

s
X1 +

1

s2
X2 +O

(
1

|s|3
)
. @�*.A



���	��
 �� ��
 ���� ������
� ���������� ��
 �����
 ��	�
����� ������� �0

&�� ���� ����� (53� 	�� ����

ũ+ = 0, x = 0,

ũ− = 0, x = 1.

���� 	����	�� ����
�
��� 	�� ���	
��� �8 ��
�� �
���� ����� 	99��C
�	�
���* �
���

	�� ������ ����� (53� 	�� ���9���
%��8[
(I +

1

s
X1)ũ

]+

= 0, x = 0,[
(I +

1

s
X1)ũ

]−
= 0, x = 1,

[
(I +

1

s
X1 +

1

s2
X2)ũ

]+

= 0, x = 0,[
(I +

1

s
X1 +

1

s2
X2)ũ

]−
= 0, x = 1,

!�
�� 
� ��	�������� �� ��� 9�8�
�	� �9	�� �8 ��� �����
���
�� s→ ∂
∂t
.

B����� ��� :��� 	�� ������ ����� (53� 	�� ���9���
%��8 K��L[
(
∂

∂t
+X1)u

]+

= 0, x = 0, @2.9aA[
(
∂

∂t
+X1)u

]−
= 0, x = 1, @2.9bA

[
(
∂2

∂t2
+X1

∂

∂t
+X2)u

]+

= 0, x = 0, @2.10aA[
(
∂2

∂t2
+X1

∂

∂t
+X2)u

]−
= 0, x = 1. @2.10bA

��� �	��� 
s > η0, ��� ����
1
s
Λ−1C 
� E(s) 
� 	 9������	�
�� �� Λ−1. �� ��
� �	���

D 
� @�*,A �	� �� ����
����� 	� 	 �
	���	� �	��
C K+0L* #
�� 	 �
�� ���'����8

�C9	��
�� D 
� !�
���� 	�

D(s) = Λ−1 +
1

s
D1 +

1

s2
D2 +O

(
1

|s|3
)
,

!���� Dj(s), j = 1, 2, ... 	�� �
	���	�*

#�
�� @�*,A 	� XE = DX, ���� ��� O (|s|−1)��'�	�
�� ��	��

X1Λ
−1 + Λ−1C = Λ−1X1 +D1.
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E��%
�� ��� X1 	�� D1 �
%��

D1 = diag

(
c11
λ1
, ...,

cnn

λn

)
,

	��

(X1)jk =

⎧⎨
⎩

0, j = k,
λkcjk
λk − λj

, j �= k,

!���� cjk 
� ��� (j, k)th ����8 �� C. &�� ������ ����� �C9	��
�� �� @�*,A 8
����

X2Λ
−1 +X1Λ

−1C = Λ−1X2 +D1X1 +D2.

E��%
�� ��� X2 	�� D2 8
����

D2 = diag

(∑
k �=1

c1kck1

λk − λ1

, ...,
∑
k �=n

cnkckn

λk − λn

)
,

	��

(X2)jk =

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

0, j = k,

1

λj − λk

[
cjjcjk

λ2
k

λk − λj
−∑

l �=j cjlclk
λjλk

λl − λj

]
, j �= k.

H�� �� ��! ���� �� ��� ��	�
��	�8 9������ ������9���
�� �� @�*/A 1

ux + Λ−1Cu = Λ−1f(x), x ∈ IR, @�*//A

u(x) → 0, x→ ±∞. @�*/�A

&�� �����!
�� ����	 
� �
�
�	� �� H���	 �*- ��� ��� ��� �	�� s = 0.

)���� ��+� i(Λ) = i(Λ−1C).

5����� (99�8 H���	 �*7 !
�� H := Λ 	�� G := Λ−1C

Λ(Λ−1C) + (Λ−1C)T Λ = 2C1 > 0.

(����� ��	� Λ−1C �	� ��� 9����8 
�	�
�	�8 �
���%	��� iω. &���

iωφ = Λ−1Cφ⇔ iωΛφ = Cφ.

5��� �� ��� ����� �	��

0 = 〈iωΛφ, φ〉+ 〈φ, iωΛφ〉
= 〈Cφ, φ〉 + 〈φ, Cφ〉 =

〈
φ, (C + CT )φ

〉 ≥ 2δ |φ|2 > 0,

	�� ����� i0(Λ
−1C) = 0.
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$�
�� H���	 �*6 	�� ��	� Λ−1C �	� �
��
��� �
���%	����� !� �
	���	�
�� ��� �8����

@�*//A

wx +Rw = SΛ−1f(x), @�*/7A

!���� w 
� �
%�� �8 w := Su,

SΛ−1CS−1 = R =

(
R+ 0

0 R−

)
, @�*/-A

R+ = �
	�(r1, ..., rm), 
rj > 0, R− = �
	�(rm+1, ..., rn), 
rj < 0.

&�� �����!
�� �����	�8 ����
�
��� ��� ��� ���	�8 9������ �� ��� ������� ���	
�

(0, 1) 	�� �	�
�:�� �8 ��� ���	�8 �����
�� �� ��� ��������� ���	
�

(Su)+ = 0, x = 0, @2.15aA

(Su)− = 0, x = 1. @2.15bA

&�
� 
� ���� �
��� ��� �����	� �����
�� �� @�*/7A ����
�� ��� ��99��� �� f 
�

w(x) =

⎛
⎜⎝ w+(0)e−R+x

w−(0)e−R−x

⎞
⎟⎠ , x ≤ 0, w(x) =

⎛
⎜⎝ w+(1)eR+(1−x)

w−(1)eR−(1−x)

⎞
⎟⎠ , x ≥ 1,

!���� w = (w+, w−)T 
� 9	��
�
���� 
� ��� �	�� !	8 	� u. ��� ��� ���	8 ����
�
��

@�*/�A �� �� %	�
�� 
� 
� ������	�8 ��	�

w+(0) = w−(1) = 0.

@�*/6A 
� ��
'�� �9 �� 	 ����
9�
�	�
�� �8 �����	� �	��
��� V + 	�� V −, ���9���
%��8

(V Su)+ = 0, x = 0, @2.16aA

(V Su)− = 0, x = 1. @2.16bA

�� K� L ��� 	������ ��:��� 	 �	�
�8 �� :��� ����� �53� ���� 	 ����
�	�
�� �� ���

:��� ����� (53� @�*0A 	�� ��� ��	��9	���� ���	�8 �����	�8 ����
�
��� @�*/,A1

[
(
∂

∂t
+ V S)u

]+

= 0, x = 0, @2.17aA[
(
∂

∂t
+ V S)u

]−
= 0, x = 1, @2.17bA
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!�
�� 
� ��:��� �9 �� 	 �	��
C �	����� V =

(
V + 0

0 V −

)
� 
� ����� �� S. B
����

����� �����	�8 ����
�
��� �	� ����	��8 �� ���
%�� 	�	�������8[
(
∂2

∂t2
+X1

∂

∂t
+ V S)u

]+

= 0, x = 0, @2.18aA[
(
∂2

∂t2
+X1

∂

∂t
+ V S)u

]−
= 0, x = 1. @2.18bA

&�� �����
�� �� ��� �R) @�*/A �� (0, 1) !
�� ��� �����	�8 ����
�
��� @�*/
A ��

@�*/.A� ��� 	��
��	�8 �����	� V, ���%����� ��� ���� �
�� �� ��� ���	�8 ��	��� ��� K� L

	�� E���
�� -* 5�� �
��� �9��
��� ��;���
��� 9������ ��� ���9���� �����
��� 	 ����

���
�� �� V + 	�� V − ��	� 	��
�
�	�� ��� �9��
��� ��;���
��� �9 �� �
���� ����� �	�

	������	�� ��
� ���%������� ��� ���� �
�� ���9��	�
��� 	�� �
%�� �
���� 	����	�8

��� ����� �
�� ���9��	�
���*

&� ��	�
�8 ��	�� !� ��	������ ��� :��� ����� ���� �����	�8 ����
�
�� @2.17aA 
���

H	9�	�� �9	��� 	�� ��� ���  ��	�
�� �*/[
(I +

1

s
V S)ũ

]+

=

(
I+ +

1

s
V +S++ ,

1

s
V +S+−

)
ũ = 0. @�*/0A

�� ����� �� ��� ��	�	����
��
� %	�
	����� ũ = X−1ṽ, !����

X−1(s) = I − 1

s
X1 − 1

s2
(X2 −X2

1 ) +O

(
1

|s|3
)
.

@�*/0A ���� �������

(
I+ +

1

s
V +S++ ,

1

s
V +S+−

)⎛
⎜⎝ I+ − 1

s
X++

1 −1
s
X+−

1

−1
s
X−+

1 I− − 1
s
X−−

1

⎞
⎟⎠ ṽ +O

(
1

|s|2
)

=

[
I+ +

1

s
(V +S++ −X++

1 )

]
ṽ+ +

1

s

[
V +S+− −X+−

1

]
ṽ− +O

(
1

|s|2
)

= 0.

 ������
�� O(|s|−2)������� !� �	8 ���%� ��� ��� 
����
�� @�
�����
��A ����� 
�

����� �� �����
�� ���� 	� ���� 	�
[
I+ + 1

s
(V +S++ −X++

1 )
]

� ����
����	� @��
�

����� ���� 	� ��	�� ��� |s| �	���A

ṽ+(0) = − [
sI+ + (V +S++ −X++

1 )
]−1 [

V +S+− −X+−
1

]
ṽ−(0) =: R+

c ṽ
−(0),
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!���� R+
c 
� ��� �	��
C �� ��;���
�� ���I�
����*

E
�
�	��8 ��� �
��� �����	�8 ����
�
�� @2.17bA �	8 �� !�
���� 
� ���� �� ��� ��	��

	����
��
� %	�
	���� 	�

(
1

s
V −S−+ , I− +

1

s
V −S−−

)⎛
⎜⎝ I+ − 1

s
X++

1 −1
s
X+−

1

−1
s
X−+

1 I− − 1
s
X−−

1

⎞
⎟⎠ ṽ

=
1

s

[
V −S−+ −X−+

1

]
ṽ+ +

[
I− +

1

s
(V −S−− −X−−

1 )

]
ṽ− +O

(
1

|s|2
)

= 0.

 ������
�� O(|s|−2)������ 	�� ���%
�� ��� ��� 
����
�� @������
��A ����� 
� �����

�� �����
�� ���� 	� ���� 	�
[
I− + 1

s
(V −S−− −X−−

1 )
]

� ����
����	�� �
%��

ṽ−(1) = − [
sI− + (V −S−− −X−−

1 )
]−1 [

V −S−+ −X−+
1

]
ṽ+(1) =: R−

c ṽ
+(1),

!���� R−
c 
� ��� �	��
C �� ��;���
�� ���I�
���� 	� ��� �
��� �����	�8*

��� ��� 9	
� �� �����	�8 ����
�
��� �� �� 	�����
�� �9 �� ����� O(|s|−2), ��� �	��
�

��� R+
c 	�� R

−
c ���� �� 
����
�	��8 ����� ��	� 
� V

+S+− −X+−
1 	�� V −S−+ −X−+

1

���� �� ����* E� ��� �9�
�	� ���
��� �� V + 	�� V − 	�� ���� �
%�� 	� �����
��� ��

V +S+− = X+−
1 , @2.20aA

V −S−+ = X−+
1 . @2.20bA

�� (S+−)−1 �C
���� ���� V + = X+−
1 (S+−)−1 	�� ��� :��� ����� �53 	� x = 0 ��	��

u+
t +X+−

1 (S+−)−1S++u+ +X+−
1 u− = 0, @2.21aA

!�
�� 
� �
<����� ���� ��� :��� ����� (53 @2.9aA ���8 �8 ��� �
���� ����*

E
�
�	��8 
� (S−+)−1 �C
���� ���� V − = X−+
1 (S−+)−1 	�� ��� :��� ����� �53 	�

x = 1 
�

u−t +X−+
1 u+ +X−+

1 (S−+)−1S−−u− = 0. @2.21bA

#� ��	�� ������ ����� �53� 	�[
(
∂

∂t
+ X̂1)u

]+

= 0, x = 0, @2.22aA[
(
∂

∂t
+ X̂1)u

]−
= 0, x = 1, @2.22bA

!����

X̂1 =

⎛
⎜⎝ X+−

1 (S+−)−1S++ X+−
1

X−+
1 X−+

1 (S−+)−1S−−

⎞
⎟⎠ .
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��� ��� ������ ����� �	��� !� !�
�� @2.18aA 
� ����� �� ��� ��	�	����
��
� %	�
	����1(
I+ +

1

s
X++

1 +
1

s2
V +S++ ,

1

s
X+−

1 +
1

s2
V +S+−

)
ũ

=

(
I+ +

1

s
X++

1 +
1

s2
V +S++ ,

1

s
X+−

1 +
1

s2
V +S+−

)
⎛
⎜⎝

I+ − 1
s
X++

1 − 1
s2 [X2 −X2

1 ]++ −1
s
X+−

1 − 1
s2 [X2 −X2

1 ]+−

−1
s
X−+

1 − 1
s2 [X2 −X2

1 ]−+ I− − 1
s
X−−

1 − 1
s2 [X2 −X2

1 ]−−

⎞
⎟⎠ ṽ +O

(
1

|s|3
)

=

[
I+ +

1

s2
(V +S++ −X++

2 )

]
ṽ+ +

1

s2

[
V +S+− −X+−

2

]
ṽ− +O

(
1

|s|3
)
.

&�� �9�
�	� ���
�� �� V + 
� �� 	��
�
�	�� ��� ���I�
��� �� ��� �����
�� ���� �9

�� ����� O(|s|−2). E
�
�	� ���9��	�
��� 	� ��� �
��� �����	�8 ����
�
�� �
%� ���

	�	������ �'�	�
�� ��� V −. �
�	��8 V + 	�� V − 	�� ������ 	� �����
��� ��

V +S+− = X+−
2 , @2.23aA

V −S−+ = X−+
2 . @2.23bA

(�	
�� 
� (S+−)−1 	�� (S−+)−1 �C
��� ���� ��� ������ ����� �53� �	� �� !�
����

	� [
(
∂2

∂t2
+X1

∂

∂t
+ X̂2)u

]+

= 0, x = 0, @2.24aA[
(
∂2

∂t2
+X1

∂

∂t
+ X̂2)u

]−
= 0, x = 1, @2.24bA

!����

X̂2 =

⎛
⎜⎝ X+−

2 (S+−)−1S++ X+−
2

X−+
2 X−+

2 (S−+)−1S−−

⎞
⎟⎠ .

�� ��� �	�� S+− 	��S�� S−+ 	�� ��� 
�%���
���� �����	�
��� �����
��� �� @�*��A�@�*�7A

�	%� �� �� ����
�����*

'�����
  ����1 3���
���
�� ��� �8����� @�*��A� ��� V ∗+ 	�� V ∗− ������

�����	�
��� �����
��� �� @2.20aA 	�� @2.20bA ���9���
%��8* &��� !� �	%� �!� �	���1
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• m ≥ n−m, ���� �'�	�
�� @2.20aA �	� �� !�
���� 	�

(S+−)T (V +)T = (X+−
1 )T .

H�� v
(i)
1 	�� b

(i)
1 �� ��� ith ������� �� (V +)T 	�� (X+−

1 )T , ���9���
%��8* &���

��
� �8���� 
� �'�
%	���� �� ��� m �����������
��� �8�����

(S+−)Tv
(i)
1 = b

(i)
1 , i = 1, ..., m.

��� �����
�� (v∗1)
(i) ∈ IRm @
� ��� ��	����'�	��� ������ ��	� 
� �
�
�
�
�� ���

����
��	� ���� �� ���
��	��
∥∥∥(S+−)Tv

(i)
1 − b

(i)
1

∥∥∥2

, i = 1, ..., m A 
� �
%�� �8

(v∗1)
(i) = S+−((S+−)TS+−)−1b

(i)
1 , i = 1, ..., m.

&�� �����
�� �C
��� 	�� 
� ��
'�� 
� S+− �	� ���� �	��* �� S+− ���� ��� �	%� ����

�	��� ���� ��� �����
�� 
� ��� ��
'��� �
��� 
� ��
� �	�� 
� (v∗1)
(i) 
� 	 �����
��

���� ��� %����� (v∗1)
(i) + z !
�� z ∈ Ker(S+−), 
� 	 �����
�� ���* ( �������

������	
�� 
� 
��������� �� ������� ��
'������ �� ��� �����
��* &89
�	��8� ���

��'�
��� ��	� (v∗1)
(i) �	� �
�
�	� ����
��	� ����*

G� ��� ����� �
��� �'�	�
�� @2.20bA 
� �'�
%	���� �� n − m �%��������
���

�8�����

(S−+)Tv
(i)
2 = b

(i)
2 , i = 1, ..., n−m,

!���� v
(i)
2 	�� b

(i)
2 	�� ��� ith ������� �� (V −)T 	�� (X−+

1 )T ���9���
%��8* &��

�����	� �����
�� 
� �
%�� �8

(v∗2)
(i) = (S−+(S−+)T )−1S−+b

(i)
2 , i = 1, ..., n−m.

• &�� �	�� m < n − m, 
� �
�
�	� ��� !
�� n − m �����������
��� 	�� m

�%��������
��� �8�����*

&�
� �����	�
�	�
�� 	99�
�� �� ��� �	�� �� @�*�7A*

��� !�

"#����
��� �� �
�"����
���
�
 #���
��

�� ��
� ����
�� !� �
����� ��� !����9�������� �� ��� �R)

ut + Λ(x, t)ux + C(x, t)u = f(x, t), 0 < x < 1, t ≥ 0, @2.25aA

u(x, 0) = u0(x), 0 < x < 1, @2.25bA



���	��
 �� ��
 ���� ������
� ���������� ��
 �����
 ��	�
����� ������� 7,

�������� !
�� �����	�8 ����
�
��� �� ��� ����[
(
∂

∂t
+B(t))u

]+

= 0, x = 0, @2.26aA[
(
∂

∂t
+B(t))u

]−
= 0, x = 1. @2.26bA

B(t) 
� 9	��
�
���� 
� ��� �	�� !	8 	� 
�  ��	�
�� �*/1

B(t) =

⎛
⎜⎝ S0(t) K0(t)

S1(t) K1(t)

⎞
⎟⎠ .

#� 	����� ��	� S0, S1, K0, 	�� K1 	�� ��
�����8 ������� ��� 	�� t ≥ 0. 3��	��8 ���

:��� ����� (53� @�*0A� 	�� ��� :��� ����� �53� @�*��A 	�� �9��
	� �	��� �� @�*�,A*

Λ(x, t), C(x, t) ∈ IRn×n 	�� f(x, t), u0(x) ∈ IRn 	�� 	������ �� �� C∞�������

�����
��� !
�� ���9��� �� 	�� %	�
	����* �����%��� f(x, t), u0(x) 	�� 	������ �� %	�
��


� 	 ��
��������� �� ��� ������� (x, t) = (0, 0), (x, t) = (1, 0).

$�
�� ��
� ���9	�	�
�
�8 	����9�
��� !� !�
�� �����	�8 ����
�
��� @�*�,A 
� ���


�����	� ����1

u+(0, t) = −
∫ t

0

S0(τ)u
+(0, τ)dτ −

∫ t

0

K0(τ)u
−(0, τ)dτ, @2.27aA

u−(1, t) = −
∫ t

0

S1(τ)u
−(1, τ)dτ −

∫ t

0

K1(τ)u
+(1, τ)dτ. @2.27bA

J�����8 �9�	�
��� ��� 
�
�
	� %	��� 9������ @�*�6A !
�� �����	�8 ����
�
��� @�*�
A


� �	���� !����9���� 
� ��� 	�� ������ ���9	�
��� �	�	 u0 	�� f ����� 
� 	 ��
'��

������ �����
�� u, 	�� 
� �%��8 :�
�� 
����%	� 0 ≤ t ≤ T ��� �����
�� �	� �� ���
�

�	��� 
� ����� �� ��� �	�	*

��:�� ��� ���;�! 	�� 
�;�! ����� ���9���
%��8 �8

‖u(t)‖2
+ :=

∑
λj(1,t)>0

λj(1, t)|uj(1, t)|2 −
∑

λj(0,t)<0

λj(0, t)|uj(0, t)|2,

	��

‖u(t)‖2
− :=

∑
λj(0,t)>0

λj(0, t)|uj(0, t)|2 −
∑

λj(1,t)<0

λj(1, t)|uj(1, t)|2.

)���� ��$� *


�� ��	� ��� ��
��	�� �
 ��� ��	�	�����
��� 	�� ��	� Λ(x, t),

Λx(x, t), C(x, t), B(t) 	�� 
�������� ��
���� ��� 	�� 0 ≤ x ≤ 1 	�� 0 ≤ t ≤ T. ����$



���	��
 �� ��
 ���� ������
� ���������� ��
 �����
 ��	�
����� ������� 7


��� � ��� !���� ���� ����� 	� 0 ≤ t ≤ T ����� �
 	 ���
�	�� CT 

�� ��	�$ �� u 
�� �


��� "675 �,�,8�$�,�,.� ��� 0 ≤ t ≤ T, ����

‖u(., t)‖2
2 +

∫ t

0

(‖u(τ)‖2
− + ‖u(τ)‖2

+

)
dτ ≤ CT

(
‖u0‖2

2 +

∫ t

0

‖f(., τ)‖2
2dτ

)
,

CT �
 ����������� �� f 	�� u0.

5�����

d

dt
‖u(., t)‖2

2 = (u, ut) + (ut, u)

≤ −(u,Λux) − (Λux, u) + c1
{‖u(., t)‖2

2 + ‖f(., t)‖2
2

}
.

������	�
�� �8 9	��� �
%��

(u,Λux) + (ux,Λu) = 〈u,Λu〉 |1
0
− (u,Λxu),

�����%���

〈u,Λu〉 |1
0

= ‖u(t)‖2
+ − ‖u(t)‖2

−.

E
��� Λx 
� ��
�����8 �������� !� �	%�

d

dt
‖u(., t)‖2

2 ≤ ‖u(t)‖2
− − ‖u(t)‖2

+ + c2
{‖u(., t)‖2

2 + ‖f(., t)‖2
2

}
. @�*�.A

3�����

ρ1 := max
j=1,...,n

(|λj(1, t)|, |λj(0, t)|) , 0 ≤ t ≤ T,

����

‖u(t)‖2
− ≤ ρ1

(|u+(0, t)|2 + |u−(1, t)|2) . @�*�0A

&�� 3	���8�E��!	�� 
��'�	�
�8 ��� ��� �����	�8 ����
�
�� @2.27aA 8
����

|u+(0, t)|2 ≤ 2

∣∣∣∣
∫ t

0

S0(τ)u
+(0, τ)dτ

∣∣∣∣
2

+ 2

∣∣∣∣
∫ t

0

K0(τ)u
−(0, τ)dτ

∣∣∣∣
2

≤ 2t

(
s2
0

∫ t

0

∣∣u+(0, τ)
∣∣2 dτ + k2

0

∫ t

0

∣∣u−(0, τ)
∣∣2 dτ) ,

!���� |S0(t)| ≤ s0 	�� |K0(t)| ≤ k0 ��� 0 ≤ t ≤ T.

�� 	 �
�
�	� !	8� ��� �����	�8 ����
�
�� @2.27bA �	� �� ���
�	��� 	�

∣∣u−(1, t)
∣∣2 ≤ 2t

(
s2
1

∫ t

0

∣∣u−(1, τ)
∣∣2 dτ + k2

1

∫ t

0

∣∣u+(1, τ)
∣∣2 dτ) .



���	��
 �� ��
 ���� ������
� ���������� ��
 �����
 ��	�
����� ������� 7.

#
�� k̂ = max(k1, k0) 	�� ŝ = max(s0, s1), @�*�0A �������

‖u(t)‖2
− ≤ 2ρ1t

(
ŝ2

∫ t

0

(∣∣u+(0, τ)
∣∣2 +

∣∣u−(1, τ)
∣∣2) dτ

+k̂2

∫ t

0

(∣∣u−(0, τ)
∣∣2 +

∣∣u+(1, τ)
∣∣2) dτ) . @�*7�A

3���
���

z(t) := ‖u(t)‖2
2 +

∫ t

0

(‖u(τ)‖2
− + ‖u(τ)‖2

+

)
dτ.

$�
�� @�*�.A� @�*7�A 8
����

z′(t) ≤ 2‖u(t)‖2
− + c2

{‖u(., t)‖2
2 + ‖f(., t)‖2

2

}
≤ 4ρ1ρ2t

(
ŝ2

∫ t

0

‖u(τ)‖2
−dτ + k̂2

∫ t

0

‖u(τ)‖2
+dτ

)
+ c2

{‖u(., t)‖2
2 + ‖f(., t)‖2

2

}
≤ α

(
‖u(., t)‖2

2 +

∫ t

0

‖u(τ)‖2
− + ‖u(τ)‖2

+dτ

)
+ c2‖f(., t)‖2

2,

!���� α := 4ρ1ρ2T (s2 + k2) + c2 > 0, 	��

ρ2 := max
j=1,...,n

(|λ−1
j (1, t)|, |λ−1

j (0, t)|) , 0 ≤ t ≤ T.

ρ2 
� ���� ��� ��� ���
�	���1

|u+(1, t)|2 + |u−(0, t)|2 ≤ ρ2‖u(t)‖2
+ 	�� |u−(0, t)|2 + |u+(1, t)|2 ≤ ρ2‖u(t)‖2

−.

&�� ����!	�� 
��'�	�
�8 �
%�� ��� ������

z(t) ≤ CT

(
‖u0‖2

2 +

∫ t

0

‖f(., τ)‖2
2dτ

)
,

!���� CT := (c2 + 1)eαT .

3����4 ��*� ��� �	
� ����� 	
 ���� 	
 ��� ����� �� ������� ��/ �	� �� ���� 
����

��	��� ��#
�	���� 	


������
$ �	���� f ∈ L2((0, T ), L2((0, 1); IRn)) 	��

u0 ∈ L2((0, 1); IRn). 4��
� ���� �� ��� ��� ��	

��	� 
��
����$ ��� ��

�� ��� ���� 
��
)

����
 ���� ������
 ���� 	 ���
��� 	�#
�����

5
����� ���� 9���� ��� 	


������
 �� 3���	 ,�/ 	�� u0 ∈ L2((0, 1); IRn) 	��

f ∈ L2((0, T ), L2((0, 1); IRn)) ��� "675 �,�,8�$�,�,.� �	
 	 
���
� ���� 
��
���� ��

L2((0, T ), L2((0, 1); IRn)).
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5����� ( :C�� 9�
�� ������ !
�� �� ���� �� ���! ��� �C
������ 	�� ��
'������ ��

��� �����
��* ��� g = (g+, g−) ∈ L2((0, T ); IRn) ���%� ��� �'�	�
��1

yt + Λ(x, t)yx + C(x, t)y = f(x, t), 0 < x < 1, 0 ≤ t ≤ T, @2.31aA

y(x, 0) = u0(x), 0 ≤ x ≤ 1, @2.31bA

y+(0, t) = g+(t), @2.31cA

y−(1, t) = g−(t). @2.31dA

&������ /*, 	�� J��	�� �*
 ��	�	���� ��� �C
������ �� ��
'�� �����
��

y ∈ C([0, T ], L2((0, 1); IRn)), 	�� y(0, .), y(1, .) ∈ L2((0, T ); IRn).

��:�� Fg = ((Fg)+, (Fg)−) 	�

(Fg)+(t) := −
∫ t

0

S0(τ)y
+(0, τ)dτ −

∫ t

0

K0(τ)y
−(0, τ)dτ, t ≥ 0,

(Fg)−(t) := −
∫ t

0

S1(τ)y
−(1, τ)dτ −

∫ t

0

K1(τ)y
+(1, τ)dτ, t ≥ 0.

&�� :��� �� ���! 
� ��	� F �	9� L2((0, T ); IRn) 
��� 
�����1

&�� �����
�� �� @�*7/A �	� �� ���
�	���� 	�����
�� �� &������ /*,� ��� 0 ≤ t ≤ T 	�

‖y(., t)‖2
2 +

∫ t

0

(|y(0, τ)|2 + |y(1, τ)|2) dτ
≤ KT

[
‖u0‖2

2 +

∫ t

0

(‖f(., τ)‖2
2 + |g(τ)|2) dτ] . @�*7�A

( �
�
�	� ���9��	�
�� 	� 
� ��� �	�� 9���� ���!� ��	� !
�� α1 = k2
0 + s2

0 + s2
1 + k2

1

|Fg(t)|2 ≤ 2α1t

∫ t

0

(|y(0, τ)|2 + |y(1, τ)|2) dτ.
������	�
�� �8 9	���� ��
�� @�*7�A 	�� ��	� g ∈ L2((0, T ); IRn), �
%��

‖Fg‖2
2 ≤ α1

(
T 2

∫ T

0

(|y(0, t)|2 + |y(1, t)|2) dt− t2
(|y(0, t)|2 + |y(1, t)|2))

≤ Constant.

&�� ������ �� ���! 
� ��	� F 
� �����	��
%� 	� ��	�� �� 	 ���
����%	� (0, T1) ��

(0, T ) :

�
%�� �!� 
�;�! �	�	1 g1, g2 ∈ L2((0, T ); IRn), ��� �
<������ ���!��� ��� ������

�9���
�� ���;�! �	�	 �	� �� ���
�	��� �8 @�*7�A� ��� 0 ≤ t ≤ T 	�

‖(y1 − y2)(., t)‖2
2 +

∫ t

0

(|(y1 − y2)(0, τ)|2 + |(y1 − y2)(1, τ)|2
)
dτ

≤ KT

∫ t

0

|(g1 − g2)(τ)|2dτ @�*77A



���	��
 �� ��
 ���� ������
� ���������� ��
 �����
 ��	�
����� ������� -�

 �!�

|Fg+
1 (t) − Fg+

2 (t)|2 ≤ 2t(s2
0 + k2

0)

∫ t

0

|(y1 − y2)(0, τ)|2dτ,

|Fg−1 (t) − Fg−2 (t)|2 ≤ 2t(s2
1 + k2

1)

∫ t

0

|(y1 − y2)(1, τ)|2dτ.
$�
�� @�*77A !� ���

|Fg1(t) − Fg2(t)|2 ≤ 2tα1

∫ t

0

(|(y1 − y2)(0, τ)|2 + |(y1 − y2)(1, τ)|2
)
dτ.

������	�
�� �8 9	��� �
%��

‖Fg1 − Fg2‖2
2 ≤ α1{T 2

∫ T

0

(|(y1 − y2)(0, t)|2 + |(y1 − y2)(1, t)|2
)
dt

−t2 (|(y1 − y2)(0, t)|2 + |(y1 − y2)(1, t)|2
)}

≤ α1KTT
2‖g1 − g2‖2

2.

F 
� �����	��
�� ��� T1 <
1√
α1KT

.

&�� �����	��
%
�8 �� F ��9���� ���8 �� α1KT @��� ��� �� ��� 
�
�
	� ����
�
�� ��

��� 
���������
�8 ����A* E� !� �	� 	99�8 ��� 
���	�
�� :��� �� 	 ���
����%	� (0, T1)

�� (0, T ), ���� (T1, 2T1) 	�� �� ��* &�� ���	� �����
�� �	� �� ����
���� 
� t �� ��	��

T.

&�
� ������� ���!� ��	� ��� 9������ 
� �������8 !����9���� 
� ��� ����� �� D��
��

K�*L*

��$ %�
�����
�� �� ��� ������ �����

#� ��! ����
��� ��� ���%������� �� ��� �R) @�*/A�@�*�A !
�� :��� ����� �53� @�*/
A

	� t → ∞ �� ��� �����
�� �� ��� ������9���
�� ���	�8 9������* &�� �����
����	�

�	��
C V 
� @�*/
A 
� ���� �� 	������	�� ��� ���%������� �� ��� ���	�8 ��	�� 	��


� ���� ��� �<��� ��� ���%������� 
�����* ��� ���%��
���� !� �	�� V + 	�� V − 	�


����
�8 �	��
���* &���� !� �	%�

ut + Λux + Cu = f(x), 0 < x < 1, t > 0, @2.34aA

u(x, 0) = u0(x), 0 < x < 1, @2.34bA[
(
∂

∂t
+ S)u

]+

= 0, x = 0, @2.34cA[
(
∂

∂t
+ S)u

]−
= 0, x = 1. @2.34dA



���	��
 �� ��
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����� ������� -/

&�� ������9���
�� ���	�8 ��	�� 9������ ��	��

Λu∗x + Cu∗ = f(x), 0 < x < 1, @2.35aA

!
�� ��	��9	���� �����	�8 ����
�
���

(Su∗)+ = 0, x = 0, @2.35bA

(Su∗)− = 0, x = 1. @2.35cA

��:��1

q(x, t) := u(x, t) − u∗(x),

���� q �	�
�:��

qt + Λqx + Cq = 0, 0 < x < 1, t ≥ 0, @2.36aA

q(x, 0) = u0(x) − u∗(x) =: q0(x), 0 < x < 1, @2.36bA[
(
∂

∂t
+ S)q

]+

= 0, x = 0, @2.36cA[
(
∂

∂t
+ S)q

]−
= 0, x = 1. @2.36dA

58 �	�
�� ��� H	9�	�� ��	������ @!
�� ��	� %	�
	��� sA �� @�*7,A !� ���	
� ���

���
�	�8 �
<�����
	� �'�	�
��

sq̃ + Λq̃x + Cq̃ = q0(x), 0 < x < 1, @2.37aA

sq̃+ + (Sq̃)+ = q+
0 (0), x = 0, @2.37bA

sq̃− + (Sq̃)− = q−0 (1), x = 1. @2.37cA

&�� �����!
�� ����	� !�
�� ���	��� ��� 	�8�9���
� ���	%
�� �� ��� ��
�
�	� �����
��

!
�� ��� �
�
� �� ��� 
�	�� �����
��� !
�� �� ���� �� 9��%� ��� �	
� ������� �� ��
�

����
��*

)���� ��.� K��L %
���
� ��	� b(t) �����#
 �� 	 6	�	�� 
�	�� ���� ���� ‖.‖ 	��

b̃(s) �
 ��
 3	��	�� ��	�
����� ���� �� �	 �

lim
t→∞

b(t) = lim
s→0+

sb̃(s),

��� ���� ��	� limt→∞ b(t) ���
�
�



���	��
 �� ��
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� ���������� ��
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5����� H�� limt→∞ b(t) = a, ���� ��� 	�8 :C�� ε > 0, ����� �C
��� 	 T, ���� ��	�

‖b(t) − a‖ < ε ��� t > T.

��:�� r(t) := b(t) − a. ��� 	�� s > 0 ����
���

‖b̃(s) − a

s
‖ = ‖

∫ ∞

0

e−stb(t)dt− a

s
‖

= ‖
∫ ∞

0

e−str(t)dt‖

≤
∫ T

0

e−st‖r(t)‖dt+

∫ ∞

T

e−st‖r(t)‖dt

<

∫ T

0

‖r(t)‖dt+ ε

∫ ∞

T

e−stdt

≤ c1 +
ε

s
e−sT ≤ c1 +

ε

s

⇒ ‖sb̃(s) − a‖ < ε+ sc1, ∀s > 0, c1 ∈ IR+,

��� !
��

s ∈ (0,
ε

c1
],

!� �	%�

‖sb̃(s) − a‖ < 2ε

��� s→ 0+ �
%�� ��� ������*

5
����� ���0� "� ��� 
��
���� q(x, t) �� �,�:/� ��� ��#�
 �� L2(0, 1) 	
 t → ∞,

���� �� ��� ��#�
 �� (��� �� L2(0, 1).

5����� &� �	�� ��� �� ��� 9��%
��� H���	 !� ���� �� ���! ��	� q̃(x, s) ��:��� 
�

@�*7
A 
� 	 �	���	� �C����
�� �� ��� H	9�	�� ��	������ ��	� s = 0. &�	� 
�� q̃(x, s) 
�

	� 	�	�8�
� �����
�� �� s 
� ��� ��
��������� �� 0.

E�99��� ��	�

Z := H1((0, 1); IRn) × IRn, Y := L2((0, 1); IRn) × IRn.

��:�� ��� �9��	��� L 	�

L : Y ⊃ Z ⊃ H1(0, 1)n =: D(L) � q̃ �−→

⎛
⎜⎝

(Λ∂x+ C)q̃

(Sq̃)+(0)

(Sq̃)−(1)

⎞
⎟⎠ ∈ Y.
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(�����
���8� @�*7
A �	� �� !�
���� 	�

(L+ sI)

⎛
⎜⎝ q̃

q̃+(0)

q̃−(1)

⎞
⎟⎠ =

⎛
⎜⎝ q0(x)

q+
0 (0)

q−0 (1)

⎞
⎟⎠ , q̃+(0) ∈ IRm, q̃−(1) ∈ IRn−m. @�*7.A

�����
�� �� ��� �9��	��� L� !� ���
�� ��	� 
� �	� ���� ������ 9��9���
��1

�
���� L 
� 
�%���
���* 3���
���

q1 =

⎛
⎜⎝ f(x)

α+

α−

⎞
⎟⎠ ∈ Y, α+ ∈ IRm, α− ∈ IRn−m,

	�� ��	��� ��� q̃ ∈ D(L), ���� ��	�

Λq̃x + Cq̃ = f(x), 0 < x < 1,

(Sq̃)+(0) = α+,

(Sq̃)−(1) = α−.

&�
� 
������������ �����	�8 %	��� 9������ 
� �'�
%	���� ��

w̆x +Rw̆ = h(x), 0 < x < 1,

w̆+(0) = 0, w̆−(1) = 0, @�*-�A

!���� w̆ = Sq̃ −
(
α+

α−

)
, h(x) = SΛ−1f(x) − (I + R)

(
α+

α−

)
, 	�� S 
� ��:���

	� 
� @�*/-A* &�� �	�� �'�	�
�� @�*-�A �	� ��� ��
'�� �����
��

w̆+(x) =

∫ x

0

e−R+(x−y)h+(y)dy, 0 < x < 1,

w̆−(x) = −
∫ 1

x

e−R−(y−x)h−(y)dy, 0 < x < 1.

E������ L−1 
� 	 ������� �9��	��� ���� Y �� D(L)* ����
9�8
�� @2.37aA �8 q̃ 	��


�����	�
��

(Λq̃x, q̃) + (q̃,Λq̃x) + (Cq̃, q̃) + (q̃, Cq̃) = 2(f, q̃). @�*-/A

������	�
�� �8 9	��� �
%��

(q̃,Λq̃x) + (q̃x,Λq̃) = 〈q̃,Λq̃〉 |1
0
,



���	��
 �� ��
 ���� ������
� ���������� ��
 �����
 ��	�
����� ������� --

��
�� ��� 9��9���
�� �� C

(Cq̃, q̃) + (q̃, Cq̃) = (q̃, (C + CT )q̃) ≥ 2δ‖q̃‖2
2 > 0, δ > 0,

	�� ��	�

2(f, q̃) ≤ 2

δ
‖f‖2

2 +
δ

2
‖q̃‖2

2.

&���� @�*-/A �
%��

〈q̃,Λq̃〉 |1
0
+

3δ

2
‖q̃‖2

2 ≤
2

δ
‖f‖2

2. @�*-�A

3�����

λM := max
j=1,...,n

{|λj|} ,
����

〈q̃,Λq̃〉 |1
0

=
m∑

j=1

λj(|q̃j(1)|2 − |q̃j(0)|2) +
n∑

j=m+1

λj(|q̃j(1)|2 − |q̃j(0)|2)

≥ −
m∑

j=1

λj|q̃j(0)|2 +

n∑
j=m+1

λj|q̃j(1)|2

≥ −nλM (|α+|2 + |α−|2).

E����
���
�� ��� ������ 
� @�*-�A� !� ���

‖q̃‖2
2 ≤ C(‖f‖2

2 + |α+|2 + |α−|2). @�*-7A

5��

q̃x = −Λ−1Cq̃ + Λ−1f,

����

‖q̃x‖2
2 ≤ C1(‖q̃‖2

2 + ‖f‖2
2). @�*--A

$�
�� @�*-7A 	�� @�*--A !� ���

‖q̃‖2
D(L) ≤ C(‖f‖2

2 + |α+|2 + |α−|2) = C‖q1‖Y . @�*-6A

 �!� ��:�� L−1
p := P ◦ L−1 : Y �−→ Y, !���� P : Z �−→ Y 
� ��� 
����
�8 ���9	��

�9��	���* E
��� L−1 : Y �−→ D(L) 
� �������� ���� L−1
p 
� ���9	��*

3����� s ��	�� ������ ���� ��	�

|s| < ‖L−1
p ‖−1, @�*-,A
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���� (I + sL−1
p ) 
� 	� 
�%���
��� �9��	��� ���� Y �� Y. �����%��� ��� �����%���

�����
�� (I + sL−1
p )−1 
� 	� 	�	�8�
� �����
�� �� s !
�� ���� ��	� �	�
�:��

‖(I
s

+ L−1
p )−1‖Y ≤ 1

1
s
− ‖L−1

p ‖Y

,

	�� �� 
� 9	��
���	�

‖(I
s

+ L−1
p )−1‖Y → 0 as s→ 0. @�*-
A

3���
��� ��� :��� @�	
�A 9	�� �� @�*7.A

(L+ sI)q̃ = q0, @�*-.A

	�� ��� s �� 	� 
� @�*-,A* &	�� L−1
p �� ���� �
��� �� @�*-.A� ����

(I + sL−1
p )q̃ = L−1

p q0.

E
��� (I + sL−1
p ) 
� 
�%���
���� !� ���	
�

q̃ = (I + sL−1
p )−1L−1

p q0,

!�
�� 
� 	�	�8�
� 
� s 	�� �������* &�� ����
9�
�	�
�� �� ��� �	�� �'�	�
�� �8 s

8
����

sq̃ = (
I

s
+ L−1

p )−1L−1
p q0.

$�
�� @�*-
A 	�� ��	� L−1
p 
� �������� �
%�� ��	� ‖sq̃(x, s)‖2 → 0 as s→ 0.

���� H���	 �*0 !� ���	
� ��� ������*



������� �

�
�������

 ���	!�����	�

3���
��� ��� :��� ����� �89�����
� �8���� 
� ��	�	����
��
� ����

ut + Λux + Cu = f(x, t), @3.1aA


� ��� ���
9� 0 < x < 1, t > 0* B���� Λ 	�� C 	�� �����	�� n× n �	��
��� 	�� Λ 
�

9	��
�
���� 	� 
� @�*7A* &�� �����
�� �� @3.1aA 
� ��
'���8 ������
��� 
� !� 9�����
��


�
�
	� %	���� ��� t = 01

u(x, 0) = u0(x), 0 ≤ x ≤ 1, @3.1bA

	�� �����	�8 ����
�
��� 	� x = 0, 11

u+
t + (Su)+ = 0, x = 0, @3.1cA

u−t + (Su)− = 0, x = 1. @3.1dA

B���� S 
� ��:��� 	� 
� @�*/-A* #�
�� @3.1cA�@3.1dA ��9������ �����	� �53�* ��������

����� ��� ��99��� �� f 	�� u0 	�� 	������ �� �� 
� (0, 1).

#� !	�� �� ���%� ��� 	��%� 9������ �8 :�
�� �
<������ 	99��C
�	�
��* ��� ��	�

��	���� !� 
�������� 	 ���� �
�� h := �x, 	 �
�� ���9 k := �t, 	�� �
�����
�� ���
(x, t)−���
9� [0, 1] × IR+

0 ��
�� ��� ���� 9�
���

xj = jh, j = 0, 1, 2, ..., J

tl = lk, l = 0, 1, 2, ....

-,



���	��
 �� ����
���� �		
��������� -


#� 	����� ��	� r := k/h 
� �����	�� 	�� ��� ��� ���	�
�� ul
j ∈ IRn �� 	99��C
�	��

��� �C	�� �����
�� u 	� (xj, tl). (�����
�� �� ��� 9	��
�
�� �� u, !� ���

ul
j =

⎛
⎜⎝ (u+)

l
j

(u−)
l
j

⎞
⎟⎠ ,

(
u+
)l

j
∈ IRm,

(
u−
)l

j
∈ IRn−m.

&�� ����
�� �� ��
� ��	9��� 
� 	� �����!�1 �� E���
�� 7*/� !� 
�������� 	 :�
�� �
<������

������ �� ���%� ��� �5R) @7*/A* �� E���
�� 7*�� !� 	99�8 ��� !��� ���!� ��	�
�
�8

�����8 ��� �� ����	������ D��
��� 	�� E������F� @�DE������8A �� 9��%� ��� ��	�
�
�8

�� ��
� ������* &!� �����
�	� �C	�9��� 	�� �
%�� 
� E���
�� 7*7� 
� ��� :��� �C	�9���

!� �
����� ��
�;8 	 2 × 2 ����� �8���� 	�� 9��%� ��� ���%������� �� ��
� �8����

!
�� :��� ����� �53� �� ��� ������� ���	�8 ��	��* �� ��� ������ �C	�9��� !� ���9	��

��� �����
�	� 	99��C
�	�
��� ��� �
<����� ���
��� �� ��� ��	�
�� �	��
��� ��� 	 3×3

�8����*

$�� ��������
 ������

H	C�#������ ������ @H#�������A �	��� �� ��� �C9	��
��

u(x, t+ k) = u(x, t) + kut(x, t) +
k2

2
utt(x, t) +O(k3), @7*�A

!���� utt �	� �� ������
��� ��
�� @3.1aA 	� �����!�

utt = (−Λux − Cu+ f)t

= −Λutx − Cut + ft

= Λ(Λux + Cu− f)x + C(Λux + Cu− f) + ft

= Λ2uxx + (ΛC + CΛ)ux + C2u+ ft − Λfx − Cf.

E����
���
�� ��� 	��%� �'�	�
�� 
��� @7*�A 8
����

u(x, t+ k) = u(x, t) − k(Λux(x, t) + Cu(x, t) − f(x, t))

+
k2

2
(Λ2uxx(x, t) + (ΛC + CΛ)ux(x, t) + C2u(x, t)

+ft(x, t) − Λfx(x, t) − Cf(x, t)) +O(k3).

&�� H#������� ���� �������� �
<������� �� 	99��C
�	�� ��� �9	�
	� ���
%	�
%�� ��

u* ������������ ��� ���
%	�
%�� �� f !
�� �� 	99��9�
	���8 �
�����
���* &�� ������
��
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���� �		
��������� -.

������ !
�� �� ����

ul+1
j = ul

j −
1

2
rΛ(ul

j+1 − ul
j−1) − kCul

j +
1

2
(rΛ)2(ul

j+1 − 2ul
j + ul

j−1)

+
1

4
rk(ΛC + CΛ)(ul

j+1 − ul
j−1) +

1

2
(kC)2ul

j +
1

2
k(f l+1

j + f l
j)

−1

4
rkΛ(f l

j+1 − f l
j−1) −

1

2
k2Cf l

j , l = 0, 1, ..., j = 1, ..., J − 1. @3.3aA

&� ���%� @3.3aA ��
'���8� !� 9��%
�� 
�
�
	� %	����

u0
j = u0(xj), j = 0, 1, 2, ..., J, @3.3bA

	�� �9��
�8 	� �	�� �
�� ��%�� tl = lk, l = 1, 2, ..., �����	�8 %	���� ul+1
0 , ul+1

J . &����

�����	�8 %	���� �9�
� 
��� �!� ����9�1 &�� :��� ����9� !�
�� !� ����� �� 	� 
�;�!

�����	�8 ����
�
��� 
� (
u+
)l+1

0
,
(
u−
)l+1

J
.

&�� ������ ����9 
� (
u−
)l+1

0
,
(
u+
)l+1

J
,

!�
�� !� ����� �� 	� ��� ���;�! �����	�8 ����
�
���*

&�� 
�;�! %	���� 	�� ������
��� �8 ��� �
�����
�	�
�� �� ��� �����	�8 ����
�
���

@3.1cA�@3.1dA� !�
�� ��� ���;�! %	���� 	�� ���	
��� �8 
�������
�� �����
�	� ������

	�8 ����
�
���* �� ��
� !��� !� ��	�� ����
��� �!� �89�� �� �����
�	� �����	�8

����
�
���� ��� :��� �89� 
� �9!
��
�� 
� !�
�� u 	� ��� �����	�
�� �	�
��8 ���

����������� %���
�� �� ��� �8���� @3.1aA� 	�� ��� ������ �89� 
� :��� ����� �C��	9�

��	�
��*

2��������  ��� ��� #����	� ����(���	� ����	���	���� �� ����� q ��� ��� �
�;�� �	�	

u− 	� x = 0 �


(E+ − I)q+1 (u−)l+1

0
= 0, q = 0, 1, ...,

	�� ��	� �� u+ 	� x = 1

(
I − E−1

+

)q+1 (
u+
)l+1

J
= 0, q = 0, 1, ...,

����� E+uj := uj+1.

$�
�� �����	�8 ����
�
�� @3.1cA� !� !�
��

Dt
+

(
u+
)l

0
+
(
(Su)+

)l

0
= 0,
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���� �		
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!�
�� �
%�� (
u+
)l+1

0
=
(
u+
)l

0
− k

(
(Su)+

)l

0
. @7*-A

E
��� f 
� ���9	���8 ��99����� 
� (0, 1), ��� ���;�! 9	�� �� @3.1aA 	� x = 0 �	�
�:��

u−t + Λ−u−x + (Cu)− = 0,

!�
�� 
� �
�����
��� 	�

Dt
+

(
u−
)l

0
+ Λ−Dx

+

(
u−
)l

0
+
(
(Cu)−

)l

0
= 0.

B���� (
u−
)l+1

0
=
(
I + rΛ−) (u−)l

0
− k

(
(Cu)−

)l

0
− rΛ− (u−)l

1
. @3.5aA

(� 	�����	�
%� �����
�	� �����	�8 ����
�
�� 
� ��� :��� ����� �C��	9��	�
��

(
u−
)l+1

0
= 2

(
u−
)l+1

1
− (

u−
)l+1

2
. @3.5bA

&�� �
�����
�	�
�� �� ��� �
��� �����	�8 ����
�
��� 
� ���	��� 
� 	 �
�
�	� �	����*

$�� �����
��� �� ���  
��� ��&���
�� ������

�� ���%
�� �
��	� �89�����
� 9	��
	� �
<�����
	� �'�	�
��� �����
�	��8 �8 ��	�� ��

:�
�� �
<������ 	99��C
�	�
���� 	 9�
��
9	� �
I����8 ���� �������
�	��8 	�� 
� 9�	��

�
�� 
� ��� '����
�� �� ��	�
�
�8* ��� ��� >3	���8 9������? �� ��� ��������� ���	
�

(−∞,∞)� 	 �	
��8 ���9���� ��	�
�
�8 �����8 �	��� �� ��� ����
�� 	�	�8�
� �	� ����

!����� ��� ���
�� ��� �	�� ��! ���	��� �8 %��  ���	��� H	C� D��
��� 	�� ������

K*01 *�1 *$L* ��� ��� >
�
�
	� �����	�8 %	��� 9������? �� 	 ���	
� ���� 	� [0,∞)

�� [0, 1]� ��!�%��� ����
�� 	�	�8�
� �	���� �� 	99�
�� 
� 	 ���	
������!	�� !	8� 	��

9������� �	� ���� ���!�� 	�� �����
�	��8 ���� ���9��C* ��9���	�� �����
���
��� 
�

��
� 	��	 !��� �	�� �8 E* G���� K$*L 	�� �8 B*�G* D��
� K$0L� 	�� 	�� �	��� ��

%	�
��� �
��� �� ����	� ���� 	�	�8�
� ��	� �C���� ��� ����
�� �������* ( ����

9������
%� �����8 �� ��
� �89� !	� 9�������� 
� 	� 
�;����
	� 9	9�� �8 ����	������

D��
��� 	�� E������F� @��
�;81 �DEA K *L* &�� ���9�
�	��� 	�����	
� ����
�
��� ��

��� �DE������8 !��� �
�9�
:�� 
� �����!
�� !��� �� �������� 	�� &	���� K �L*

�� ��
� ����
�� !� 	99�8 ��� �DE������8 �� ���! ��� ��	�
�
�8 �� ��� �
<������ 	9�

9��C
�	�
�� @7*7A�@3.5aA@��@3.5bAA 	�� ��� ������9���
�� �
��� �����	�8 �
�����
�	�

�
��* #� 
����� �� 9��%
�� ���� ��I�
��� 	�� ������	�8 ����
�
��� ��� ��� ��	�
�
�8

�� ��
� �
������ �5R)* �� 	99�	�� ��	� ��� �5R) ���� ��� �	%� ��� ��	��	�� ����
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9�������� 
� ��� �DE������8 	�� ����� ��
� ��	�
�
�8 �����8 
� ��� �
�����8 	99�
�	�

���*

&�� �
������ �5R) ����� ����
���	�
�� 
� �
%�� !
�� �!� �����	�
��* (�����
�� ��

��� &������ 7*� ����!� !�
�� 
� %	�
� ��� 	�8 �� ��� �DE ��	�
�
�8 ��:�
�
���� 
�


� ��I�
��� �� ����
��� ��� 9������ �� ��� 9��
�
%� 9�	�� x ≥ 0, 
*�*� �� ��� 
���C

�	��� j ≥ 0*

5
�����  ��� -K *L$ ���� 8�01 <��
���� ��� ��'������ 	�������	���� ��� t ≥ 0 	��

0 ≤ x ≤ 1 	�� 	


�� ��	� ��� �����
������# ���� 	�� ��#�� �
	����)��	�� �������


������ �� #�� �� ���� ��# ��� ��
��	�� �� ��!����� 	�� 
�	���$ ���� ��� ���#��	�

������� �
 	�
� 
�	����

&�� 
��	 ���
�� ��� ������� 
� ��	� ��� �	�
� �
<������ ������ @7*7A 	�� �	�� ��

��� �����	�8 ����
�
��� ��9	�	��� 
��� ��� �!� '�	���� 9�	�� 9������� ��	� 	��

���	�
%��8 �
�� �� �	����* &��������� !� !
�� ����
��� ���8 ��� ��	�
�
�8 �� ��� �
���

'�	���� 9�	�� 9������� !�
�� ��� ���� '�	���� ��� 
� 	�	�����*

&� :� ��� 	99��C
�	�
�� 
��� ��� ���� �
������� 
� K *L� !� !�
�� @7*7A 	�

ul+1
j = Qul

j + kblj , @3.6aA

u0
j = u0(xj), j = 0, 1, 2, ..., @3.6bA

!����

Q =
1∑

σ=−1

ΛσE
σ
+, E+uj = uj+1,

Λ0 = I − kC − (rΛ)2 +
1

2
(kC)2 ,

Λ±1 = ∓1

2
rΛ +

1

2
(rΛ)2 ± 1

4
rk (ΛC + CΛ) ,

blj =
1

2

(
f l+1

j + f l
j

)− 1

4
rΛ

(
f l

j+1 − f l
j−1

)− 1

2
kCf l

j .

&�� �����	�8 %	���� 	�� !�
���� 	�

ul+1
0 = B0,0u

l
0 +B1,0u

l
1 +B1,1u

l+1
1 +B2,1u

l+1
2 , @7*
A

!���� ��� 	��%� �	��
��� 	�� ������
��� �8 ��� �����
�	� �����	�8 ����
�
���

����� ����
���	�
��* ��� ��� �9!
��
�� �	�� @7*-A�@3.5aA� !� �	%�

B0,0 =

⎛
⎜⎝ I+ 0

0 I + rΛ−

⎞
⎟⎠− k

⎛
⎜⎝ S++ S+−

C−+ C−−

⎞
⎟⎠ ,
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B1,0 =

⎛
⎜⎝ 0 0

0 −rΛ−

⎞
⎟⎠ , B1,1 = B2,1 = 0. @3.8aA

B�!�%��� 
� �C��	9��	�
�� @7*-A�@3.5bA 
� ����� ����

B0,0 =

⎛
⎜⎝ I+ 0

0 0

⎞
⎟⎠− k

⎛
⎜⎝ S++ S+−

0 0

⎞
⎟⎠ ,

B1,1 =

⎛
⎜⎝

0 0

0 −2I−

⎞
⎟⎠ , B2,1 =

⎛
⎜⎝

0 0

0 −I−

⎞
⎟⎠ , B1,0 = 0. @3.8bA

&���� 	�� �
<����� !	8� �� ��:�� ��	�
�
�8 �� :�
�� �
<������ �������* �DE K *L

�
������� ���� 9���
��� ��:�
�
��� �� !�
�� !� ������ ��� ��� ��	� 	���!� �� ��

�	�� ��� �� ��� 	%	
�	��� �������*

H�� l2(x) ������ ��� �9	�� �� 	�� ��
� �����
��� uj = u(xj), xj = jh, j = 0, 1, ...,

!
��
∑∞

j=0 |uj|2 <∞ 	�� ��:�� ��� ��	�	� 9������ 	�� ���� �8

(u, v)h =
∞∑

j=0

hu∗jvj , ‖u‖2
h = (u, u)h.

#� ��:�� l2(t) 	�� l2(x, t) 
� ��� ������9���
�� !	8 	�� ������ �8

(u, v)k =
∞∑
l=0

ku∗(tl)v(tl), ‖u‖2
k = (u, u)k,

(u, v)h,k =

∞∑
j=0

∞∑
l=0

hku∗j(tl)vj(tl), ‖u‖2
h,k = (u, u)h,k,

��� ������9���
�� ����� 	�� ��	�	� 9�������*

2��������  � � -K *L$ ���� :�:1 *


�� ��	� ��� �����	� �
������ �
 (���� ��� ��'��)

���� 
����� �:�/�)�3.8a�����3.8b�� �
 
�	���$ �� ����� ���
� ���
�	��
 c0 > 0, α0 ≥ 0



�� ��	�$ ��� 	�� t = tl = lk, 	�� α > α0, 	�� 	�� h$ 	� �
���	��(
α− α0

αk + 1

)∥∥e−αtu0

∥∥2

k
+

(
α− α0

αk + 1

)2 ∥∥e−αtu
∥∥2

h,k
≤ c0

∥∥e−α(t+k)b
∥∥2

h,k

����
�



���	��
 �� ����
���� �		
��������� 6�

#�
�� ���� ��� %����� blj �� ��� �	�
� ������ @3.6aA 
� 	 �����	� ����
�	�
�� �� f 	��


�� ���
%	�
%��� 
� K *L !� �	%� blj = f l
j . B�!�%��� �������� �� 	�� K �L ���!�� ��	�

��
� �����	�
�	�
�� ���� ��� 	<��� ��� ������� �� K *L 	�� ���8 �	
��� ��� '����
�� ��

��	�
�
�8 
� ��� ����� �� ��:�
�
�� 7*7*

&�� ��:�
�
�� �� ��	�
�
�8 ��� ��� �
<������ ������ ��� ��� ���� '�	���� 9�	�� 9����

��� 
� ��� �	��� �C��9� ��	� ��� ���� 
� �	��� �%�� ��� ��
� �� (−∞, 1] 	�� u0 
�

��9�	��� �8 uJ .

�� ��� �����!
��� !� ��	�� ������ ��� 	��%� ��	�
�
�8 '����
�� �� ��	� �� ��� 9�
��
9	�

9	�� �� ��� ��	�	� ���;�! 	99��C
�	�
���� 
*�*� ��� 9	�� ���	
��� �8 ��
�
�	�
�� ���

����� �� ����� k, k2, 	�� 	�� 
���������
�8 %������* &�
� ������ 
� �	��� �� &������

-*7 �� K *L� !�
�� 9��%
��� 	 ������	�8 	�� ��I�
��� ������
�	��	� ��	�
�
�8 ��
���

�
�� �
%�� ���
���8 
� ����� �� ��� 9�
��
9	� 9	�� �� ��� 	99��C
�	�
���* &�� ����

�C
������ �� ���� 	 ��
���
�� 
�9�
�� ��	� ��� ��� ��	�
�
�8 9��9���� !� �	8 ����
���

	 �	�
� ������ �� @7*,A�@3.8aA@��@3.8bAA �� ��� ����

ul+1
j = Q̃ul

j, Q̃ =

1∑
σ=−1

Λ̃σE
σ
+, E+uj = uj+1, @7*0A

!����

Λ̃0 = I − (rΛ)2 ,

Λ̃±1 = ∓1

2
rΛ +

1

2
(rΛ)2 ,

	�� ��� �����	�8 ����
�
��� (
u+
)l+1

0
=
(
u+
)l

0
, @7*/�A(

u−
)l+1

0
=
(
I + rΛ−) (u−)l

0
− rΛ− (u−)l

1
, @3.11aA(

u−
)l+1

0
= 2

(
u−
)l+1

1
− (

u−
)l+1

2
. @3.11bA

&�� ������ @7*0A 
� ��! ����
����� !
��

ut + Λux = 0.

#� �9�
� ��� �	�
� ������ 	�� ��� �����	�8 %	���� 
��� 
�;�! 	�� ���;�! 9	���

���9���
%��8

(
u−
)l+1

j
=

(
u−
)l

j
− rΛ−

2

((
u−
)l

j+1
− (

u−
)l

j−1

)
+

(rΛ−)
2

2

((
u−
)l

j+1
− 2

(
u−
)l

j
+
(
u−
)l

j−1

)
, @7*/�A
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(
u−
)l+1

0
=
(
I + rΛ−) (u−)l

0
− rΛ− (u−)l

1
, @3.13aA(

u−
)l+1

0
= 2

(
u−
)l+1

1
− (

u−
)l+1

2
, @3.13bA

	��

(
u+
)l+1

j
=

(
u+
)l

j
− rΛ+

2

((
u+
)l

j+1
− (

u+
)l

j−1

)
+

(rΛ+)
2

2

((
u+
)l

j+1
− 2

(
u+
)l

j
+
(
u+
)l

j−1

)
, @7*/-A

(
u+
)l+1

0
=
(
u+
)l

0
. @7*/6A

G�%
����8� @7*,A�@3.8aA@��@3.8bAA 
� ��	��� 
� 	�� ���8 
� ���� 9	��� 	�� ��	���* 5�����

!� 9������� !� 
������ ��� �����!
�� 	����9�
��� ��	� 	�� ������	�8 ��� ��� ������

����	
��� 
� ��
� ����
��*

"

�������  ��� �� ��� 	

���	��� �����	�  	�
� 
����� �
 
�	����

,� ��� ��'������ 
����� �
 ������ ��

��	�� � �� �����

��	�� ��

( ������	�8 ����
�
�� ��� ��� ��	�
�
�8 �� ��� 
�
�
	� %	��� ������ 
� �� �	�
��8 ���

3�H@3���	�����
���
����H�%8A�����
�
��* 3�H�����
�
�� �
�9�8 	������ ��	� ��� 	��

	�8�
�	� ���	
� �� ��9������� 
� ����	
��� 
� ��� �����
�	� ���	
� �� ��9�������*

��� ��� H#�������� ��
� �
%��

max
ν=1,...,n

|λνr| ≤ 1, @7*/,A

2��������  �+� K*$L ��� ��'������ 
����� �:��� �
 ��

��	�� � �� ����� 2s �� �����

���
�
 c > 0 

�� ��	� ��� ��#�� 	�
�
 μν(ξ) �� ��� 	����!�	���� �	���� �� Q̃ 
	��
!�


��� ��������# �
���	��

|μν(θ)|2 ≤ 1 − c |θ|2s , |θ| ≤ π.

&�
� ����
�
�� 
� �'�
%	���� �� @��� K*�LA

|μν(θ)|2 ≤ 1 − ć sin2s(θ/2), ć > 0.

&�� 	�9�
:�	�
�� �	��
C �� Q̃ ��	��

I − irΛ sin θ − (rΛ)2(1 − cos θ),
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!
�� �
���%	����

μν(θ) = 1 − irλν sin θ − 2r2λ2
ν sin2(θ/2), ν = 1, ..., n.

&�
� �
%��

|μν(θ)|2 = [1 − 2(rλν)
2 sin2(θ/2)]2 + (rλν)

2 sin2 θ

= 1 − 2(rλν)
2[4 sin2(θ/2) + 4(rλν)

2 sin4(θ/2) + sin2 θ]

= 1 − 4(rλν)
2[1 − (rλν)

2] sin4(θ/2), ν = 1, ..., n. @7*/
A

&���� ��� �
<������ ������ @7*0A 
� �
��
9	�
%� �� ����� 4 
� r 
� ������ �� �	�
��8

0 < |λνr| ≤ 1, ν = 1, ..., n.

E
��� Λ 
� �����	�� (����9�
�� 7*- 
� ���:���� 
� ��� 3�H�����
�
�� @7*/,A 
� �	�
�:��*

#� �9�
� ��� ���;�! 	99��C
�	�
�� @7*/�A�@3.13aA@��@3.13bA 
��� n−m ��	�	� ����

9������� �	�� �� ��� ����

vl+1
j = vl

j −
κ

2
(vl

j+1 − vl
j−1) +

κ2

2
(vl

j+1 − 2vl
j + vl

j−1)

=
1

2
(κ2 + κ)vl

j−1 + (1 − κ2)vl
j +

1

2
(κ2 − κ)vl

j+1 @7*/.A

!���� κ := rλν , ��� :C�� λν ∈ Λ−, 	��

vl+1
0 = vl

0 − κ(vl
1 − vl

0). @3.19aA

��

vl+1
0 = 2vl+1

1 − 2vl+1
2 . @3.19bA

&�� ������ @7*,A�@3.8aA@��@3.8bAA 
� ��	��� 
� 	�� ���8 
� @7*/�A�@3.13aA@��@3.13bAA

	�� @7*/-A�@7*/6A 	�� ��	���� 	�� ��� �	���� 	�� ��	��� 
� 	�� ���8 
� ���
� ��	�	�

���9������ 	��* H���	 �*7 �� K �L ���!� ��	� ��� ��	�	� ���9������ �� ��� 
�;�!

	99��C
�	�
�� @7*/-A�@7*/6A 	�� ��	��� @��� 0 < κ ≤ 1A* E� !� �������� ��� �	
�

������ �� ��
� ����
��

)����  �$� ��� *�������	���� �:�/�)�3.8a�����3.8b�� �
 
�	��� �� 	�� ���� �� ���


�	�	� �
�;�� ���������
 �:��=�)�3.19a�����3.19b�� 	�� 
�	����

&� �
����� ��� ��	�
�
�8 �� @7*/.A�@3.19aA@��@3.19bAA !� ��� ��� �
������ H	9�	�� ��	���

����� !�
�� 
� ��� �� ��� ��! 	99��	���� 	%	
�	��� ��� 	�	�8�
�� ��� ��	�
�
�8 ��

�
<������ ������� ��� 
�
�
	� �����	�8 %	��� 9�������* &�
� 	99��	�� 
� ���� ��

��	������ ��� ��� ���9��	� �
<������� @�
�� ���
%	�
%��A 	�� ����
��� ��� ������


� ��	������ �9	�� 	� 	 �
<������ ������ 
� j.
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2��������  �*� ��� ��
����� 3	��	�� ��	�
���� �� u =
{
ul
}

�
 ��� �
������ ũ :=

L ({
ul
})

��!��� ��

ũ(z) :=

∞∑
l=0

e−zlul

����� z ∈ C, 
z > 0 and �z ∈ [−π, π].

#� �	�� ��� �
������ H	9�	�� ��	������ �� �'�	�
�� @7*/.A�@3.19aA@��@3.19bAA 	��

���	
� ��� �����%��� �'�	�
��

zṽj =
1

2
(κ2 + κ)ṽj−1 + (1 − κ2)ṽj +

1

2
(κ2 − κ)ṽj+1, @7*��A

	�� ��� ��	�������� �����	�8 ����
�
���

zṽ0 = ṽ0 − κ(ṽ1 − ṽ0), @3.21aA

z(ṽ0 − 2ṽ1 + ṽ2) = 0. @3.21bA

2��������  ��� ��� ������� �
���� z$ |z| > 1, �
 	� ��#�� 	�
� �� ��
	����


�:�,2�)�3.21a����� 3.21b�� ��

�� ����� ���
�
 	  ����� ṽ = [ṽ0 ṽ1 ...]
T 

�� ��	� (z, ṽ) 
	��
!�
 ��
	����
 �:�,2�)

�3.21a����� 3.21b��$ 	��

,� ‖ṽ‖h <∞.

2��������  �.� ��� ������� �
���� z �
 	 #����	��(�� ��#�� 	�
� �� ��
	����


�:�,2�)�3.21a����� 3.21b�� ��

�� ����� ���
�
 	  ����� ṽ = [ṽ0 ṽ1 ...]
T 

�� ��	� (z, ṽ) 
	��
!�
 ��
	����
 �:�,2�)

�3.21a����� 3.21b��$

,� |z| = 1, 	��

:� ṽk 
	��
!�


ṽk(z) = lim
ω→z,|ω|>1

ṽk(ω),

����� (ω, ṽ(ω)) �
 	 
��
���� �� ��
	���� �:�,2��

&�� ������ ���� K $L 
� �
%�� 
� ��� �����!
�� 9��9��
�
��*

'����
�����  ��0� ��� ��'������ 
����� �:��=�)�3.19a�����3.19b�� �
 
�	��� �� 	��

���� �� ��� ��#�� 	�
� ������� �:�,2�)�3.21a����� 3.21b�� �	
 �� ��#�� 	�
�
 	�� ��

#����	��(�� ��#�� 	�
�
�
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5
�����  ���� ��� 	�������	���� �:��=� �� ������	���� ���� ��� �� ��� ��
��	��

���������
 �3.19a� �� �3.19b� �
 
�	��� ��� −1 ≤ κ < 0.

&� 9��%� ��
� ������� !� 	99�8 )��9��
�
�� 7*/� 	�� ��� :��� 9	�� �� ��� �����!
��

����	� !�
�� �����
��� ��� ���� �� ��� ��	�	����
��
� �'�	�
�� �� @7*��A

zk = k +
κ

2
(k2 − 1) +

κ2

2
(k − 1)2. @7*��A

)����  ���� K$0L ����� ���
�
 	 δ > 0, 

�� ��	� ��� ��� ����
 k1, k2 �� �:�,,� ���

��������# �
���	��
 ����

�� "� κ < 0$ ����

|k1| ≤ 1 − δ, for |z| ≥ 1,

|k2| > 1, for |z| ≥ 1, z �= 1,

k2 = 1, for z = 1.

,� "� κ > 0, ����

|k1| < 1, for |z| ≥ 1, z �= 1,

k1 = 1, for z = 1,

|k2| ≥ 1 + δ, for |z| ≥ 1.

5����� [�� &������ 7*//] &� ���%� ��� �
<������ �'�	�
�� @7*��A�@3.21bA ��� |z| > 1,

!� ���� ��	� ��� �����	� �����
�� �� @7*��A ������
�� �� l2(x) �	� ��� ����

ṽj = kj
1ϕ1,

!���� k1 
� ��� @��	����A ���� �� ��� ��	�	����
��
� �'�	�
�� @7*��A* #� 
����� ��
�

�����
�� 
��� ��� ����
�
�� @3.21bA 	�� ���	
�

ϕ1(k1 − 1)2 = 0.

5��� 	�����
�� �� ��� 9��%
��� ����	� |k1 − 1| ≥ δ. B����� �'�	�
��� @7*��A�@3.21bA

�	%� �� �
���%	����*

&� ������
�� !������ z = 1 
� 	 �����	�
��� �
���%	��� �� @7*��A�@3.21bA� !� �����
�

���� z = 1 
��� �'�	�
�� @7*��A 	�� ���	
�

k =
κ2 ± |κ|
κ2 − κ

=

⎧⎨
⎩

1 =: k2

κ2 + κ

κ2 − κ
=: k1.
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��� ��
� ������� k1 
� ��� ����%	��� �
��� |k1| =

∣∣∣∣κ2 + κ

κ2 − κ

∣∣∣∣ < 1 @ ��� −1 ≤ κ < 0A� 	��

����� k1 !
�� ��� �	�
��8 �'�	�
�� @3.21bA*

#� ���
�� ��	� ��� |z| > 1, k2 !
�� �	�
��8 |k2| > 1. &�
� 
� ��� �	�� ���	��� k1 
�

���	��8 
��
�� ��� �
���� |z| = 1, �� k2 ���� �� ����
�� ��	� �
����* E
��� |z| = 1 
�

	����
	��� !
�� k2, ��� �����
�� 	� |z| = 1, ���� ��� �	�
��8 ����
�
�� 7 �� ��:�
�
��

7*0* &���� z = 1 
� ��� 	 �����	�
��� �
���%	���� 	�� ��� �
<������ ������ @7*/.A�

@3.19bA 
� ��	���*

#� ��9�	�
�� ��	� !� �	%� 	���	�8 	������ ��	� ��� �
<������ ������ 
� ��	��� 	�

	� 
�
�
	� %	��� 9������ ������* B����� ��� ��	�
�
�8 9��%�� ���� !
�� �� ����
�
��	�

��	�
�
�8 !
�� ����
�
�� −1 ≤ κ < 0.

3���
���
�� ��� �	�� @3.19aA� !� �����
����

ṽj = kj
1ϕ1, |k1| ≤ 1 − δ,


��� �����	�8 ����
�
�� @3.19aA

ϕ1(z − 1 + κk1 − κ) = 0.

��� −1 ≤ κ < 0 @��� ��	�
�
�8 ����
�
�� ��� ��� 3	���8 9������A 	�� |z| ≥ 1, !�

�	%�

|z − 1 + κk1 − κ| >

∣∣∣∣1 + k1
κ

z − 1 − κ

∣∣∣∣
≥ 1 − k1

∣∣∣∣ κ

1 + κ− z

∣∣∣∣
≥ 1 + (δ − 1)

∣∣∣∣ κ

1 + κ− z

∣∣∣∣ ≥ δ.

�� �����!� ��	� @7*��A�@3.21aA �	� �� �
���%	����*

(�	����� �� ��� ���9��	�
��� ���� 
� ��� :��� 9	��� !� ���! ��	� z = 1 
� ��� 	

�����	�
��� �
���%	��� �� @7*��A�@3.21aA *

$�$ ��������
 �����

�� ��� �����!
�� �����
�	� �C9��
����� !� ���9	�� ��� 9������	��� �� ��� (53�

	�� ��� �53�� 	� !��� 	� ��� �����
�	� 	99��C
�	�
�� !
�� �53� ��� �
<�����

��	�
�� �	��
���*
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(
(
) &"���
� )

3���
��� ��� �
��	� �89�����
� �8����(
u

v

)
t

+

(
1 0

0 −1

)(
u

v

)
x

+

(
1 1
3
4

1

)(
u

v

)
=

(
f(x)

g(x)

)
, x ∈ IR, @3.23aA

u(x, 0) = u0(x), v(x, 0) = v0(x), @3.23bA

!���� u0, v0, f 	�� g �	%� ���9	�� ��99��� 
� (0, 1)*

&�� ������9���
�� ���	�8 �'�	�
�� �� IR 
� �
%�� �8(
u

v

)
x

+

(
1 1

−3
4

−1

)(
u

v

)
=

(
f

−g

)
, x ∈ IR, @3.24aA

!
�� ��� ���	8 ����
�
��

u, v → 0, x→ ±∞. @3.24bA

&�� ���� 	�� :��� ����� (53� ��� ��� �����
��
�� �� ��� 
����%	� 0 ≤ x ≤ 1 	���

���9���
%��8

u = 0, x = 0, @3.25aA

v = 0, x = 1, @3.25bA

	��

ut + v/2 = 0, x = 0, @3.26aA

vt + 3u/8 = 0, x = 1. @3.26bA

&�� �	��
C

S =

(
a 2a/3

b 2b

)
, 0 �= a, b ∈ IR,

��	������� ��� ���	�8 ��	�� 9������ @3.24aA �� ��� �
	���	� ����* �
	���	�
�� Λ−1C

SΛ−1CS−1 =

(
1/2 0

0 −1/2

)
. @7*�
A

��� ��� ���	8 ����
�
�� �� �� %	�
� !� ����

u+ 2v/3 = 0, x = 0, @3.28aA

u+ 2v = 0, x = 1. @3.28bA
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&�� :��� ����� �53� ����
�� (53� @7*�,A 	�� ��� ���	�8 �����	�8 ����
�
���

@7*�.A� 
� 	�	����� �� @�*/
A�

ut + a(u+ 2v/3) = 0, x = 0, @3.29aA

vt + b(u+ 2v) = 0, x = 1. @3.29bA

&�� :�
�� �
<������ ������ 
��������� 
� ��� :��� ����
�� 
� ���� 
� ��� �����!
��

�����
�	� �����*

@
A 3���
��� @7*�7A !
�� ���� 
�
�
	� ����
�
��� f = 0, 	��

g(x) =

{
cos2(π(x− 0.5)/0.9), x ∈ (0.05, 0.95),

0, elsewhere,

�������� !
�� �	�� �� ��� �����	�8 ����
�
��� @7*�,A 	�� @7*�0A* &�� ���%���

����� 	� t → ∞ �� ��� �����
�� �� ��� ������
�� �5R) �� ��� �����
�� �� ���

���	�8 ��������� 9������ �	� ���� ������ @h = 0.0005, r = k/h = 0.9A* &��

���	�8 ��	�� �����
�� @7*�-A 
� �
%�� 
� �
���� 7*/ 	�� ��� ���%������� �� ��
�

�����
�� 
� �����
��� 
� �
����� 7*� 	�� 7*7*

−15 −10 −5 0 5 10 15
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u component 
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0.15
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x

v component 

�
���� 7*/1 ������ ����� ��	
���� �
 �������

�
���� 7*� ���!�� !
�� �
<����� ���
��� �� a 	�� b� ��	� ��� �����
�� �� @7*�7A

!
�� ��� ��! �����	�8 ����
�
��� @7*�0A ���%����� 
� (0, 1) �� ��� �����
�� ��

��� ���	�8 ��������� 9������* �
���� 7*7 ���!� ��	� ��
� 
� ��� ���� ��� ���

:��� ����� �����	�8 ����
�
��� @7*�,A*

@

A $�
�� �'�	�
�� @�*��A� ��� �9�
�	� ���
��� �� a 	�� b 	��

a =
λ2c12
λ2 − λ1

1

s12
=

3

4
, b =

λ1c21
λ1 − λ2

1

s21
=

3

8
,
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 a=0.65

 a=0.75

 a=0.8

 b=2/8

 b=3/8

 b=7/16

�
���� 7*�1 L2(0, 1)−����� ������� ��� ��	
���� ���� ��
����� ��������� ������ ��� ��� ������
����� ��	
�����
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�
���� 7*71 L2(0, 1)−����� ������� ��� ��	
���� ���� ��
����� ��������� ������ ��� ��� ������
����� ��	
�����

	�� ��� �53� @3.29aA ������

ut +
3

4
(u+ 2v/3) = 0, x = 0, @3.30aA

vt +
3

8
(u+ 2v) = 0, x = 1. @3.30bA

�� ��
� ���� !� ���! ��	� ��
� ���
��� 	���� ����� 	��
��	�8 ���
���� 
�9��%�

��� 	99��C
�	�
�� ��� ����� �
�� ���9��	�
���* &�� ���%������� �� ���	�8

��	�� 
� ������� ��� 	��
��	�8 �������� �����	��� a 	�� b, 
� 9	�� @
A* &���������

��� ����� �
�� ���9	�
���� 
� 
� ��	���	��� �� ����
��� f(x) = g(x) = 0.

E
��� 	� 	�8�9���
� 	99��C
�	�
�� 
� ���� �� ���	�
�� ��� �C	�� ������	�
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�����	�8 ����
�
���� !� ����
��� 	 �
���8����
��	���8 
�
�
	� �	�	 @�*
A*

u(x, 0) = v(x, 0) =

{
cos2(2π(x− 0.5)) sin(2πpx), x ∈ (0.25, 0.75),

0, elsewhere,

@7*7/A

&�� �	��� p = 10, 20 	�� �����
��� 
� �
���� 7*-*

0.3 0.4 0.5 0.6 0.7

−1

−0.5

0

0.5

1

x
0.3 0.4 0.5 0.6 0.7

−1

−0.5

0

0.5

1

x

�
���� 7*-1 ������	 ��	
�� ������� ��
�� p = 10�  �!��� p = 20.

&�� ����� ���!��� ��� �C	�� �����
�� 	�� ��� �����
�� !
�� ��� �����	�8

����
�
�� @7*�0A ��� �
<����� %	���� �� a 	�� b �	� ���� ������* &�� 	�������

������ �� ��� 
�;�! �	�	 @u 	� x = 0 	�� v 	� x = 1A 	�� ��� L2(0, 1)������

	�� ����
�����* &�� ���9 �
�� 
� ������ ��	�� @h = 0.0005A 
� ����� �� ���
�	��

0 0.5 1 1.5
0
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6

8
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−4

time

Absolute error of u at x=0

0 0.5 1 1.5
0

1

x 10
−4

time

L2−error of u on [0,1]

a=0.65
a=0.75
a=0.8

a=0.65
a=0.75
a=0.8

�
���� 7*61 "�#$������ �
 ��� ����� ������� ��� �%��� ��	
���� u ��� ��� ��	
���� ���� ��
�����

���������� ������ 
�� ��&����� ��	
�� �
 a.

��� ������ ��� �� ��� �����	�8 ����
�
��� 	�� ��� ��� �
�����
�	�
�� ������* ��
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�	�� p = 10� �
����� 7*6�7*, ���	��8 ���! ��	� ��� ���
��� �� a 	�� b �
%� ���

�
�
��� �����* &�� �	�� ������ ����� ��� ��� �	�� p = 20.

0 0.5 1 1.5
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1

1.5
x 10

−3

time

absolute error of v at x=1

0 0.5 1 1.5
0

1
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4
x 10

−4

time

L2−error of v on [0,1]

b=2/8
b=3/8
b=7/16

b=2/8
b=3/8
b=7/16

�
���� 7*,1 "�#$������ �
 ��� ����� ������� ��� �%��� ��	
���� v ��� ��� ��	
���� ���� ��
�����

���������� ������ 
�� ��&����� ��	
� �
 b.

@


A �� ��
� �C	�9��� !� ���� ��� ��9������� �� ��� �����	�8 ����
�
�� �� ���


�
�
	� ���'����8* #� ����
��� ��� �8���� @7*�7A� �����	�8 ����
�
��� @7*7�A�

	�� ��� 
�
�
	� �	�	 @7*7/A* �� ��� �	�� p = 10� �
���� 7*
 ���9	��� ��� 	�������

����� �� 
�;�! �	�	 ��� �
<����� ��:������� �� ��� �9	�� ���9 �
�� h. �
�����

7*.�7*0 ���! ��� �	�� ���9	�
��� ��� ��� ��� �	�� p = 20.
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h=0.00025
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�
���� 7*
1 "�#$������ �
 ������ ������� ��� �%��� ��	
���� ��� ��� ��	
���� ���� ��� ��
�����
���������� ����'� 
�� ��&����� h( p = 10.

&	���� 7*/�7*� �
�� ��� �	C
�	� 	������� ������ 	� ��� 
�;�! �	�	� ��� �	����

���! ��	� 	� h 
� ����
�� ��	���� ��� ����� 
� ������� ���!��* (� 	 ������ ���
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�
���� 7*.1 "�#$������ �
 ������ ������� ��� �%��� ��	
���� ��� ��� ��	
���� ���� ��� ��
�����
���������� ����'� 
�� ��&����� h( p = 20.
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absolute error of v at x=1

�
���� 7*01 "�#$������ �
 ������ ������� ��� �%��� ��	
���� ��� ��� ��	
���� ���� ��� ��
�����
���������� ����'� 
�� h = 0.0001 ��� p = 20.

�	�� ��! �� ��� �!� �	���� 	�� ���� 	99��C
�	�
��� �� ��� ������ ��� �� ���

�����	�8 ����
�
��� @7*7�A* &�� �	C
�	� 	������� ����� ��� ��� �	�� p = 10 ��

u 	� x = 0 	�� v 	� x = 1 	�� 2.5702·10−5 	�� 1.9215·10−5, ���9���
%��8* �� ���

�	�� �� p = 20, ���8 	�� ������� �� 5.5009 ·10−6 	�� 4.1164 ·10−6, ���9���
%��8*

&�
� ���!� ��	� !
�� �
���8 ���
��	�
�� 
�
�
	� �	�	 ��� ������ ������ ��	�����

!�
�� 	����� !
�� ��� 	99��C
�	�
�� �� ��� ������	� �C	�� �����	�8 ����
�
��

@�*
A !
�� 	�8�9���
� �C9	��
��*
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h u 	� x = 0, (·10−5) v 	� x = 1, (·10−5)

�*��/ �*600
 /*0-70

�*���6 �*6
/7 /*0��


�*����6 �*6
�� /*0�/6

&	��� 7*/1 )�%�#�	 ����	
�� �����( p = 10�

h u 	� x = 0, (·10−6) v 	� x = 1, (·10−6)

�*��/ //*�
0 .*�00


�*���6 ,*�6�6 -*6�00

�*����6 6*670- -*/-6�

�*���/ 6*6��0 -*//,-

&	��� 7*�1 )�%�#�	 ����	
�� �����( p = 20�

���6��,���� �� �
� 
���	� 
����

$�
�� ��� H	9�	�� ��	������ 	99��	��� !� !	�� �� 9��%� ��� ���%������� �� ���

�5R) 
� �C	�9�� ��� �� ��� ���	�8 ��	�� �����
��*  	���8� !� ����
���(
u

v

)
t

+

(
1 0

0 −1

)(
u

v

)
x

+

(
1 1
3
4

1

)(
u

v

)
=

(
f(x)

g(x)

)
, 0 < x < 1, @3.32aA

u(x, 0) = u0(x), v(x, 0) = v0(x), @3.32bA

!
�� ��� :��� ����� �53�

ut +
3

4
(u+ 2v/3) = 0, x = 0, @3.32cA

vt +
3

8
(u+ 2v) = 0, x = 1, @3.32dA

&�� ������9���
�� ���	�8 ��	�� �'�	�
�� �� (0, 1)(
u∗

v∗

)
x

+

(
1 1

−3
4

−1

)(
u∗

v∗

)
=

(
f(x)

−g(x)

)
, 0 < x < 1, @3.33aA

	�� ��� ��	��9	���� �����	�8 ����
�
���

u∗ + 2v∗/3 = 0, x = 0, @3.33bA

u∗ + 2v∗ = 0, x = 1. @3.33cA
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��:�� v 	�

v(x, t) =

(
v1

v2

)
:=

(
u− u∗

v − v∗

)
.

&���� v �	�
�:��(
v1

v2

)
t

+

(
1 0

0 −1

)(
v1

v2

)
x

+

(
1 1
3
4

1

)(
v1

v2

)
= 0, 0 < x < 1, @3.34aA

v(x, 0) = v0(x) =

(
v0
1(x)

v0
2(x)

)
=

(
u0(x) − u∗(x)

v0(x) − v∗(x)

)
@3.34bA

v1,t +
3

4
v1 +

1

2
v2 = 0, x = 0, @3.34cA

v2,t +
3

8
v1 +

3

4
v2 = 0, x = 1. @3.34dA

#� !�
��

ṽ(x, s) =

∫ ∞

0

e−stv(x, t)dt, s = α + iτ τ, α ∈ IR, α > 0,

�� ������ H	9�	�� ��	������ 
� t. &	�
�� ��� H	9�	�� ��	������ �� @7*7-A� !� ���	
�(
ṽ1

ṽ2

)
x

=

(
−(1 + s) −1

3
4

1 + s

)(
ṽ1

ṽ2

)
+

(
v0
1(x)

−v0
2(x)

)
, 0 < x < 1, @3.35aA

sṽ1 +
3

4
ṽ1 +

1

2
ṽ2 = v0

1(0), x = 0, @3.35bA

sṽ2 +
3

8
ṽ1 +

3

4
ṽ2 = v0

2(1), x = 1. @3.35cA

E
��� 
s > 0, @3.35aA �	� ��� �!� �
���%	����� η 	�� −η, !����

η =
√

(1 + s)2 − 3/4,

	�� 
η > 0.

&�� �
���%������ �� η,−η ��	� ���9���
%��8
(

−1

η + s+ 1

)
,

(
1

η − s− 1

)
.

&�� �����
�� �� @7*76A 
� !�
���� 	� 	 ��� �� ����������� 	�� 9	��
���	� �����
���(
ṽ1

ṽ2

)
=

(
ṽ1

ṽ2

)
h

+

(
ṽ1

ṽ2

)
p

, @7*7,A
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!���� (
ṽ1

ṽ2

)
h

= σ1

(
−1

η + s+ 1

)
eηx + σ2

(
1

η − s− 1

)
e−ηx, @7*7
A

	�� vp(x, s) =

(
ṽ1

ṽ2

)
p


� 	�8 9	��
���	� �����
��*

$�
�� %	�
	�
�� �� 9	�	������� vp �	� �� ����� 	�

vp(x, s) = ψ(x, s)

∫ x

0

ψ−1(y, s)v0(y)dy,

!����

ψ(x, s) =

⎛
⎜⎝ −eηx e−ηx

(η + s+ 1)eηx (η − s− 1)e−ηx

⎞
⎟⎠ ,


� ��� ����	����	� �����
��* &�
� �	� �� �
�9�
:�� 	�� !�
���� :�	��8 	�

(
ṽ1

ṽ2

)
p

=

∫ x

0

⎛
⎜⎝

v0
1(y)cosh(η(x− y)) − 1

η
((s+ 1)v0

1(y) + v0
2(y))sinh(η(x− y))

v0
2(y)cosh(η(x− y)) + 1

η
(3

4
v0
1(y) + (s+ 1)v0

2(y))sinh(η(x− y))

⎞
⎟⎠ dy@7*7.A

(99�8
�� �����	�8 ����
�
��� @3.35bA�@3.35cA �� @7*7,A �
%��

B(s)

⎛
⎜⎝ σ1

σ2

⎞
⎟⎠ =

⎛
⎜⎝ v0

1(0)

h(s)

⎞
⎟⎠ , @7*70A

!���� B(s) 
� �
%�� �8

B(s) =

⎛
⎜⎝

η − s− 1/2 η + s+ 1/2

[(s+ 3/4)(η + s+ 1) − 3/8] eη [(s+ 3/4)(η − s− 1) + 3/8] e−η

⎞
⎟⎠ ,@7*-�A

	��

h(s) := −(s + 3/4)ṽ2p(1) − 3ṽ1p(1)/4 + v0
1(1).

&�� �'�	�
�� @7*70A �	� 	 ��
'�� �����
�� 
� 	�� ���8 
� ��� ������
�	�� �� B(s) 
�

�������*

������ ��� ������
�	�� �� B(s) �8 dB(s), ����

dB(s) = (4s3 + 10s2 + 6s+ 3/4) sinh(η) + (4s2 + 6s+ 3/2) cosh(η).
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 �!�

dB(s) = 0, @7*-/A

�	� �� �����
�� !
�� 9��
�
%� ��	� 9	�� @�
���� 7*/�A� 	�� 
� �	� ���8 ��	� ���	�
%�

����� @�
���� 7*//A* $�
�� @7*70A !� ���%� ��� σ1, σ2, 	�� �����
���� ��� ������ 
�

−60 0 80
−50

0

50

ℜ d
B
(s)

ℑ
 d

B
(s

)

s=iτ
s=0.2+iτ
.
.
s=0.8+iτ

−600 0 600
−600

0

600

ℜ d
B
(s)

ℑ
 d

B
(s

)

s=1+iτ
.
.
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�
���� 7*/�1 "����
� $	��� �
 dB(s) 
�� 
s ×�s ∈ [0, 1.6]× [−10, 10].

@7*7
A �� ���	
�(
ṽ1

ṽ2

)
=

1

dB(s)

[(
−1

η + s+ 1

)
h1(s)e

η +

(
1

η − s− 1

)
h2(s)e

−η

]
+

(
ṽ1

ṽ2

)
p

@7*-�A

!����

h1(s) := [(s+ 3/4)(η − s− 1) + 3/8]v0
1(0)e−η − (η + s+ 1/2)h(s)],

h2(s) := [−(s + 3/4)(η + s+ 1) + 3/8]v0
1(0)eη − (η − s− 1/2)h(s)],
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	�� ��� 9	��
���	� �����
�� 
� �
%�� �8 @7*7.A*

$�
�� ��� 
�%���
�� ������	�

v(x, t) =
1

2πi

∫ β+i∞

β−i∞
ṽ(x, s)estds,

!���� β 
� �	���� ��	� ��� ��	� 9	�� �� 	�8 9��� �� ��� 
�����	��* &�� 9���� �� ���

:��� 9	�� �� @7*-�A 	�� �
�9�8 ��� ����� �� ��� dB(s), !�
�� 	�� �
�9�� 9���� 	�� �	%�

���	�
%� ��	� 9	��� !�
�� ��� ������ 9	�� �	� �� 9����* (�����
�� �� ��� ���9��C


�%���
�� ������� K��L(
v1

v2

)
=

∑
residues of est

(
ṽ1

ṽ2

)
h

at each of its singularities in C

=
∑
s=si

[(
−1

η + s+ 1

)
h1(s)e

η +

(
1

η − s− 1

)
h2(s)e

−η

]
est

d
′
B(s)

!���� si ∈ IR− @�
���� 7*//A* B����� v ���%����� �� 0 	� t→ ∞.
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�
���� 7*//1 *��$� �
 dB(s), s ∈ IR.
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(
(
* &"���
� *

3���
��� @3.1aA 
� IR !
��

u =

⎛
⎜⎝

u1

u2

u3

⎞
⎟⎠ , Λ =

⎛
⎜⎝

1 0 0

0 0.2 0

0 0 −0.8

⎞
⎟⎠ , C =

⎛
⎜⎝

0.2 0 1

0 0.4 2

−1 −2 1

⎞
⎟⎠ , @7*-7A

	�� f(x, t) = (f1(x), f1(x), f1(x))
T , !����

f1(x) =

{
10 exp(−100(2x− 1)2), x ∈ (0.25, 0.75),

0, elsewhere.
@7*--A

&�� 
�
�
	� �����
�� 
� �
%�� �8 @�
���� 7*/�A

u0(x) =

{
cos(π(x− 0.5)/0.9), x ∈ (0.05, 0.95),

0, elsewhere.
@7*-6A

�� ��� :��� 9	�� �� ��
� �C	�9�� !� ���9	�� ��� 9������	��� �� ��� �53� 	��
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0.4

0.6

0.8

1
Initial condition 

x
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0

2

4

6

8

10
F(x)

x

�
���� 7*/�1 ��
�� ������	 ��������� ����+��  �!��� ,�����! 

������ �������

(53� ��� ���� �
�� ���9��	�
���* &�� :��� ����� (53� ��� ��� �����
��
�� �� ���


����%	� 0 ≤ x ≤ 1 	��

u1,t + 0.444u3,t = 0, x = 0, @3.46aA

u2,t + 1.6u3,t = 0, x = 0, @3.46bA

u3,t − 0.5556u1,t − 0.4u2,t = 0, x = 1, @3.46cA
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�

!�
�� ��� :��� ����� �53� ��	�

u+
t + V +(S++u+ + S+−u−) = 0, x = 0, @3.47aA

u−t + V −(S−+u+ + S−−u−) = 0, x = 1. @3.47bA

&�� �	��
C S, !�
�� �
	���	�
��� Λ−1C� 
� �
%�� �8

S =

⎛
⎜⎝ −0.2287 −0.6791 −1.0083

1.0522 −0.0952 0.0656

−0.2690 −0.4004 1.1275

⎞
⎟⎠ .

&�� ��	�
�� �	��
���

V + =

(
a b

c d

)
, V − = e

	�� ������ 	� 	 �����	� �����
�� �� V +S+− = X+−
1 	�� V −S−+ = X−+

1 , ���9���
%��8*

�����!
�� ��� 9�������� 9�������� 
� E���
�� /*�� !� �	��

V ∗+ =

(
−0.4389 0.0285

−1.5801 0.1028

)
, V ∗− = 1.3306.

&�� ���9�
��� 	�� ������ ��	�� 
� ����� �� ��� ��� ������ ��� �� �
<����� �����	�8

����
�
��� 	�� ��� ��� �
�����
�	�
�� ������ @h = 0.0005, k = 0.0004A* �� 
� ���	� ��	�

��� 3�H�����
�
��� maxj=1,2,3 |rλj| < 1, 
� �	�
�:��*

&�� ���	�8 ��	�� �����
�� 
� �
%�� 
� �
���� 7*/7�J
��� 	�� ��� ���%������� �� ��
�

�����
�� 	� t → ∞ 
� (0, 1) 
� �����
��� 
� �
���� 7*/-* �� �
����� 7*/6�7*/
 ���

�����
��� !
�� �53� ��� �
<����� ���
��� �� ��� ��	�
�� �	��
��� 	�� ���9	��� ��

��� �C	�� �����
�� �%�� (−∞,∞)* &�� 9���� ���! ��	� ��� �53� !
�� ��� 9��9����

�9�
�	� ���
��� �� V +, V − �
%� ��� ���� 	99��C
�	�� �����
��� 
� ��� ��	��
��� 9�	��

�� ��� �C	�� �����
�� 
� ��� ��������� ���	
�*

&	���� 7*7�7*6 �
�� ��� �	C
�	� 	������� ������ 	� ��� 
�;�! �	�	 @u1, u2 	� x = 0

	�� u3 	� x = 1A* (� !��� 	� ��� L2(0, 1)−����� ���!��� �C	�� �����
�� 	�� ���
�����
�� !
�� ��� �����	�8 ����
�
�� @7*�0A ��� �
<����� %	���� �� a, b, c, d, 	�� e*

&�� �����
�	� ������� �
%� '�	��
�	�
%� �%
����� ��	� ��� �53� 	�� ������ ��� ����

����� 	�� ���� �
���*
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a, b 	��* ����� 	� x = 0 L2(0, 1)−�����
−0.2, 0 �*�.�- �*�6-.

−0.8, 0.2 �*�.�0 �*�6�,

a∗, b∗ �*�7/. �*��07

&	��� 7*71 )�%�#
# ������ �
� �� ��� -��� ����� ,."� �
 u1 
�� ��&����� ������� �
 a ��� b( ���

�	�� ,�!
�� ���+�

c, d 	��* ����� 	� x = 0 L2(0, 1)−�����
−1, 0 �*���. �*�,,-

−2.5, 0.5 �*/7/� �*�-7�

c∗, d∗ �*/�77 �*�-�.

&	��� 7*-1 )�%�#
# ������ �
 u2 �
� �� ��� -��� ����� ,."� 
�� ��&����� ������� �
 c ��� d( ���

�	�� ,�!
�� �����

e 	��* ����� 	� x = 1 L2(0, 1)−�����
1 �*/�.� �*�-�/

2.5 �*�0-7 �*�-,.

e∗ �*�.
6 �*�7--

&	��� 7*61 )�%�#
# ������ �
� �� ��� -��� ����� ,."� �
 u3 
�� ��&����� ������� �
 e( ��� �	��

,�!
�� ���/�
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�
���� 7*/-1 "�����!���� �� ��� ������ ����� ��	
���� �� t → ∞ �� (0, 1).
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�
���� 7*/61 "�#$������ �
 ��� ������ ������� ��� �%��� ��	
���� �
 u1 ��� ��� ��	
���� ����

,."� 
�� ��&����� ������� �
 a ��� b�
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�
���� 7*/,1 "�#$������ �
 ��� ������ ������� ��� �%��� ��	
���� �
 u2 ��� ��� ��	
���� ����

,."� 
�� ��&����� ������� �
 c ��� d�
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1 "�#$������ �
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���� ���� ,."�
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� 	 ������ 9�	��
�� �� ��� 	�����
�� �����	�8 ����
�
��� @(53�A ��

�
�
� ��� ���9��	�
��	� ���	
� �� 	 :�
�� ���
��* (� 	99��9�
	�� (53 ������ �	%�

��� �����!
�� ����� ��	�����1 �� ������ ��:�� �������� !
�� ��� 
����
�� �
<�����
	�

�'�	�
�� 	 !����9���� @
�
�
	� �����	�8 %	���A 9������* ��� �����
�� ������ �� 	

>��	���	��8 	����	��? 	99��C
�	�
�� �� ��� ��
�
�	� !���� �9	�� �����
��* H	���8� 	�

(53 ������ 	���! ��� 	� �I�
��� �����
�	� 
�9������	�
��*

���� (53� 
� ��� �
���	���� �	� �� ��	��
:�� 
��� )����	��� 	�� �	���
	���	���*

)����	��� (53� 	�� 
�9���� �� ���� �9��
:� 	��
:�
	� �����	�8* ��� !	%���
��

�'�	�
���� ���8 	�� ���	
��� �8 �	����
�
�� ��� ��%���
�� �'�	�
�� 
��� 
����
��

	�� �����
�� ������ !�
�� >�
�
�
�
��? ��;���
��� �� ��� �����
�� !	%��* &�� ��	��

��� 	�� �������� �� K*�1 �01  �1 + 1 +L ��� ���	
��� ��%
�!�* �	���
	���	��� (53�

�����! 	 �
<����� 9�
����9�8* �����	� �� ��
�� 	��
:�
	� �����	�
�� �� �
�
� ��� ����

9��	�
��	� ���	
�� ���8 ��� 	 ����8 ���
�� ��������
�� ��� 9�8�
�	��8 
�������
��

9	�� �� ��� ���	
� �� 	��
�
�	�� @�� 	� ��	�� �	�9A ��� �����
�� !	%�� K��L*

R��8 ������ ������� �	��� �� ��� 9������
<�����
	� �9��	��� �����8 	�� ���� ��

���
�� 	99��C
�	�� )����	��� (53�* ���'�
�� 	�� �	N�	 K��L !��� ��� :��� ��

	99�8 ��
� �����
'�� �� ��� �����
�	� �
���	�
�� �� !	%��* ���� ������ 	99��	����


� ��
� �
����
�� 
������ K* 1 *�L �8 E������* &����� �� ���
%�� 	 �
��	���8 �� ���	�

(53� ��� ���
�
��	� !	%� �'�	�
��� 	�� ����
��	� E���F�
���� �'�	�
��� �	��� ��

��� 9������
<�����
	� 	�� 9	�	�
<�����
	� �	������*

�	���
	���	��� (53� �	%� ���� ���� �� ��	� !
�� !	%� 9������� ��� ����� ���	���*

�� �	��8 %���
���� �
��
9	�
%� �� �	�9
�� ����� !��� 	���� 
��� ��� ��%���
�� �'�	�

�
��� K+�1 +.L �� ���� 	� 	�����
�� �	8��* H	���� 9����8 �����
�	� ��	�� �	%� ����

���� �� 	��
�%� ��� 	�����	�
�� �� !	%��* J	
 	�� ���
� K$.L� 3����
�� �� 	�� K�.L

���	��� 	 �9���� �	8�� �8 ��� ��
� �������
�� �����
'��* B� 	�� (��
�� K+$L 9�
����

��� ��	� ��� �������
�� �	� �� �� 9�������� ��	��	��8� �����!
�� �
��
:�	�� ��;���

�
�� �	� �� 
������* �� /00-� 5O������ K� L 9��9���� �
� �	���� 9�������8 �	�����

�	8�� @)�HA ��� ���9��	�
��	� ��������	����
��* &�� 	�%	��	�� �� ��� )�H �
�� 
�

��� �	�� ��	� ��� 	�����
�� �	8�� 
� �������
�	��8 ��;���
������ ��� ����
��
����
��	�

�
��	� !	%�� �� 	�8 	���� 	�� 	�8 ���'����8* (� 	 ������� ��� ���� �� ��� )�H 
�

���	��8 ��
� ���9	��� !
�� ��	� �� ����� 	�����
�� �	8�� �����
'���*

&�� ��
�
�	� )�H �����
'�� �� 5O������ !	� �	��� �� ��� �9�
� 9�8�
�	� %	�
	����

��	� !	� ���!� �� �� ���8 !�	��8 !����9���� K�L* H	��� ����
�� ��%�	��� ��	� ���

)�H �	� �� ����
����� 	� 	 �����
�	�� �������
�� ���� ��� ��	� �9	�� �� ��� ���9��C

9�	�� K�+1 *.1 �$1 �*L 	�� 	 !����9���� ���9�
� )�H �	� �� 	��
�%��* �C����
%�
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!��� �� ��� 	99�
�	�
��� �� ��� )�H �����
'�� �	� ���� ����� ��!�%��� ���8 ������

����
�� �C������ 
� �� ���� ����
��	� 9�������* ��� �C	�9��� B� K++L 	99�
�� ��
�

�����
'�� ��� ��� ����
��	� ����� �'�	�
���� 	��  	%�� �� 	�� K$$L ��� ��� ����
��	�

��	���! !	��� �'�	�
���*

�� ��
� 9	9��� !� ��	�� 	99�8 ��� )�H �����
'�� �� ��� ����
��	� D��
��������

@D�A �'�	�
�� �� ��� ����

utt = c2Δu− ϕ(u, ut,∇u), @-*/A

!���� ϕ 
� 	 �
%�� ��	�	� �����
��* &�
� �'�	�
�� �	� �	�8 	99�
�	�
��� 
� ��
����

	�� ���
����
��* &�� �
��	� D� �'�	�
�� 9�	8� 	 ����	����	� ���� 
� '�	���� :���

�����8 K�0L� 	�� 
� ������ ��� ���
�� �� 	 �	��
%� �9
����� 9	��
��� 
� ��� ���	�
%
��
�

���
��* �� ��� ����8 �� ���
���������� ��%
���� ��� �
��������� �'�	�
�� @
*�* @-*/A

!
�� ϕ := sin uA 
� �������8 ���� �� ����� ��� 9��9	�	�
�� �� ;�C��� 
� 2���9����

N����
���* ������������ 
� 
� ���� �� ����8 ��� ���
�� �� �
�
� 9�����	 	��	���� ��

	 ��������� !
�� 	�� �
����	�
��� 
� ��8��	�� K�01 ��L* #����9�������� �� ��� 3	���8

9������ ��� ��� ����
��	� D� �'�	�
�� !	� ����
�� 
� K$+L*

��� ��� �
��	� D� �'�	�
��� �
%��
 	�� )	��	������ K  L ���
���� 	 ���
�� �� �
���

����� ���	� (53�* H	���� �
%��
 	��  ��	 K �L ���
:�� ����� (53� 
��� 	 ���� !
��

���8 ��!������ ���
%	�
%�� �8 
�������
�� 	�C
�
	�8 �����!� �����
���* 4	�
� 	��

����	�
 K��L 	99�
�� ���
� ����
���� ��	��
�� (53 �� ��
� 9������* $�
�� ���� �9��

�
	� 9	��
�� ��������� ���8 ������� ��� ��;���
�� �� �%	������� !	%�� �
��
:�	���8*

��� ��� �����
����
��	� �
��������� �'�	�
��� 4���� K��L ��%
��� ��� �����	�
���

�
�
��������� ���	�� �	99
�� 9��9���� �8 ���	� K�*L 	�� ���
���� 	 ��
�	��� ���

���
�	� ������* &�
� 	99��	�� ���� 
�%���� ��	����
�� �����8 	�� 
� ���
�� �� ��� ����


�����	�
�
�8 �� ��� �
��������� �'�	�
��* B����� ��� �C����
�� �� ��
� �����
'�� ��

�
���� �
����
��� 	�� ����� ����
��	� D� �'�	�
��� ����� 
�9���
���*

&�� �	
� ��	� �� ��
� 9	9�� 
� �� 	99�8 ��� )�H 	99��	�� �� ��� ����
��	� D�

�'�	�
��* &� ��
� ��� @-*/A 
� :��� �
��	�
��� 	�� ��	�������� 
��� 	 �89�����
� �8��

��� !
�� 	 �
��	� �	�9
�� ����* &�� ��	��	�� )�H �����
'�� 
� ���� ���� ���

��
� �
��	�
��� �8����* ( ����
��	� )�H �8���� 
� ���� ���	
��� �8 ��9�	�
�� ���

�	�9
�� ���� 
� ��� )�H ������	�
�� !
�� 
�� ��
�
�	� ����
��	� �������9	��*

&�
� 9	9�� 
� ���	�
��� 	� �����!�1 �� E���
�� � !� 
������	�� ��� )�H ��� ��� ����

�
����
��	� D� �'�	�
��� ���� ��� �
��	� 	�� ����
��	� �	���* �� E���
�� 7 !� �C����

��
� �����
'�� �� �
���� �
����
��	� �	���* (� 
�9�
�
���C9�
�
� ������ 
� ���� ���

���%
�� ��� ����
��	� )�H �8���� 
� E���
�� -* �� E���
�� -*6 !� 9������ ����
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#� ��	�� !
�� 	 �
��	� D� �'�	�
�� �� ��� ����

utt = c2uxx − Lu, x > 0, t > 0, @-*�A

u(0, t) = B(t), u(x, 0) = u0(x), ut(x, 0) = u1(x). @-*7A

B���� ��� �����	�� c > 0 
� ��� !	%� �9��� 	�� L ≥ 0 
� ��� �
�9���
�� 9	�	�����*

������� !� 	����� ��	� ��� 
�
�
	� �����
��� u0 ∈ C1[0,∞) 	�� u1 ∈ C[0,∞) 	��

���9	���8 ��99����� 
� [0, a]� !
�� ���� :C�� a > 0* &� 	����� ����
��
�8 �� ���

�����
�� �� @-*�A�@-*7A !� 	����� B ∈ C1[0,∞) 	�� B(0) = 0*

�
��� !� ��	������ @-*�A�@-*7A 
��� 	 �89�����
� �8���� !
�� �	�9
�� ����* H��

v := ux 	�� w := ut* &��� @-*�A�@-*7A 
� �'�
%	���� ��

ut = w, vt = wx, wt = c2vx − Lu, x > 0, t > 0, @-*-A

w(0, t) = B′(t), u(x, 0) = u0(x), v(x, 0) = u′0(x), w(x, 0) = u1(x). @-*6A

58 �	�
�� ��� H	9�	�� ��	������ 
� t �� @-*-A� !� ���	
� �� ��� ���	
� [a,∞)

sû = ŵ, sv̂ = ŵx, sŵ = c2v̂x − Lû, x ≥ a. @-*,A

B���� s ∈ C !
�� 
s > 0 
� ��� ��	� %	�
	��� �� t. ��� �
%�� s� ��� ������� ���	�

�����
�� �� @-*,A 
�

û(x, s) = eλx+st, v̂(x, s) = λ eλx+st, ŵ(x, s) = s eλx+st, x ≥ a, @-*
A

!
�� 	��
��	�8 t ≥ 0 	��

λ := −
+
√
s2 + L

c
.

B���� +
√
z ������� ��� ��	��� �� ��� �'�	�� !
�� 
( +

√
z) > 0.

&�� 
��	 �� ��� )�H ������ 
� �� ��9�	�� @-*-A �8 	� �'�
%	���� !���� �9	�� 9����

���� !���� �����
�� ���	8� ����
�� ��� ���9��	�
��	� ���	
� @
*�* �� [a,∞)A �	����

@
*�* !
�� 	 �
���� �C9�����
	� �	��A ��	� @-*
A* �%����	��8� ��
� ��! 9������ !
��

�� �����< 	� 	 :�
�� �
��	��� 	�� >������? !
�� 	� 	99��9�
	�� �����	�8 ����
�
��

@�
�
������ �*�*A* &�� )�H �	� 	��� �� 
����9����� 	� 	� �C����
�� �� ��� 
���9������



���	��
 �� ����
���� �������� �� ��������
 � �!������� �� "#$ �		
���� .�

��	� �����
�	�� x �� ��� ���9��C 9�	�� K�+1 *.1 �$L* ���� 9���
���8� !� 
��������

��� ���9��C ��	��� �� %	�
	����1

x′ = x′(x) := x+
1

s + α

∫ x

a

σ(r)dr, x ≥ 0, @-*.A

!���� ��� 9�	�� ��
�� 9	�	����� α ≥ 0 	�� ��� 	����9�
�� �����
�� σ ≥ 0 %	�
�� 
�

[0, a]* &���� !� ��:�� ���
:�� ���	� �����
��� 	� ûm(x, s) := û(x′(x), s), v̂m(x, s) :=

v̂(x′(x), s), ŵm(x, s) := ŵ(x′(x), s) ��� x ≥ 0* ��� x ≥ a ���8 ��	�

ûm(x, s) = eλx′+st, v̂m(x, s) = λ eλx′+st, ŵm(x, s) = s eλx′+st. @-*0A

 ��
�� ��	� ��� �
<����� ���	� �����
��� @9	�	����
��� �8 sA ��� ������9���
��

%	�
	��� ��	������	�
��� @-*.A 	�� �
<�����* (�����
�� �� ��� ��	������	�
�� @-*.A�

��� ���
:�� �����
��� ûm� v̂m� ŵm ��
��
�� !
�� û� v̂� ŵ �� ��� x�
����%	� [0, a]*

B�!�%��� 
� [a,∞) �	�� ���9����� 
� ���
:�� �8 ��� �	����

Cf = exp

(
λ

s+ α

∫ x

a

σ(r)dr

)
= exp

(
−

+
√
s2 + L

c(s+ α)

∫ x

a

σ(r)dr

)
,

!
�� 	�9�
����

|Cf | = exp

(
−


(
+
√
s2 + L

c(s+ α)

)∫ x

a

σ(r)dr

)
.

(9	�� ���� ��� 	����9�
�� �����
�� σ� ��� �	�9
�� �	�� �������8 ��9���� �� ���

��	� 9	�� �� μ :=
+√s2+L
s+α

* &� �C9�	
� !�8 �� 
�������� 	 9��
�
%� 9�	�� ��
�� α� !�

��9
�� 
� �
���� -*/ 
μ !��� s ∈ iIR

#� �
%
�� C−
{
±√

L i
}

��� �!� 9	���1 &�� �9�� �
�� ������� (−√

L,
√
L)× i 	��


�� ���9������* ��� 	�8 s 
� ��� :��� 9	��� λ = − +√s2+L
c


� 	 ���	�
%� ��	� ������

	�� ��� ���	� �����
�� @-*
A ��9������� 	� �%	������� !	%�* G� ��� ����� �	��� ���

	�8 s 
� ��� ������ 9	��� λ 
� 9����8 
�	�
�	�8 	�� ��� ���	� �����
�� @-*
A ��9���

����� 	 ��	%��
�� !	%�*  �!� ���9	�� ��� �!� �	��� α = 0 	�� α > 0* #��� α = 0�

!� 	�!	8� �	%� 
μ > 0 ��� ��� ��	%��
�� !	%��� ���� ��� )�H �����
'�� �	� 
�����

�	�9 ��� ���	� �����
��* 5�� ��� ��� �%	������� !	%��� !� �	%� 
μ = 0* �� ��
�

�	��� 	������� ��� ���	� �����
�� 
����� ��9������� 	 ���	8
�� �����
��� ��� )�H

�����
'�� �	���� 
�9��%� ��� ���	8� 	�� ��� ���8 �<��� 
� 	 9�	�� ��	������	�
��

�� ��� ���	� �����
��* �� α > 0� ���� 
μ > 0 ��� ���� ��� ��	%��
�� 	�� �%	�������

!	%��� ��� �
���� -*/*

�
���� -*/ 	��� ���!� ��	� α ���� ��� �� ���	�
%�* G����!
��� ��� ���
:�� ���	�
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s

ℜμ
α=0
α=1
α=−1

�
���� -*/1  ��	 $��� �
 μ 
�� L = 1 ��� s ∈ iIR�

�����
�� ����� �� �C9�����
	��8 
����	�
�� 	� x ���� �� 
�:�
�8* ( �	���	� '����
��

!���� �� ��! �� ����� ��� 9�	�� ��
�� α* �
��� !� ����
�� ��	� ��� �	�9
�� �	����


μ(s;α) → 1 ��� �
�� ���9��	� ���'����8� 
*�* ��� s
i
→ ±∞* B����� 	 �	���	� �9�
��

!���� �� �� �
�
�
�� ‖1−
μ(s;α)‖L2(IRis) !*�*�* α ≥ 0* 5�� �
��� !� 	�� ���
�	���8


��������� 
� ��� �������	� D� �'�	�
��� !� �� ��� ��	���	�� �� ��
� 
���� ����*

&�� �C��9�
��	� �	��� s = ±√
L i 8
��� λ = 0* B����� ��� ���	� �����
�� 
� 
����

9������ �� x 	�� Cf ≡ 1* &���� ��� )�H ������ !���� ��� �� 	��� �� �	�9 ����

!	%��* �� ��� �����
�	� �C	�9�� / @��* T-*6*/A ��
� ������9���� �� ��� ���'����8

ω = 1*

 �C� !� ���� 	 )�� �8���� ��	� 
� �	�
�:�� �8 ��� ���
:�� ���	� �����
��� @-*0A*

$�
�� @-*,A 	��
∂x′

∂x
=
s+ α + σ(x)

s+ α
,

!� �������� ��	� ��� ���
:�� ���	� �����
��� �	�
��8

sûm = ŵm, sv̂m =
s+ α

s+ α + σ(x)
ŵm

x , sŵ
m =

s+ α

s + α+ σ(x)
c2v̂m

x − Lûm �� [a,∞).

@-*/�A

�� ����� �� 	%�
� �
���� ����� �
�� ���
%	�
%�� !��� ��
�� �	�� �� ��� �
�� ���	
��

!� 
�������� ��� 	�C
�
	�8 %	�
	����

p̂m(x, s) :=
ŵm

x (x, s)

s+ α + σ(x)
, q̂m(x, s) :=

c2v̂m
x (x, s)

s+ α + σ(x)
, x ≥ 0.
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&�� �8���� @-*/�A ���� �������

sûm = ŵm, @-*//A

sv̂m = ŵm
x − σ(x)p̂m, @-*/�A

sŵm = c2v̂m
x − Lûm − σ(x)q̂m, @-*/7A

sp̂m = ŵm
x − (α + σ(x))p̂m, @-*/-A

sq̂m = c2v̂m
x − (α+ σ(x))q̂m. @-*/6A

��
�� �	�� �� ��� �
�� ���	
�� !� ���	
� ��� )�H �8���� ��� ��� �
��	� D�

�'�	�
�� @-*�A

um
t = wm, @-*/,A

vm
t = wm

x − σpm, @-*/
A

wm
t = c2vm

x − Lum − σqm, @-*/.A

pm
t = wm

x − (α+ σ)pm, @-*/0A

qm
t = c2vm

x − (α + σ)qm. @-*��A

&�
� �8���� !	� ���
%�� ��� [a,∞)� ��� !� �	� �	���	��8 �C���� 
� @����
�� σ|[0,a] ≡
0, α|[0,a] ≡ 0A �� ��� !���� ��:�
�
�� ���	
� [0,∞) �� ��� ��
�
�	� 9������ @-*�A�

@-*7A* E
��� ��� �8���� @-*/,A�@-*��A �	� ���8 ��� �
��� ��	%��
�� ��	�	����
��
�� ���

���8 �����	�8 ����
�
�� 
� ����

wm(0, t) = B′(t), @-*�/A

	�� ��� 
�
�
	� �����
��� 	��

um(x, 0) = u0(x), v
m(x, 0) = u′0(x), w

m(x, 0) = u1(x), p
m(x, 0) = qm(x, 0) = 0.

@-*��A

&�� �'�	�
��� @-*/,A�@-*��A �����
���� 	 �89�����
� �8���� !
�� �	�9
�� ����* 58

���������
��� ��� �����
�� �� @-*/,A�@-*��A �����
���� �� [0, a] 
� �C	���8 ��� �	�� 	�

��	� �� ��� ��
�
�	� 9������ @-*�A�@-*7A �����
���� �� [0, a]*

 �C� !� ����
��� 	 ���� �����	� �
��	� D� �'�	�
�� �� ��� ����

utt = c2uxx − ϕ(u, ut, ux), x > 0, t > 0, @-*�7A

!���� ϕ(u, ut, ux) := L1u+L2ut+L3ux* &�� �����	��� 	�� 	������ �� �	�
��8 L1 ≥ 0�

L2 ≥ 0� 	�� L3 ∈ IR !�
�� �	��� ϕ 	 �	�9
�� ����* &�� 	��%� )�H ���
%	�
��
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�	� �� �	�� 	�	�������8� ��� !� ��
� ��� ���	
�� ����* &�� ������
�� ���
:�� )�H

�8���� ��	�� ��� x > 0, t > 0 @���99
�� ��� ��9�����
9� mA1

ut = w, @-*�-A

vt = wx − σp, @-*�6A

wt = c2vx − ϕ(u, w, v)− σq, @-*�,A

pt = wx − (α + σ)p, @-*�
A

qt = c2vx − (α + σ)q. @-*�.A

(� ������� α ≥ 0 	�� σ ≥ 0 	�� ��99����� ����
�� ��� ���9��	�
��	� ���	
�� 
*�*

�� [a,∞)*

 ��
�� ��	� 
� ��� ���
:�� )�H �8���� @-*�-A�@-*�.A ��� ��� �����	� �
��	� D�

�'�	�
�� @-*�7A� ��� �	�9
�� ���� ϕ ���8 	99�	�� �
��	��8*

 �C� !� ����
��� ��� D� �'�	�
�� !
�� 	 ����
��	�
�8 ϕ* �� ����� ��� ϕ �� ��

�	�9
��� !� 	����� ��	� 
� �	� �� !�
���� 
� ��� ����

ϕ(u, ut, ux) = L1(u, ut, ux)u+ L2(u, ut, ux)ut + L3(u, ut, ux)ux,

!
�� L1 ≥ 0� L2 ≥ 0� 	�� L3 ∈ IR* #� ���	�� ��	� ��
� ��9������	�
�� �� ϕ 
� ���

��
'��� 	�� ��� %	�
�
�8 �� ��� 	��%� ������	
��� �� Lj �	8 ��9��� �� ��� 9	��
���	�

���
�� �� ��9������	�
��* �	�8 ����
��	� D� �'�	�
��� �� 9�8�
�	� 
������� ������

�� ��
� ��	��* ��� ��� �
��������� �'�	�
�� !
�� ϕ(u) = sin u 	�� L1 = sinu
u
��
�

����� ���� 
� u �
�� 
� ��� 
����%	� [−π, π]. ���� �C	�9��� !
�� �� �
%�� 
� E���
��

-*6*

&� ��������� 	 )�H �8���� ��� ��
� ���
�
��	� �89�����
� �8����� 	 �	���	� 
��	 
�

�� �����
���� ��� ����
��	� �����
�� ϕ 
��� ��� �8���� @-*�-A�@-*�.A* &�
� ���	�����

�� ����
��	� ����� �	� �� ����
����� 	� 	 �9��
	� �
��	�
�	�
��* �� �����	�� �� ���

�
���� �
��	�
�	�
�� @
*�* 
� ��� �'�	�
��A �� ����
��	� ������ 
� 8
����� ��!�%��� 	���

	 ����
��	� �89�����
� �8���� 
� ��� )�H ����* (�� ��� ��� ��
%
	� ���
�� σ ≡ 0

��� ��
�� ����%��� ��� ��
�
�	� ����
��	� D� �'�	�
��� �� [0,∞)* &��������� !� �	�

��	���	��8 �C9��� ��	� ��� ����
��	� )�H �8���� @	� 	 ���	����� �� ��� �9��

�����	�8A 8
���� 	 ������ 	99��C
�	�� �����
�� ��	� ��� �
���� �
��	�
�	�
��* &�
�


� 
������	��� �8 ��� �����
�	� ����� �
%�� 
� E���
�� -*6*
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'�$ -��"����
���
�
 *+ �,�����
�

(� 	�%	��	�� �� )�H �%�� ����� 	�����
�� �����	�8 �����
'��� 
� ��� �	�8 �C����

�
�� �� �
���� �
����
��	� 9�������* �
��� !� ����
��� ��� �����!
�� ����
��	� D�

�'�	�
�� 
� �!� �
����
���

utt = c2(uxx + uyy) − ϕ(u, ut, ux, uy). @-*�0A

#� ����
��� ��
� 9������ �� 	 ���� !
�� ��
���� ����	����	� �	
�� �	8 [0,∞) ×
[−b, b] ⊂ IR2� 	�� ���
%� 	 )�H �8���� ��� ��� �C���
�� ���
�� [a,∞)× [−b, b]* &��
)�H �89�����
� �8���� ��� �'�	�
�� @-*�0A �	� �� ���	
��� �8 	 �
��� ���
:�	�
��

�� ��� �8���� @-*�-A�@-*�.A1

ut = w, @-*7�A

v1,t = wx − σp, @-*7/A

v2,t = wy, @-*7�A

wt = c2v1,x + c2v2,y − ϕ(u, w, v1, v2) − σq, @-*77A

pt = wx − (α + σ)p, @-*7-A

qt = c2v1,x − (α + σ)q. @-*76A

B��� !� 
��������� v1 := ux 	�� v2 := uy* &�� �����	�8 	�� 
�
�
	� �	�	 ��� ���

����
��	� D��
�������� �'�	�
�� @-*�0A 	�� ���� ��	�������� ��� ��� ��! �����!�

�����
��� 
� @-*7�A�@-*76A 
� 	�	���8 �� @-*�/A 	�� @-*��A*

��� �!���
����
��	� �C���
�� 9�������� ��� �����	�
�	�
�� 
� 	��� ���	
������!	���

��� 
� ��
� �	��� ���� 	�C
�
	�8 �����!� �����
��� �	%� �� �� 
���������* ��� �
��

9�
�
�8� !� ���8 ����
��� ��� 3	���8 9������* E�99��� ��� 
�
�
	� �����
��� 	�� ���	��8

��99����� 
� 	 ����	����	� ���	
� [−a, a] × [−b, b]* #� 
�������� �!� 	����9�
��
�����
��� σx = σx(x) 	�� σy = σy(y)* σx %	�
���� �� [−a, a] 	�� σy %	�
���� ��
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[−b, b]* &�� ���
:�� )�H �8���� ���� ��	��

ut = w, @-*7,A

v1,t = wx − σxp1, @-*7
A

v2,t = wy − σyp2, @-*7.A

wt = c2v1,x + c2v2,y − ϕ(u, w, v1, v2) − σxq1 − σyq2, @-*70A

p1,t = wx − (α + σx)p1, @-*-�A

p2,t = wy − (α+ σy)p2, @-*-/A

q1,t = c2v1,x − (α + σx)q1, @-*-�A

q2,t = c2v2,y − (α+ σy)q2. @-*-7A

��
�
	� �����	�8 %	��� 9������� �	� �� ��	�� !
�� 	�	�������8*

'�' ��������
 ������

�� ��� ��	� 
�9������	�
��� ��� )�H ���� �	� �� �� �����	��� 	� ���� x = ã >

a� 	�� 	� 	�C
�
	�8 �����	�8 ����
�
�� 
� ������ �� ��� �C���
�� )�H �����	�8*

G!
�� �� ��� ������ �	�9
�� 9��9���8 �� ��� )�H ����� 	 ����������� �
�
����� ��

 ���	�� �����	�8 ����
�
�� �	� ���%� ��
� 9��9���� 9��%
��� 
� 8
���� 	 !����9����

�����	��� 9������* ��� ��� 9������� !� ��� 	 ����������� �����	�8 ����
�
�� ���

��� ��� 
����
�� ��� ��	�	����
��
� �� ��� �89�����
� 9	�� �� ��� )�H �8����* ��

��� �C	�9�� @-*�-A�@-*�.A ��
� ��	��

cv(ã, t) + w(ã, t) = 0. @-*--A

&� ���
�� 	 ��
�	��� �����
�	� ������� !� ���:�� ������%�� �� ��� �����
����
��	�

)�H �8���� @-*�-A�@-*�.A� !
�� ϕ 9���
��8 ����
��	�* &�
� 
� 	 ���
�
��	�� !�	��8

�89�����
� �8���� !
�� 	 ��
< �	�9
�� ���� !��� σ 
� �	���* &� ��	�	���� ��	�
�
�8�

	 %��8 ��	�� �
�� ���9 ���� �� ���� ��� 	�8 �C9�
�
� �����
�	� ������� !�
�� !����

���	��8 
����	�� ��� ���9��	�
��	� ����* �� ��
� 9	9��� !� ��9��8 ��� !������%���9��


�9�
�
���C9�
�
� @���UA J�����D���	 ������� �� �%������ ��
� �
I����8*

H�� �� :��� ����
��� 	 �	��� G�� �8����

Ut = H(U) + S(U), @-*-6A

!�
�� �
��� ���� ���� ��� �
�����
�	�
�� �� ��� �9	�
	� ���
%	�
%�� �� 	 ���9��C

)�� 9������* H ������9���� �� ��� �89�����
� ����� !�
�� S @!�
�� 
� ��99����
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�� �� ��
<A ������9���� �� ��� �
<��
�� �� =	� 
� ��� �	��= ��	��
�� �����* &�
�

��	�� ��	� ����� 	�� �!� �
��
:�	���8 �
<����� �
�� ��	��� 
�%��%�� 
� @-*-6A* (

����	� 
�9�
�
� G�� ���%�� �	� ��	�	���� �����
�	� ��	�
�
�8* B�!�%��� 	� �	��

�
�� ���9� 	 ����
��	� 	�����	
� �8���� !
�� 	 �	��� ������ �� �����!�� @���� ��

���� ���9���A �	%� �� �� ���%�� !�
�� �	��� ����� ������� 
�	99�
�	���* &�� 
��	

�� ���U J�����D���	 
� �� ��� 	� �C9�
�
� ������ �� H 	�� 	� 
�9�
�
� ������

�� S* &�� �%��	�� ������ 
� ��
�� 
�9�
�
�* 5�� 
� ��
� �	�� ��� ������
�� ����
��	�

	�����	
� �8���� �	� �� �����9��� 
��� �	�8 ��	���� ����
��	� 	�����	
� �8�����*

&���� ��� �%��	�� ���9��	�
��	� ���� 
� 	���9�	���*

E�99��� ��	� Δt 
� ��� �
�� ���9 	�� ��� �����
�	� �����
�� 	� ��� n��� ���9 
� Un*

&�� ���U J�����D���	 	99��C
�	�
�� ��� ��� n+ 1��� ���9 
� ��	�
��� �8

U (i) = Un + Δt

i−1∑
j=1

ãijH(U (j)) + Δt

ν∑
j=1

aijS(U (j)); i = 1, · · · , ν, @-*-,A

Un+1 = Un + Δt
ν∑

i=1

w̃iH(U (i)) + Δt
ν∑

i=1

wiS(U (i)). @-*-
A

B���� ��� �	��
��� Ã = (ãij)� ãij = 0 ��� j ≥ i 	�� A = (aij) 	�� ν × ν �	��
�

���* Ã 	�� W̃ = (w̃i) ������9��� �� 	� �C9�
�
� J�����D���	 ������� !�
�� A 	��

W = (wi) ������9��� �� 	� 
�9�
�
� J�����D���	 ������* ��� �I�
���8 �� ���%
��

��� ����
��	� 	�����	
� �8���� ������9���
�� �� ��� 
�9�
�
� 9	��� 
� 
� �	���	� ��

����
��� �
	���	��8 
�9�
�
� J�����D���	 @��JDA ������� ��� ��� �	�9
�� �����


*�*� aij = 0 ��� j > i*

��� 	 ������������ �
�� 
�����	�
��� !� ��� ��� �����!
�� 
�9�
�
���C9�
�
� �
�9�
��

������

U (1) = Un +
Δt

2

(
H(Un) + S(U (1))

)
, @-*-.A

Un+1 = Un + Δt(H(U (1)) + S(U (1))). @-*-0A

&�� ��	��� 
� �������� �� K.1 $�L ��� ���� ���	
�� �� ���U J�����D���	 �������*

&�� )�H �8���� @-*�-A�@-*�.A ��� ����
��	� D� �'�	�
��� �	� �� !�
���� 	�

Qt = AQx + S(Q, x), @-*6�A
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!
�� Q = (u, v, w, p, q)T � 	��

A =

⎛
⎜⎜⎜⎜⎜⎜⎝

0 0 0 0 0

0 0 1 0 0

0 c2 0 0 0

0 0 1 0 0

0 c2 0 0 0

⎞
⎟⎟⎟⎟⎟⎟⎠
, S =

⎛
⎜⎜⎜⎜⎜⎜⎝

w

−σ(x)p

−ϕ(u, w, v)− σ(x)q

−(α(x) + σ(x))p

−(α(x) + σ(x))q

⎞
⎟⎟⎟⎟⎟⎟⎠
.

#
�� ���� �
�� Δx� ��� �9	�
	� %	�
	��� 
� �
�����
��� ��
�� 	 ������ ����� :�
���

%����� ������* #� 
�������� ��� ��
� 9�
��� 	�

xj = jΔx, xj+ 1
2

= xj +
1

2
Δx, j ∈ IN 0

	�� ��� ��� ��	��	�� ���	�
���

Qj = Q(xj , t), Q̄j =
1

Δx

∫ x
j+ 1

2

x
j− 1

2

Q(x, t)dx.

58 
�����	�
�� @-*6�A �%�� Ij = [xj− 1
2
, xj+ 1

2
] 	�� �
%
�
�� �8 Δx !� ���	
�

Q̄j,t =
1

Δx

(
AQ(xj+ 1

2
, t) − AQ(xj− 1

2
, t)

)
+

1

Δx

∫ x
j+1

2

x
j− 1

2

S(Q(x, t), x)dx.

#
��
� ������ ����� 	����	�8� ��� 	%��	�� �� ��� �	�9
�� ���� S(Q, x) �	� �� �	���

	�

1

Δx

∫ x
j+ 1

2

x
j− 1

2

S(Q(x, t), x)dx ≈

⎛
⎜⎜⎜⎜⎜⎜⎝

w̄j

−σj p̄j

−ϕ(ūj, w̄j, v̄j) − σj q̄j

−(αj + σj)p̄j

−(αj + σj)q̄j

⎞
⎟⎟⎟⎟⎟⎟⎠

= S(Q̄j, xj).

&�� ���	����� �� ��� �89�����
� 9	�� 
� �	���� ��	��	��* &�� �����
�	� ;�C 	� ���


�����	�� �� �!� ��
� ����� 
� ���	
��� �8 ���%
�� 	 J
��	�� 9������* &�� ���� 	��

�
��� %	���� 	� �	�� 
�����	�� 9�
�� 
� ���	
��� �8 	 �
��	� �����������
�� ���� ���

	%��	�� ���� %	����* E
��� !� 	�� ����8
�� ��������� �����
���� 	 ��
�	��� �
�
���

���� 	� ��� �
���� �
�
��� ������ �� ����*

�
�	��8� ��� ������
�� G�� �8���� 
� ���� ���%�� �8 @-*-.A�@-*-0A ��� ��� �
�� 
����

��	�
��* B
���� �
����
��	� 9������� �	� �� ���%�� 	�	�������8*
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) &"���
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����� .' ��������

#� ����
���

utt = uxx − u, x > 0, t > 0, @-*6/A

!
��

u0 = u1 ≡ 0, u(0, t) = sin(ωt), t > 0, @-*6�A

��� ���� :C�� ω > 0. &�� �����
�� �� @-*6/A�@-*6�A ������9���� �� 	� �%	�������

!	%� 
� ω < 1 	�� �� 	 ��	%��
�� !	%� 
� ω > 1* &�� ���9��	�
��	� ���	
� 
� ���

�� [0, 1]. &�� ���9 �
��� 	�� ������ ��	�� ������ @Δt = Δx = 0.0025A ���� ��	�

��� �
�����
�	�
�� ������ 	�� ����
�
��� ���9	��� �� ��� ������ ��� �� ��� (53* &��

��
������ �� ��� )�H ���� 
� 0.2 	�� ��� 	����9�
�� �����
�� 
� ������ 	�

σ(x) =

{
0, 0 ≤ x ≤ 1,

105(x− 1)3, x > 1.

 �! !� ��	�� ���9	�� ��� �C	�� �����
�� �� @-*6/A �� ��� �����
�� �� ��� ���
:��

)�H �8���� @-*/,A�@-*��A !
�� �����	�
�� 	� x = 1.2, 
*�* !
�� ��� ��	�	����
��
�

�����	�8 ����
�
�� @-*--A* ��� ��
� ���9	�
���� !� �	�� 	� >�C	��? ��������� �����
��

��� �����
�	� �����
�� �� @-*6/A ���9���� �� ��� �	��� �9	�
	� ���	
� [0, 10] !
��

��� �����	�8 ����
�
�� u(10) = 0. ��� �� ��� !	%� �9��� /� �����	�8 �<���� !
��

���8 	<��� u|[0,1] ��� t ≥ 19. �
���� -*� ���9	��� ��� L2(0, 1)������� ��� 0 ≤ t ≤ 10�

��� �
<����� ���
��� �� ��� 9�	�� ��
�� α* �� ���!� ��	� ��
�� 	 9��
�
%� 9�	�� ��
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0 2 4 6 8 10
0

0.002

0.004

0.006

0.008

0.01

0.012

0.014

Time

R
el

at
iv

e 
L 2 e

rro
r

α=0
α=1
α=5

0 2 4 6 8 10
0

0.5

1

1.5

2

2.5

3
x 10

−4

Time

Re
la

tiv
e 

L 2 e
rro

r

α=0
α=1
α=5

�
���� -*�1 1�� ��:
���� �
 $���� ���
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��	�� �� 	 ���� 	����	�� �����
�	� �����
��* 5��
���� 
� !� ���9	�� ��� �
��� 	��

���� 9����� !� ���
�� ��	� ��� )�H �����
'�� 8
���� ������ ������� ��� ��� ��	%��
��

!	%� @ω = 2A ��	� ��� ��� �%	������� !	%� @���
�� ��� �
<����� ��	���VA*

�� �
���� -*7 !� ��9
�� ��� 	99��C
�	�� �����
��� �� @-*6/A�@-*6�A !
�� ω = 2 ���

��� �!� �	��� α = 0 	�� α = 1� 	� �
<����� 9�
��� 
� �
��* �����
�� �� ��� ���	
�

@	A
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�
���� -*71 ;
#�����	 ��	
����� 
�� ω = 2 ���� ��&����� $���� ���
��� ��� t = 20< ��� t = 40< ���
t = 60< ��� t = 100�

[0, 1]� !� ���
�� ��	� ��� �����
��� 
� ��� �!� �	��� �	��� %��8 !���* �%�� 	� t = 100�

���8 	 �
��� �
<������ �	� �� �����%��* B�!�%��� �� ��� )�H ����� [1, 1.2]� ���

�����
�� !
�� 9�	�� ��
�� 
� ���� ��������* &�
� �<��� �� ��� 9�	�� ��
�� ��%
����8

��	�
�
��� ��� �����
�� !
�� ���9��� �� ��� �����	�
�� �� ��� )�H ����*
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* &"���
� *� ���-����������
 ����-'����� ��������

(� �
������� 
� E���
�� �� ��� 9�������� )�H ���
%	�
�� �	� �� ����
����� 	� ����

�
�� �� �
��	�
�	�
�� ��� ��� ��%���
�� �'�	�
��* &�
� 9���� ��� �����!
�� '����
��1

B�! 
� ��� 9������	��� �� ��� )�H �
��	�
�	�
�� ���9	��� �� ��� �
���� �
��	�
�	�
��

�� ����
��	� ����� 
� ��� �'�	�
��W &� ��
� ��� !� ����
��� ��� �����
����
��	�

�
��������� �'�	�
��

utt = uxx − sin u, x > 0, t > 0,

!
�� 
�
�
	� 	�� �����	�8 ����
�
��� @-*6�A* ( �
���� �
��	�
�	�
�� �� ��� ����
��	�

�	�9
�� ���� 	���� u ≡ 0 8
���� ��� �	�� ��%���
�� �'�	�
�� @-*6/A �� �C	�9��

/* &�� �%����
�� �� L2(0, 1)������ 
� �
���� -*- ���!� ��	� ��� )�H �
��	�
�	�
��
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�
���� -*-1 "�#$������ ������� 4)� 	������=����� ��� ������ 	������=������ ��
�� ω = 0.5�  �!���
ω = 2�

9������� ������ ��	� ��� �
���� �
��	�
�	�
��*

+
,
( &"���
� (�  ��������� �! ��� #��� ��������� �����-

���  ���������

�� ��
� ����� !� ���9	�� ��� )�H �
��	�
�	�
�� �����
'�� !
�� ��� ���	� 	�����
��

�����	�8 ����
�
��� 9��9���� �8 E������ K* L* 3���
��� ��� �����
����
��	� ����
��

�	� D� �'�	�
��

utt = uxx − ϕ(u, ut, ux).
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&�� 
�
�
	� �����
���

u0(x) = x3(2 − x)3χ[0,2], u1(x) = 3x2(2 − x)2(x− 1)χ[0,2], @-*67A

	�� ���9	���8 ��99����� 
� [0, 2]* ���� �
<����� �	�9
�� ����� !
�� �� ����
�����

3	�� (1 ϕ = utQ

3	�� 51 ϕ = u3Q

3	�� 31 ϕ = u+ u3Q

3	�� �1 ϕ = u2ut*

&�� ���9��	�
��	� 9	�	������ !��� ������ ��	�� ������ @Δx = 0.001 	�� Δt =

0.0005A ���� ��	� !� �	� 
����� ��� �
�����
�	�
�� �����* &�� 9�	�� ��
�� α 
� ��� ��

1* &�� >�C	�� �����
��? 
� �	��� 	� ��� �����
�	� �����
�� ���	
��� 
� 	� ���	����

���	
� [−10, 12] !
�� ��� �	�� ���9��	�
��	� 9	�	������* ��� �����
��
�� �� [0, 2] 	��

9������ 
� �
���� -*6* &� ��	���� ��� 	����	�8 �� ����� >�C	��? ��������� �����
���� !�

���9	��� ���� �� �����
��� ���	
��� !
�� 2Δx 	�� 2Δt1 &�
� 8
���� 	� 	������� L∞�

����� �� ��� ����� �� 10−8 @!
�� u0(1) = 1A* &���� ��� ���9���� ��������� �����
���

	�� ��I�
����8 	����	��*

�� ��
� �C	�9��� !� ��:�� ��� L2������ �����
�� 	� 
� E������ K* L �8

||u(t, ·) − uex(t, ·)||L2

||u0||L2 + ||u1||L2

.

�� ��� ���9��	�
��� !� ��� ��� ��
������ �� )�H ���� 	� 0.1 	� ���� ����* &��

	����9�
�� �����
�� 
� ��� �� ��

σ(x) =

⎧⎪⎨
⎪⎩

−106x3, x < 0,

0, 0 < x < 2,

106(x− 2)3, x > 2.

�
���� -*, ���9	��� ��� L2(0, 2)������ �� ��� (53� ���
%�� 
� K* L �	��� �� 9����

���
<�����
	� 	99��	�� 	�� ��	� �� ��� )�H �
��	�
�	�
�� �����
'�� ��� ��� 3	��

(* �� 
� ���	� ��	� ��� )�H �
��	�
�	�
�� 9������� ���� ���� 	����	�� �����
�	�

�����
��� ��	� ������*&�
� 
� �C9������ �
��� ��� �
��	� 9������� ��� �����
�� �� ���

���
:�� )�H �8���� !
����� �����	�
�� ��� )�H ���� 
� �C	���8 ��� �	�� 	� ���

�C	�� �����
��� 
� ��� ����
����� ��%��*
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@(A @5A

@3A @�A

�
���� -*61 0%��� ��	
����� �� [0, 2] 
�� ��� "���� 6>5�

��� 3	��� 5 	�� 3� ��� (53� ���
%�� �8 9	�	�
<�����
	� 	�� 9������
<�����
	�

�	������ 	�� ��� �	�� K* L* �
���� -*
 ���!� ��� ���9	�
��� ���!��� ��� )�H

�
��	�
�	�
���� �
���� �
��	�
�	�
��� ��� :��� 	�� ��� ������������ (53�* �� �
����

-*
�5� !� ���
�� ��	� ��� )�H �
��	�
�	�
�� 9������� 	 ������ 	99��C
�	�
��� �%��

���� ��� �
���� �
��	�
�	�
�� 	�� ��� :��������� (53� !�
�� 	�� 
����
�	� 
� ��
�

�	��� 	�� 	 ���9��
�
%� ��� !
�� ��� ������������ (53�* �
���� -*
�3 ���!� ��	�

��� )�H �
��	�
�	�
�� 9������� ��� ���� 	99��C
�	�
��� !
�� ���	�
%� ����� ���� ��	�
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�
���� -*
1 "�#$������ �
 ��� L2(0, 2)>����� ������� ��&����� 6."�� 
�� ��� "���� . �	�
�� ���
" ���!����

&�� 3	�� � 
� ���!� 
� �
���� -*. 
� !�
�� 	 ���9��
�
%� 	99��C
�	�
��� �	�

�� �����%�� ���!��� ��� )�H �
��	�
�	�
�� 	�� ��� :��������� (53 �	��� �� ���

9	�	�
<�����
	� 	99��	��* &�� ���� 9������	��� 
� ��	� �� ��� ������������ 9	�	�
��

������
	� (53* B�!�%��� �
���� -*/��� ���!� ��� 	�%	��	�� �� )�H �%�� ���� �
��

���9��	�
���* &�� �C	�� �����
��� ��� ���� �
�� 
� �	��� 	� ��� �����
�	� �����
���

���	
��� 
� 	 �	��� ���	
� [−55, 57]� !
�� ��� �	�� ���9 �
��� 	� ��	� 
� ��� �����

�
�� ���9��	�
���* &�� �C	�� �����
��� �� ��� 3	��� 5�3� 	�� � �����
���� �� [0, 2]

	�� 9������ 
� �
���� -*/��J
���* &�� ���� 9	�� �� �
���� -*/� ���!� ��� ���9	�
���
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�
���� -*.1 "�#$������ �
 ��� L2(0, 2)>����� ������� ��&����� 6."� 
�� "��� 5�

�� ��� L2(0, 2)������ �%�� ���� �
��*

(������ ���	��	��� 	�%	��	�� �� ��� )�H �
��	�
�	�
�� �%�� ��� ���	� (53� �
�� 
�

��� �	�8 �C����
�� �� ��� �
����
����
��	� 9�������� 	� ��� ��C� �C	�9�� ���!�*

+
,
+ &"���
� +� �#�-����������
 �"������ ����
��

3���
��� ��� �!���
����
��	� ����
��	� D� �'�	�
��

utt = uxx + uyy − u3,

!
�� 
�
�
	� ����
�
��

u0(x, y, 0) = 0, u1(x, y, 0) =

{
10, x2 + y2 < 3,

0, �����!
��.

&�� 9�8�
�	��8 
��������� ���	
� 
� [−2, 2]× [−2, 2] 	�� ��� ���9��	�
��	� ���	
�


�����
�� ��� )�H ���� 
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��	�� 	�9�
���� ;����	�
��� 
� 
� N���
:	��� �� �
��	�
�� ��� ����
��	� ����� �'�	�
���

@6*/A 	�� 	99��C
�	�� ��� ;����	�
�� 9	�� �8 ��� �����
�� �� ��� ������
�� �
��	�
���

����� �'�	�
���* ( �89
�	� �
I����8 
� 	99�8
�� ��� )�H ��� ��� 9	�	���� ;�! !���

���9	��� !
�� ��� ��
���� ;�! 
� �� �	�9 	�� ����� !	%�� !�
�� ��	%�� 
� ��� )�H

	�����
�� �	8���* #� !
�� ����8 ��
� 
���� 
� ��� �����!
��*

,
*
) /��!��� 0�#

H
��	�
�
�� ��� ����� �'�	�
��� !
�� 	 �����	�� ��	�� q0 = (ρ0, ρ0u0, ρ0v0, E0) 8
����

��� �����!
�� �89�����
� �8���� !
�� �����	�� ���I�
����

q̃t + Aq̃x +Bq̃y = 0, @6*-A
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!����

q̃ = q − q0, A = f ′(q0), B = g′(q0) @6*6A

	��

f ′(q) =

⎛
⎜⎜⎜⎝

0 1 0 0

−u2 + 1
2
(γ − 1)(u2 + v2) (3 − γ)u −(γ − 1)v γ − 1

−uv v u 0

u
[

1
2
(γ − 1)(u2 + v2) −H

]
H − (γ − 1)u2 −(γ − 1)uv γu

⎞
⎟⎟⎟⎠ ,

g′(q) =

⎛
⎜⎜⎜⎝

0 0 1 0

−uv v u 0

−v2 + 1
2
(γ − 1)(u2 + v2) −(γ − 1)u (3 − γ)v γ − 1

v
[

1
2
(γ − 1)(u2 + v2) −H

] −(γ − 1)uv H − (γ − 1)v2 γv

⎞
⎟⎟⎟⎠ .

B���� H = (E+ p)/ρ 
� ��� ����	�98* #� ���:�� �� ��� ������
� ;�!� 
*�*� u2
0 + v2

0 <

c20 = γp0

ρ0
* ��� ��� �
��	� �8���� @6*-A� ��� ��	��	�� ���	� 	�	�8�
� �	� �� 	99�
��*

E�99��� ��� ���	� �����
�� ���	%�� �
��

q̃ = Qest+λx+iky. @6*,A

B��� s !
�� 
(s) > 0 
� ��� %	�
	��� 
� ��� H	9�	�����	�������� �9	��� λ 
� ���

���9��C !	%� ������ 
� ��� x��
����
��� 	�� k ������9���� �� ��� ��	� !	%� ������


� ��� y��
����
��* Q 
� 	 %����� ��9���
�� �� s� λ 	�� k* E����
���
�� @6*,A 
���

�'�	�
�� @6*-A !� ���

(sI + λA+ ikB)q̃ = 0. @6*
A

�'�	�
�� @6*
A ��	�� ��	� ��� 	�8 :C�� s 	�� k� λ 
� 	 �����	�
��� �
���%	��� ��

�'�	�
�� @6*
A� 	�� q̃ 
� 	 ������9���
�� �
���%�����* ( �����
%
	� �����
�� �	� ��

���	
��� 
� λ �	�
�:�� ��� �����!
�� �
�9���
%� ���	�
��

det(sI + λA+ ikB) = 0, @6*.A

!�
�� �	� ����� �����
���

λ1 = −s + ikv0

u0
, @6*0A

λ− =
(s+ ikv0)u0 − c0

√
(s+ ikv0)2 + k2(c20 − u2

0)

c20 − u2
0

, @6*/�A

λ+ =
(s+ ikv0)u0 + c0

√
(s+ ikv0)2 + k2(c20 − u2

0)

c20 − u2
0

. @6*//A
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B���� λ− 	�� λ+ ������9��� �� ��� 	�����
� !	%�� 	�� λ1 �� ��� �����98 	�� ���

%���
�
�8 !	%�� �
����	������8* &�� �
����
�� �� ����� !	%�� ��9���� �� ��� �
��

�� ��� ��	� 9	�� �� ���
� ������9���
�� λ1 �������
�� 
� 9��
�
%� 	�� �
������
�� 
�

���	�
%�* &���� ��� 	�����
� !	%�� ������9���
�� �� λ− 	�� λ+ 	�!	8� ��%� �� ���

�
��� 	�� ��� ���� ��9	�	���8* �� u0 > 0� ��� �����98 	�� %���
�
�8 !	%�� 	�� �
����

��
��� 	�� 
� u0 < 0� ���8 	�� �������
��* ��� ���%��
����� ���� ��! �� !� !
�� �����

�� >��� �
�� �� ��� ��	� 9	�� �� λ? �
�9�8 	� >��� �
�� �� λ?*

&�� ������� �� ��� )�H �
�� 
� ���������
�� ��! !	%� �'�	�
��� �� !�
�� ��� ���	�

�����
��� ��� ���8 	�� ����
��	�
��� �� ����� �� ��� ��
�
�	� !	%� �'�	�
���� ��� 	���

���	8 �C9�����
	��8 �	���� 
� ���
� 9��9	�	�
�� �
����
��� 	� ��� �	�� �
��* &�
� 
�

���	��8 	����9�
���� !
�� ��� �����!
�� �����
�	�� ��	������	�
��

x −→ x′ = x+
f

λ

∫ x

x0

σ(z)dz, x ≥ x0,

!���� σ ≥ 0 
� �	���� ��� 	����9�
�� ���I�
���� 	�� f 
� 	 �	99
�� ���� λ �� ���

���9��C 9�	��* $���� ��
� ��	������	�
��� ��� ���	� �����
�� @6*,A 
� ��	���� ��

q̃ = Qest+λx′+iky = Qest+λx+ikye
f
� x

x0
σ(z)dz

. @6*/�A

G�%
����8� ��� 9�
�� �� �	�� ��
� ���
:�� ���	� �����
�� �	�9 �	���� ��	� @6*,A


� 
�� ��	%��
�� �
����
��� 
� �� ������ f �	� ��� �	�� �
�� �� λ* �����!
�� ��� 
��	

�� B	������ K��L� !� ���

f =

(
λ

s+ ikv0
− μ

)
s+ ikv0

s + ikv0 + α
, @6*/7A

!���� μ := u0

c20−u2
0
� 	�� α ≥ 0 
� �	���� ��� 9�	�� ��
�� 9	�	�����* f 
����� �	� ���

�	�� �
�� �� λ� 	� �	� �� %��
:�� �
�����8*

���� @6*/�A 	�� @6*/7A � !� �	%�

q̃x =

(
λ +

λσ

s+ ikv0 + α
− σμ

s+ ikv0

s+ ikv0 + α

)
q̃.

&��� �����

λq̃ =
s+ ikv0 + α

s+ ikv0 + α+ σ

(
q̃x + σμ

s+ ikv0

s+ ikv0 + α
q̃

)
.

E����
���
�� ��� 	��%� �C9����
�� �� λq̃ 
��� @6*
A !� ���

sq̃ +
s+ ikv0 + α

s+ ikv0 + α + σ
A

(
q̃x + σμ

s+ ikv0

s+ ikv0 + α
q̃

)
+ ikBq̃ = 0.
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��������
�� 	� 	�C
�
	�8 %����� �����
��

w = − 1

s+ ikv0 + α + σ
A (q̃x + (α + σ)μq̃) ,

	�� ��
�� �	�� �� ��� 9�8�
�	� �9	��� !� ���
%� ��� )�H �'�	�
��� ��� ��� �
��	�
���

����� �'�	�
��� @6*-A

q̃t + Aq̃x +Bq̃y + σμAq̃ + σw = 0, @6*/-A

wt + Aq̃x + v0wy + (α+ σ)μAq̃ + (α + σ)w = 0. @6*/6A

�� �	� ���� 9��%�� 
� (99��F �� 	��K*L ��	� ��� )�H �'�	�
��� @6*/-A�@6*/6A 	�� !����

9����* ��� �����	�� σ� (99��F �� 	�� K*L ���!�� ��	� ��� �9��
:� ���
�� �� μ = u0

c20−u2
0


� ������	�8 	�� ��I�
��� �� ��	�	���� ��� 	�8�9���
� ��	�
�
�8 �� @6*/-A�@6*/6A* &�
�


���� !	� 	��� ����
�� 
� B	������ K��L 	�� B� K+�L*

,
*
* ����

�
 0�#

�� �	�8 �	���� �
��	�
�	�
�� !
�� 	 �����
���� 9	�	���� ;�! q0 = (ρ0, ρ0u0, 0, E0) 
�

���� ��	���	���* &�� ������
�� �
��	�
��� ����� �'�	�
��� ��	�

q̃t + Aq̃x +Bq̃y +B∗q̃ = 0, @6*/,A

!���� q̃� A 	�� B 	�� �
%�� 	� 
� @6*6A* &�� �	��
C B∗ ��
�
�	��� ���� ��� �����
����

�
�8 �� ��� ;�! 
� ��� y��
����
��* #� �� ��� 
����� �� �
%� ��� �C9�
�
� �C9����
��

�� B∗� �
��� 
� 
� ��%�� ���� 
� ��� �	����	�
�	� 	�	�8�
� 	�� ��� �����
�	� ���9��

�	�
��*

&� 	�	�8�� @6*/,A� 
� 
� 	 ������ 9�	��
�� �� ��������	�� 
� !
�� ��� 9�
�
�
%� %	�
�

	���� 	�

rt + Crx +Dry + Er = 0, @6*/
A

!
�� r = (ρ̃, ũ, ṽ, p̃)T = (ρ− ρ0, u− u0, v, p− p0)
T 	��

C =

⎛
⎜⎜⎜⎜⎝

u0 ρ0 0 0

0 u0 0 1
ρ0

0 0 u0 0

0 γp0 0 u0

⎞
⎟⎟⎟⎟⎠ , D =

⎛
⎜⎜⎜⎜⎝

0 0 ρ0 0

0 0 0 0

0 0 0 1
ρ0

0 0 γp0 0

⎞
⎟⎟⎟⎟⎠ , E =

⎛
⎜⎜⎜⎝

0 0 ρ′0 0

0 0 u′0 0

0 0 0 0

0 0 0 0

⎞
⎟⎟⎟⎠ .

@6*/.A

$��
�� ��� �
��	� �'�	�
��� @6*-A !
�� �����	�� ���I�
����� ��� ���	� 	�	�8�
� ��

@6*/
A �	� ��� 
� �����	�� ���8 9�������� �����
�	��8* E
��� ��� �����
�	� ���9��

�	�
�� ���
�� �������8 �� ��� 9�8�
�	� �����	�8 ����
�
�� 
� ��� y��
����
��� !� �	%�
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�� ����
��� ��
� 
���� �	�� �8 �	��*

#� ���:�� ������%�� �� ��� y�9��
��
� ;�! !
�� 	 �����
���� %����
�8 (u0, 0)* &��

9��
�� 
� L* ρ0 	�� p0 	�� 	������ �����	��* �� ��
� �	��� 	 �
�9�� ����	�
�	�
��

�	� �� �	�� �� �
%� ρ0 = 1 	�� p0 = 1
γ
* #� 9������ ��	� ��
� ����	�
�	�
�� �	�

	���	�8 ���� ����*

H�� ��� ���	� �����
�� �� @6*/
A ��

r = est+λxφ, @6*/0A

!���� φ 
� 	 %����� �����
�� ��9���
�� �� s, λ 	�� ��� y������
�	��* E����
���
��

@6*/0A 
��� @6*/
A !� ���

(sI + λC + E +D∂y)φ = 0, @6*��A

!���� I 
� ��� 4 × 4 
����
�8 �	��
C* ��� 	�8 :C�� s !
�� 
s > 0� ����� 	�� 	�


�:�
�� ������ �� �����	�
��� �
���%	���� λ 	�� ������9���
�� �
��������
��� φ

�	�
��8
�� ��� 	��%� �'�	�
��* #� ���9��� ����� λ !���� �
��������
��� �	� ��

!����	99��C
�	��� !
�� ���� ��	� /�/ ����
�� �����*

&� �������	�� ��! �� �C���� ��� )�H �����
'�� �� ��� �����
���� ;�!� !� 9���

���� :��� ��� �����
�	� ���	� 	�	�8�
� ��� 	 ��
���� ��	� ��	�� !
�� u0 = 0.5�

�%�� ������ 
� �	� ���� 	�	�8��� 
� ��� �	�� �������
��* �
���� 6*� ���!� ��� �������

��� �
<����� %	���� �� s @!� ��� L = 2πA* H�� �� ���� 	� �
���� 6*���* &�� :���

���9��� ���!� 	�� 	��
��
��� �����	�
��� �
���%	���� λ* ��� 	 ���	� �
��
���
��� !�

�	%� �	���� ��� ���	�
%� 	�� 9��
�
%� �
���%	���� �8 ��� ��� 	�� ���� 9��� �8������

���9���
%��8* &���� λ ��	��8 �� ��� 
�	�
�	�8 	C
� ������9��� �� ��� ��	��	�� ��	%�

��
�� �
����
�	� !	%��* &�� 	�9�
����� ��� ��
� �	�� �� !	%�� 	�� �	���8 ��	����

�
��� ��� �	�9
�� ���I�
���� 	�� %��8 ��	��* G� ��� ����� �	��� ����� λ ���9��
��

	 �
�� 9	�	���� �� ��� ��	� 	C
� ������9��� �� ��� �%	������� !	%��* �� ��� 	�������

%	���� �� ��� ��	� 9	�� �� λ 
� �	���� ��� �%	������� !	%�� �	�9 �	�� 
� �9	��* ��

��� ������ ���9���� 	 ��	������	�
�� ���� λ �� λ
s

� �	��* E
��� s 
� 	����� 9����8


�	�
�	�8� ��
� ��	������	�
�� ��	��8 ���	��� ��� ���9��C 9�	�� �����!
�� !
�� π
2

	����* G�%
����8� ��� �
�� �� ���� λ 
� %	�
��� ��9��
	��8 ����� ������9���
�� �� ���

�%	������� !	%��* 5�� 	 �	����� �C	�
�	�
�� ���!� ��	� 
� !� ��
�� ��� ��
�
� �� ���

������ ���9��� �� 	 9�
�� �	
��8 ����� �� 2
3
� ���� 	�� ��� �
���%	���� !
�� �	
��	
�

���
� �
���*  ��
�� ��	�

2

3
=

0.5

1 − 0.52
=

u0

c20 − u2
0

= μ.
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�
���� 6*�1 *�����	�=�� ��!����	
�� 
�� ��� 
��
��# ���� :�� u0 = 0.5� ��� s = 10−12 + 0.1i< ���

s = 10−12 + i< ��� s = 10−12 + 10i� ,���� ���� λ� ������ ���� λ
s � 1���� ���� ��-��� ���
��
�� �
 ���

������� ���� ���� f =
(

λ
s − μ

)
s

s+α ���� α = 1�

E
�
�	� �����%	�
��� �	� �� �	��� ��� �
<����� s� ������� �
����� 6*��	� 6*���*

&�
� �
�� 9��9���8 ���� ��� ���� 
� �����	� ��� ��� 9	�	���� ;�!* �
���� 6*7�� ������

���	��� ��� ���9��	�
��	� ������� !��� u0 = M cos2(y/2)

1+sin2(y/2)
!
�� M = 0.5* &�� 9��
��

L 
� ��� �'�	� �� 2π* �� ��� ������ ���9���� 	�	
�� !� ��� ��� �
�� �� ���� λ 
� %	�
��*

5�� 
� ��
� �	��� 
� 
� 
�9���
��� �� :�� 	 �
�9�� ��
�� �� ��� ��
�
� �� �	
��	
� ���

�
��� 	� ��� ��
�� ���9��� ���!�* B�!�%��� �8 �C	�
�
�� ��� ������ ���9��� !�
��

���!� λ
s
� !� �	� :�� 	 �
�� 9��9���81 ������ ��� ��� ��� �8����� �	���� �� ��9	�

�	��� ���� ��� ���� 9��� �8����� !
�� 	 ���	
��� �
�� 9	�	���� �� ��� 
�	�
�	�8 	C
��


� ����� ��	� 	 ��
�	��� ���
'�� �
�� �	� ���:�� ��
� 9��9���� ��� 	��� �
���� 6*7�	

	�� 6*7�� ��� �
<����� s* &� ������
�� ��
� ���
'�� �
��� !� �	� �	�� �!� �������
%�

��	������	�
���1 :��� ��
�� ��� ��
�
� �� ���� 9�
�� μ� ���� ���	�� ��� ���9��C 9�	��
λ
s
− μ �8 	� 	99��9�
	�� 	����* G� ������� !� �� ��� �C9��� μ �� ���8 �� ��� ���
��

�� s* 5��
���� ��� ���	�
�� ��	������	�
�� ������ �� �	�8 �� �	����* E�
���	��� �8

��� !��� �� B	������ K��L 	�� B� K+�L� ��� ��� 9	�	���� ;�! !
�� �����	�� ����
�8�
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�
���� 6*71 *�����	�=�� ��!����	
�� 
�� ���
��
��# ���� :�� u0 = 0.5 cos2(y/2)
1+sin2(y/2)

� ��� s = 10−12 +
0.1i< ��� s = 10−12+i< ��� s = 10−12+10i� ,���� ���� λ� ������ ���� λ

s � 1���� ���� ��-��� ���
��
��

�
 ��� ������� ���� ���� f =
(

λ
s − μ

)
s

s+α ���� α = 1�

!� �	�� ��	������	�
�� 	�	������ �� @6*/7A 	�

λ −→ f =

(
λ

s
− μ

)
s

s+ α
, @6*�/A

!
��

μ =
um

c20 − u2
m

, um =
1

L

∫ L

0

u(y)dy, α =
2πc0
L

. @6*��A

&�� ������ ��! �� ���9���� 
� �
���� 6*7 ���!� ��� ������� 	���� ��	������	�
��* (��

��� �
���%	���� λ 
����� �	
��	
� ���
� �
��*

#� �	� 	��� ������ ��� �<��� �� ��
� 9�	�� ��
�� 9	�	����� α ��� ��� ��
���� ;�!*

&�� ������ ��! 
� �
���� 6*� ���!� ��� �������* #� ��� ��	� α �89
�	��8 
����	���

��� �	�9
�� �	��� �� ��� �%	������� !	%��� ������ 
� �	��
:��� ����� �� ��� ��	%���


�� !	%�� 	 �
����* &�
� 9	�	����� !	� :��� 
��������� 
� K$ L ��� ��������	����
�

9�������*

#� ������ ������� ��	� ������ ��� ���
�� �� μ 	�� α 
� @6*��A 
� %	�
� 
� �	�8

�	���� 
� ���� �C��9�
��	� �
��	�
��� !��� ��� 	�9�
���� �� s 
� ���	�
%��8 ��	��� !�

�� :�� ���� ��� �����
�	� ���9��	�
��� ��	� ��%��	� ��! �����	�
��� �
���%	����
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�
���� 6*-1 *�����	�=�� ��!����	
�� 
�� $���		�	 :�� u0 = 0.4 cos2(y/2)
1+sin2(y/2)

+ 0.5� s = 10−12 + 0.1i�

1�$� λ� ������� λ
s � 1����� f =

(
λ
s − μ

)
s

s+α ���� α = 1� .����#� ��-��� ���
��
�� �
 ��� �����
�
�$	���

�	���� �	
��	
� ���
� �
�� 	���� ��� ��	������	�
�� @6*�/A* E�� �
���� 6*- ��� 	�

�C	�9��* 5�� 
� ����� �
��	�
���� ��� ��	� 9	�� �� f 
� ��	��� !�
�� 
�9�
�� 	 ���!


����	�� �� 	�9�
���� 
� ��� )�H �	8���* E
��� ��� ��
������ �� ��� )�H �	8��� 
�

���	��8 �	�� ��	��� 	�� ��� ��	�	����
��
� �����	�8 ����
�
�� 
� ���� 	� ��� )�H

�����	�
��� 
� 
� ��	���	��� �� �C9��� 	 ��	�� ����� ���� ����� �C��9�
��	� !	%�

�����*

�� ��� 	��%� 	�	�8�
�� !� 	����� ��	� ��� 9	�	���� ;�! 
� 9��
��
� 
� y��
����
��

!
�� 9��
�� L* �� ��� ��	� 	99�
�	�
���� �
���� ��� ��� ������ ;�! �� ��� ��� �9��

;�!� ��
� 	����9�
�� 
� ����	���	���* �� ����� �	���� !� �	� ��
�� �	�� ��� ��	���

����	�
�� @6*�/A !
�� μ 	�� α ������
��� 
� @6*��A* 5�� ��� 9��
�� L ������ ��

��9�	��� !
�� ��� ��	�	����
��
� !	%� ������� !�
�� 
� ���	��8 	 9���������9������

9	�	������ 	�� �	� �� �� ������
��� �8 ��
	� 	�� �����*

(���� μ 	�� α 	�� ������
���� ��� 	������� �� ���
%
�� ��� )�H �'�	�
��� ��� ���

��
���� ;�! �	� �� �	�� 	�	�������8 ��� ��� 9	�	���� ;�!* #� ��
� ��
� �
�����
��*
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&�� :�	� )�H �'�	�
��� ������	��� !
�� ��� ������%	�
%� %	�
	���� ��	�

q̃t + Aq̃x +Bq̃y +B∗q̃ + σμAq̃ + σw = 0, @6*�7A

wt + Aq̃x + (α+ σ)w + (α + σ)μAq̃ = 0. @6*�-A

.�$ �01 �����
����
� ��� ��� 
�

�
��� ��
�� �,��"

���
�

�� ��� �	�� ����
��� !� �
������� ��� )�H ��� ��� �
��	�
��� ����� �'�	�
���* &��

��8 9�
�� 
� �� ������
�� ��� 9	�	������ μ 	�� α* J������� !�	� !� 	�� ��8
��

�� ���%� 
� ��� ����
��	� ����� �'�	�
���* �� !� 
��
�� �� ��
�� ��� �
��	�
��� �����

�'�	�
��� 
� ��� )�H 	�����
�� �	8���� !� �	%� �� ���%� 	 �
C����89� 9������1 ���

����
��	� ����� �'�	�
��� 
� ��� 9�8�
�	� ���	
� 	�� ��� �
��	�
��� ����� �'�	�
���


� ��� )�H 	�����
�� �	8���� ����
��� !
�� ��� 	��
:�
	� �����	�
��* �� ��
� �	���

��� 
�����	�� ����
�
�� 	� ��� 	��
:�
	� �����	�
�� �	� �� �� ����
����� �	������8*

���� ��� ���9��	�
��	� 9�
�� �� %
�!� ��
� 
� �����������* �� ��� �����!
��� !�

9������ 	 �
�9�� 
��	 �� ���%� ��
� 9������*

�
��� !� ����
��� ��� )�H �'�	�
��� @6*/-A�@6*/6A ��� ��� ��
���� ;�!* J�9�	�
��

q̃ !
�� q − q0 !� �	%�

qt + Aqx +Bqy + σμA(q − q0) + σw = 0, @6*�6A

wt + Aqx + v0wy + (α+ σ)μA(q − q0) + (α + σ)w = 0. @6*�,A

E
���

f(q) ≈ f(q0) + A(q − q0), g(q) ≈ g(q0) +B(q − q0)

!
��
� ��� :��� ����� 	����	�8� �8 ��9�	�
�� Aqx !
�� f(q)x� Bqy !
�� g(q)y 	��

A(q − q0) !
�� f(q) − f(q0)� !� ���
%� 	 :��� ����� 	99��C
�	�
�� �� ��� �'�	�
���

@6*�6A�@6*�,A

qt + f(q)x + g(q)y + σμ(f(q) − f(q0)) + σw = 0, @6*�
A

wt + f(q)x + v0wy + (α + σ)μ(f(q) − f(q0)) + (α + σ)w = 0. @6*�.A

�� !� �C���� ��� ��:�
�
�� �� σ �� ��� 9�8�
�	� ���	
� !
�� ����� 	�� ����
��� 	

9��:�� �� σ ��I�
����8 ������� ���� ��� �'�	�
��� @6*�
A�@6*�.A 	�� �	���	��8 ����

9	�
��� !
�� ��� ��
�
�	� ����
��	� ����� �'�	�
���* &��� ��� �'�	�
��� @6*�
A�@6*�.A

	�� %	�
� 
� ��� !���� ���9��	�
��	� ���	
�� 
�����
�� ���� ��� 9�8�
�	� ���	
�
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	�� ��� )�H 	�����
�� �	8���* 5��
���� 	� ��� )�H �'�	�
��� @6*/-A�@6*/6A 	�� ���

�
%�� ���� ��� �
��	�
��� ����� �'�	�
���� !�
�� 
����� 
� 	 :��� ����� 	99��C
�	�
��

�� ��� ����
��	� ����� �'�	�
���� ��� �����
�� �� ��� ����
��	� )�H �'�	�
��� @6*�
A�

@6*�.A ��
�� �����
���� �� ��� 9�8�
�	� ���	
� 
� 	 :��� ����� 	99��C
�	�
�� �� ���

��
�
�	� ����
��	� ����� �'�	�
��� @6*/A* &�� )�H �'�	�
��� @6*�7A�@6*�-A ��� ���

9	�	���� ;�! �	� �� ���
:�� 	�	�������8* &�� ������
�� ����
��	� )�H �'�	�
���

��	�

qt + f(q)x + g(q)y + σμ(f(q) − f(q0(∞, y, t))) + σw = 0, @6*�0A

wt + f(q)x + (α + σ)μ(f(q) − f(q0(∞, y, t))) + (α+ σ)w = 0. @6*7�A

&���� �'�	�
��� �	� �� �	��� 	� 	 �9��
	� �	�� �� @6*�
A�@6*�.A ��� v0 = 0* &��� 
�

���� �	���� ��� ����
��	� )�H �'�	�
��� �	� �� ������	��� 
� 	 ��
:�� ���� @6*�
A�

@6*�.A* &�� ���8 9�
�� �� ���9 
� �
�� 
� ��	� ��� ��	� ��	�� %	�
	��� q0 ������ ��

%	���� 	� 
�:�
�8 
� ��� ������� �
����
��*

��� �9�� ;�! 9�������� !� ������� ��� 9�8�
�	� ���	
� !
�� ��� )�H 	�����
��

�	8��� 
� ���� �!� �
����
���* ( ���	
������!	�� �C����
�� �� ��� ����
��	� )�H

�'�	�
��� @6*�
A�@6*�.A �� �!� �
����
��� 
�

qt + f(q)x + g(q)y + σxμx(f(q) − f(q∞))

+σyμy(g(q) − g(q∞)) + σxw1 + σyw2 = 0, @6*7/A

w1,t + f(q)x + v∞w1,y + (αx + σx)w1 + (αx + σx)μx(f(q) − f(q∞)) = 0, @6*7�A

w2,t + u∞w2,x + g(q)y + (αy + σy)w2 + (αy + σy)μy(g(q) − g(q∞)) = 0. @6*77A

B���� μx� αx 	�� μy� αy 	�� ������
��� �8 @6*��A 
� ��� x� 	�� y��
����
���� ���9���

�
%��8* $�������	���8� ��
� ����
���8 �	���	� ���	����� ��<��� ���� ���� ����	���

�	������!
�� !	%� ������ �%�� ��� ��� ��
���� ;�!* &�
� 
���	�
�
�8 �	� ���� ���
���


� K$L* �� �
���� 6*6� !� ���! ��� �	C
�	� ���!�� �	�� ���	
��� �8 ��� �����
�	�

���9��	�
�� �� 	�� !	%� ����� �� @6*7/A�@6*77A� !
�� ��� :C�� !	%� ������� kx

	�� ky* #� �	� ��� ��	� 	� ��� !	%� ������� 
����	��� ��� �	C
�	� ���!�� �	��

���!� �	9
��8* E
��� ��� 9��
�
%� ���!�� �	�� ���8 	99�	�� !��� ���� σx 	�� σy 	��

9��
�
%�� !� �������� ��	� ��
� 
���	�
�
�8 ���8 	99�	�� 	� ��� ������ ���
�� �� ���

)�H ���	
�* &�
� 
� %��
:�� �8 ��� �����
�	� ���9��	�
���� ��� �
���� 6*/�*

&� ��99���� ����� 
���	�
�
�
��� !� �
�9�8 	�� 	� 	��
:�
	� �	�9
�� ����

(αx + αy)
σxσy

σm
x + σm

y

(q − q∞)
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�
���� 6*61 )�%�#�	 !����� ������ ��� kx = ky = 10< ��� kx = ky = 40< ��� kx = ky = 80< ���
kx = ky = 100�

�� �'�	�
�� @6*7/A* B��� σm
x 	�� σ

m
y 	�� ��� �	C
�	� %	���� �� σx 	�� σy� ���9���
%��8*

&�� :�	� ����
��	� )�H �'�	�
��� ��� ��� �9�� ;�! 9������� 	�� ����

qt + f(q)x + g(q)y + σxμx(f(q) − f(q∞)) + σyμy(g(q) − g(q∞))

+σxw1 + σyw2 + (αx + αy)
σxσy

σm
x + σm

y

(q − q∞) = 0, @6*7-A

w1,t + f(q)x + v∞w1,y + (αx + σx)w1 + (αx + σx)μx(f(q) − f(q∞)) = 0, @6*76A

w2,t + u∞w2,x + g(q)y + (αy + σy)w2 + (αy + σy)μy(g(q) − g(q∞)) = 0. @6*7,A

G�� �����
�	� ����� ���! ��	� ��
� ���	����� !���� !���*
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��	�� ���%��* ���� ���	
�� �	� �� ����� 
� ��� ���� �� H�%�'�� K$�L* ���

��� ������ ����� !� �
�9�8 �	�� 
�� ���� 	%��	�� 	� ��� �����
�� %	��� �� ��� ����

	%��	�� ��	��� !�
�� ����� !
��
� ������ ����� 	����	�8*

&�� ������ ���9 �� ��� ��JD ������ ��'�
��� ���%
�� 	 �	��� G�� �8���� ������
��

���� ��� :��� ���9� �	8�

Ut = H(U) + S(U), @6*7
A

!���� H ����� ���� ��� �89�����
� 9	�� 	�� S ���� ��� ��
< ������ ����* U �������

��� %����� ���9���� �� 	�� ���� 	%��	��� �� q� w1 	�� w2* E�99��� Δt 
� ��� �
�� ���9

	�� ��� �����
�	� �����
�� 	� ��� n��� ���9 
� 	���	�8 ���	
��� 	� Un* &�� ���U

J�����D���	 	99��C
�	�
�� 	� ��� n + 1��� ���9 
� ��	�
��� �8

U i = Un + Δt

i−1∑
j=1

ãijH(U j) + Δt

ν∑
j=1

aijS(U j), i = 1, · · · , ν, @6*7.A

Un+1 = Un + Δt

ν∑
i=1

w̃iH(U i) + Δt

ν∑
i=1

wiS(U i). @6*70A

B���� ��� �	��
��� Ã = (ãij)� ãij = 0 ��� j ≥ i 	�� A = (aij) 	�� ν × ν �	�

��
���* Ã 	�� W̃ = (w̃i) ������9��� �� 	� �C9�
�
� J�����D���	 ������� !�
�� A
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	�� W = (wi) ������9��� �� 	� 
�9�
�
� J�����D���	 ������* &� �I�
����8 ���%�

��� ����
��	� 	�����	
� �8���� ������9���
�� �� ��� 
�9�
�
� 9	��� 
� 
� �	���	� ��

����
��� �
	���	��8 
�9�
�
� J�����D���	 @��JDA ������� ��� ��� ������ ����� 
*�*�

aij = 0 ��� j > i*

��� 	 ������ ����� 	99��C
�	�
��� !� ��� ��� �����!
�� �!����	�� ������

U1 = Un + χΔtS(U1), @6*-�A

U2 = Un + ΔtH(U1) + (1 − 2χ)ΔtS(U1) + χΔtS(U2), @6*-/A

Un+1 = Un +
1

2
Δt

(
H(U1) +H(U2) + S(U1) + S(U2)

)
, @6*-�A

!
�� χ = 1 −
√

2
2
* &�
� 
� 	��� 	� H���	��� &R� ������* &�� ��	���� 	�� �������� ��

K.1 $�L ��� ���� ���	
�*

 ��
�� ��	� !� ��
�� ���� �� ���%� 	� 	�����	
� �8���� !
�� 	 �	��� ������ �� ���

���!�� 
� @6*-�A �� @6*-/A* 5�� ���
�� ��� �	
%� 
�9�
�
� ������ ���� 	� ��� �	��!	��

������ ��
� �	��� 	�����	
� �8���� �	� �� �����9��� �� 	 ��� �� ��	�� 	�����	
� �8��

���� !
�� ���8 ��%��	� ��! �����!�� ���	��� �� �	�� �9��
:� ����* �� �	��� 
� ���

������ 	� ���� /� ���� 	%��	�� %	�
	���� 	�� 
�%��%�� 
� �	�� ��	�� 	�����	
� �8�����

	�� ��� ������ �	� �� ������� ������� �� - �8 ���� �	�
� �	������* ��� �C	�9���

��� �� ����
��� ��� 
�9�
�
� ���9 @6*-�A* G� 	 ���� ������� �8 �8���� X� !� �	%� ��

���%�

q1
∗ − q∗
χΔt

+ σx,∗μx(f(q1
∗) − f(q∞,∗)) + σy,∗μy(g(q

1
∗) − g(q∞,∗))

+σx,∗w1
1,∗ + σy,∗w1

2,∗ + (αx + αy)
σx,∗σy,∗
σm

x + σm
y

(q1
∗ − q∞) = 0, @6*-7A

w1
1,∗ − w1,∗
χΔt

+ (αx + σx,∗)w1
1,∗ + (αx + σx,∗)μx(f(q1

∗) − f(q∞,∗)) = 0, @6*--A

w1
2,∗ − w2,∗
χΔt

+ (αy + σy,∗)w1
2,∗ + (αy + σy,∗)μy(g(q

1
∗) − g(q∞,∗)) = 0. @6*-6A

B���� ��� ����
������ �� ���	�
���� !� ��
� ��� ���:C n ��� ��� :��� %	�
	���� q� w1

	�� w2* @6*-7A�@6*-6A 
� 	 ����
��	� 	�����	
� �8���� !
�� /� �����!��* ���� @6*--A

	�� @6*-6A� w1
1,∗ 	�� w

1
2,∗ �	� �� �C9������ !
�� q

1
∗ 	�

w1
1,∗ =

1

1 + χΔt(αx + σx,∗)

(
w1,∗ − χΔt(αx + σx,∗)μx(f(q1

∗) − f(q∞,∗))
)
, @6*-,A

w1
2,∗ =

1

1 + χΔt(αy + σy,∗)

(
w2,∗ − χΔt(αy + σy,∗)μy(g(q

1
∗) − g(q∞,∗))

)
. @6*-
A
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E����
���
�� @6*-,A 	�� @6*-
A 
��� @6*-7A !� ���

q1
∗

χΔt
+

σx,∗μx

1 + χΔt(αx + σx,∗)
(f(q1

∗) − f(q∞,∗)) +
σy,∗μy

1 + χΔt(αy + σy,∗)
(g(q1

∗) − g(q∞,∗))

=
q∗
χΔt

− σx,∗w1,∗
1 + χΔt(αx + σx,∗)

− σy,∗w2,∗
1 + χΔt(αy + σy,∗)

− (αx + αy)
σx,∗σy,∗
σm

x + σm
y

(q1
∗ − q∞).

@6*-.A

G��8 - �����!�� 	�� 
�%��%�� 
� @6*-.A� !�
�� �	� �� ���%�� !
��  �!��� 
���	�
���*

&� ������ 	 ����
����	� 2	���
	� 
� �	�� 
���	�
��� !� �	%� �� �	�� ������	
��� ��

��� 	�����
�� �����
��� σx 	�� σy* E�99��� cmax 
� ��� �	C
�	� ����� �9���* &���

	 ��I�
��� ����
�
�� ��� ����
����	� 2	���
	�� ����� ��

1

χΔt
≥ 2cmax(σ

m
x μx + σm

y μy).

E
��� cmax 
� �����!�� 
� ��� ���9��	�
�� !� ��9�	�� cmax !
�� ��� �	C
�	� c∞
	�� ���

σm
x = σm

y = σm =
1

2(μx + μy)χΔtmax c∞
. @6*-0A

#� ��
�� ���� �� ������
�� ��� 9��:�� �� ��� 	�����
�� �����
��� 	�� ��� ��
������

D �� ��� )�H ���	
� 	� �	�� 	��
:�
	� �����	�8* �� 9�
��
9��� ��� �
���� 
� D�

��� ������ 
� ��� 	99��C
�	�
��* 5�� ����
���
�� ��� ���9��	�
��	� ����� ����� ���

9������
�
�� �� 	����	�8� D ������ �� ������� 	� ��	�� 	� 9���
���* ���� @6*/�A

	�� @6*/7A� !� ��� ��	� �� ��� 
����%	� [x0, x0 +D]� ��� �	�9
�� �	��� ��� 	�� ���	�

�����
��� ��9���� 
� 	��
�
�� �� f � �� 	 ������ �	����
∫ x0+D

x0
σ(z)dz* �� !� ���

σ = σm

(
x− x0

D

)N

, x ∈ [x0, x0 +D],

���� ∫ x0+D

x0

σ(z)dz =
Dσm

N + 1
.

�����
�� ��� 	��%� '�	��
�8 �8 N0 	�� �������
�� @6*-0A� !� �	%�

D = [2(N + 1)N0(μx + μy)χmax c∞] Δt.

&�
� 
�9�
�� ��	� ��� 	 �9��
:� 9������� ��� ������ �� ��
� 9�
��� 
� ��� )�H

���	
� 
� 	�!	8� :C�� !
�� ��� 9��9���� ������* �� ��� ��	� 
�9������	�
��� ���

��� 	����	�8 ��'�
������� !� ���

D = max ([2(N + 1)N0(μx + μy)χmax c∞] , 10)Δt, @6*6�A
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!�
�� ��	�� 	� ��	�� /� ��
� 9�
��� 	�� ���� 
� ��� )�H 	�����
�� �	8���*

��� �	�8 ���������� !� �
�� ��� �	
� ���9� �� ���%
�� ��� ����
��	� �9�� ;�! 9�������

!
�� ��� �'�	�
��� @6*7-A�@6*7,A1

/* :C ��� 9�8�
�	� 9	�� �� ��� ���9��	�
��	� ���	
� �8 
�������
�� 	��
:�
	�

�����	�
��Q

�* 9�����
�� ��	���	��� ��	� ;�! 	� �	�� 	��
:�
	� �����	�8Q

7* ������
�� ��� ��	�	����
��
� !	%� ������� ���� α 	�� μ �8 �'�	�
�� @6*��AQ

-* ������
�� ��� �9	�
	� ���9 �
��� Δx 	��Δy� ���� Δt ����� ��� 3�H ������	
��Q

6* ������
�� σm !
�� �'�	�
�� @6*-0AQ

,* ������
�� ��� 9��:�� 9	�	�����N 	��N0 @7 	�� /6 ���� 
� ��� ���9��	�
���AQ


* ������
�� ��� !
��� �� ��� )�H ���	
� D �8 @6*6�A 	� �	�� 	��
:�
	� ������

	�8Q

.* ���%� ��� ����
��	� )�H �'�	�
��� @6*7-A�@6*7,A !
�� ��� ������ @6*-�A�@6*-�A*

G���� ;�! 9������� �	� �� ����
����� 	�	�������8*

.�. ��������
 �����

�� ��
� ����
��� !� 9������ �!� �����
�	� ������ ��	�
�� !
�� 	� �9�� ��
���� ;�!

	�� 	 ������ 9	�	���� ;�! ���9���
%��8*

,
,
) 1��� ���!��� 0�#

E�99��� ��	� ��� �	�� ��	�� 
� (ρ0, u0, v0, p0) !
�� ρ0 = 1 	�� p0 = 1
γ
* (� ��� 
�
�
	�

�
�� ��� 9������� :��� 
� ��� ��

p =
1

γ
+ Ae− ln(2)(x2+y2)/0.22

!
�� A = 1* &�� �9��
	� �	�� !
�� u0 = 0.5 	�� v0 = 0 �	� ���� ����
����� 
�

��� !��� �� B� K++L� 
� !�
�� ��� 9�8�
�	� ���	
� 
� ��� 	� [−1, 1] × [−1, 1] !
��

Δx = Δy = 0.02* 58 @6*��A� μx = 2
3
� μy = 0� 	�� αx = αy = 2π* &�� �
�� ���9


� Δt = 0.005 �	�
��8
�� ��� 3�H ������	
��* (�����
�� �� @6*-0A� σm ≈ 330.6� 	��
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���� @6*6�A� �!��%� ��
� 9�
��� 	�� ������ 
� ��� )�H ���	
�* &��� ��� ���9��	�

�
��	� ���	
� 
� [−1.24, 1.24] × [−1.24, 1.24]*

&� �%	��	�� ��� '�	�
�8 �� �����
�	� �����
���� !� �	�� ��� ��������� �����
��� 	�

����� ���9���� �� 	 �	��� ���	
� [−4, 4] × [−4, 4] !
�� ��� �	�� ���� �
��* &��

������ ��� �
<����� :��� %	�
	���� 	�� ��9
���� 
� �
���� 6*,* ��� ���9	�
���� !� 	���

9��� ��� ������ �� ��� �����
�	� �����
��� !
�� ��� ��	�	����
��
� �����	�8 ����
�

�
���* #� ��� ��	� ��� ���	�
%� L1 ������ @�C��9� ��� ��� v ���9����� �
��� v0 = 0A

	�� ���� ��	� �*6 9������ 
� ��� �
�� 
����%	� [0, 5]* &�� 9������	��� �� ��� )�H 
�

@	A
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�
���� 6*,1 "�#$������ ������� ��� 4)� 6." ��� ��� �������������� ��
����� ����������

?��
��# :��� u0 = 0.5( v0 = 0�
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���� ������ ��	� ��	� �� ��� ��	�	����
��
� �����	�8 ����
�
���* �
���� 6*
 ���!�

��� ���9���� 9������� :��� �� ��� ��
���� ;�! (u0, v0) = (0.5, 0) 	� t = 0.5, 1.0 	��

1.5* H
���� ��;���
��� 	�� �����%��*

#� 	��� ����
��� ��� ��
���� ;�! ��� !
�� 	� ���
'�� �
����
��� 
*�*� (u0, v0) =

(
√

2
4
,
√

2
4

)* �� ��
� �	��� μx = μy =
√

2
4−√

2
	�� σm ≈ 272.7* &!��%� ��
� 9�
��� 	�� ����


� ��� )�H ���	
�* &�� �����
�	� ������� 	�� ���!� 
� �
���� 6*. 	�� �
���� 6*0*

�� E���
�� 7 !� 	�	�8��� ��	� 
� �� 	��
�
��	� ���	����� 
� 9�������� 
� ��� ������

���	
�� ��� ����
��	� )�H �'�	�
��� 	�� ����	���* �� �
���� 6*/�� !� 
������	��

��� �����
�	� �����
�� 	� t = 2.8 !
����� ������ ���
:�	�
��* )�	�� ���� 
� ���

�������* (���� ��
� �
�� 9�
��� ��� ���9��	�
�� ���	�� ��!� 
����
	���8 �
��� ���

	����9�
�� �� ������
� ;�! 
� %
��	���* #� ������ ���	�� ��	� ��
� 
���	�
�
�8 �	��

��� �� ����%�� �8 �����
�� ��� �
�� ���9� !�
�� 
�9�
�� ��	� 
� ���� ��� ���� ����

��� 9��9���� �����
�	� ������*

�� �	��� 	���� 	 �
��
9	�
%� ���� 
� 	���� 
��� @6*-7A� ��� �����%�� 
���	�
�
�8 �
�	9�

9�	��� 	�� ���� �
�� ���9��	�
��� �	� �� �	��
�� ���* �
���� 6*// ���!� ��� �������

	� t = 100* �� �������8 �������� ��	� ��� �����
�	� �����
��� �����
���� �� ��� 9�8�
�	�

���	
� [−1, 1] × [−1, 1] ���%���� �� ��� �C	�� �����
��� 	� �
�� ���� �� 
�:�
�8*

,
,
* 2� ��� ����

�
 0�#

#� ����
��� 	 y�9��
��
� 9	�	���� ;�! !
��

ρ0 = 1, u0 = 0.5
sin2 πy

1 + cos2 πy
, v0 = 0, p0 =

1

γ
.

E
��� ��� 9��
�� 
� 1� !� �	� �
�
� ��
� 9������ 
� R× [0, 1]* (� ��� 
�
�
	� �
��� 	

�
�����	��� 
� 	���� �� ��� 9������� :���

p̃ = p− p0 = e− ln(2)(x2+(y−0.5)2)/0.12

.

&�
� �
�����	��� 
� !������99����� 
� [−1, 1]× [0, 1]* &��� !� �	�� 
� 	� ��� 9�8�
�	�

���	
�* ���� @6*��A� !� �	%� μ = 1
2
	�� α = 2π* #� ��� Δx = Δy = 0.01 	��

Δt = 0.0025* 58 @6*-0A� !� �	%� σm = 3155.6� 	�� �8 @6*6�A� !� ���! ��� ��
� 9�
���

	�� ������ 
� ��� x��
����
�� �� ��� )�H ���	
�* &�� ���9��	�
��	� ���	
� 
� ����

[−1.1, 1.1] × [0, 1]*

&�� �����
�	� ������ 	�� ��9
���� 
� �
���� 6*/�* &�� ���	�
%� ������ 	�� �89
�	��8

����! 0.5 9������* &�� 	�%	��	�� �� ��� )�H (53 �%�� ��� ��	�	����
��
� �����	�8

����
�
�� 
� ��%
���*
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&� �C	�
�� ��� ��	�
�
�8 9��9���8� !� ���9��� ��� �����
�� 	� �
�� t = 10 	��

t = 100* &�� ������� 	�� ���!� 
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